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Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁwm%ﬁfwmaﬁﬂmﬁﬁ%l
1, Medium Intelligence / HEIH §fe
2. No Intelligence / ﬁ%@@ :I%DI
3. Higher Intelligence / 3T Ej@
4, Lower Intelligence / qﬂ'@@

Correct Answer :-

« Lower Intelligence / HG @ﬁa

2) In child centred education, what the child has to learn should be / ﬁ'ﬁf—%ﬁﬁ ﬁl&l’l’ ﬁ, G|

B 5 Wia=n 91T, 98 AgER sie-r aeu:
1. Judged through activities Afafafer o Arend I
2. Judged by the scores of their test results/3-Tdh GRI&T URUTH] & 3fehl I

3. Judged according to the ability, interest, capacity and previous experience of the child CEKl

T, Bf, &ar 3R Usd eryd & SuR
4. Judged according to the previous experience of the child /A & fUsa Giﬂllﬁa? SR
Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child Kl

T, S, &mdr SR UBd SFYd & SuR

3) Child centred education typically involves: ) T fsa Rrem & mA IR W A= 2
glar g:

1. on the spot assessments/Jd 1 dip R Hlih
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2. 10 Assessments/@1g Tedich To!
3. more summative assessments/3{Uh ARTIHD Feich-]

4, more formative assessments /3T&d TATHD i

Correct Answer :-

« more formative assessments /3{{%d TAATHD Jedih

4) Which of the following are features of progressive education? / ﬁ'ﬁﬁf@ﬂ' ﬁ'@r aﬁﬂ-@ﬂ

Wit fRren @1 faaans §2

1. Instructions based solely on prescribed text books [Acer s M Ww TR TR
g &l

2. Flexibility on the topics that the student would like to learn/3 fd} TR =aT (Feifaafafereh)
i BT Hie T 98 d 5 |

3, Emphasis on lifelong learning and social skills/Sifa= T FTH 3R ATHTRE BN TR SR
Call

4, Emphasis on scoring good marks in examinations/TRI&T3N T 3w 3@ T TR SR &1

Correct Answer :-

« Emphasis on lifelong learning and social skills/STiae T ITTH 3R ITAISIE HIR TR SR
CEIl

5) Performance intelligence is measured by: / U §% &I 1 & gRT ATaT SITa %:
1. Verbal Ability/ TR &d

2. Comprehension / HHS]

3. Numerical Ability / TRATH® &HT

4. Picture Arrangement / I3 a1

Cdri;éct Answe"r :-

« Picture Arrangement / ferst sgawan

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U Il I THIAT & U H 30D AT A UG o AHdT1 g 1" Tg
HY forw fRigror fRrgia w smutla &

1. Instrumental conditioning / st;ﬂza GARIEE
2. Insight Classical conditioning/ 3/del® RRUTART UG (FTHRC AR e =)
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3, Trial and Error/ 90e1-3f¢ fafe
4. Classical Conditioning/ FRRUATNT UG e (TR da =)

Correct Answer :-

« Classical Conditioning/ RRUIITRT UG (Flitida dHa =)

7) The word ‘consistency’ is associated with: / ¥Teq “HATHTE” E'Hﬁ Taftra 3:
1, Personality / Hfgda

2. Attitude / FHIGIRI

3. Intelligence / g@'
4, Motivation / URUTT

Correct Answer :-

« Personality / fdda

8) The prejudice against a person on the basis of sex of that person is s wwﬁr%

R & YR R, 39 =afed & faaTw gatug (vamm) gargl
1. Gender stereotype / AR Tgeigdl (S8 TIRGCZY)

2. Gender bias / iTds NEHTd (SIS STZ43)

3. Gender identity / W1 UgaH (SIS 3R Sfadh)

4. Gender issue / TiRTeP T (STex H&T)

Correct Answer ;-

« Gender bias / AT HeHTd (GSX STS3)

9) The smallest bone i.c. stapes in the human body is in the car. /A9 YRR # qad

AT TN RIAPIHEAP gl 8l
1. Inner / 33
2. Middle / g &

3. None of these / E:Iﬁ q aﬁs‘ :IE?T

4, External / dlgX

Correct Answer :-

« Middle/ S #
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10) The last stage of psychosocial development is / HATATfo faeT @1 Sifew TRUr g -
1. Identity v/s. Confusion / Ugdl- d4TH YUH
2. Trust v/s. Mistrust / 9%/ S99 Sffagy

3. Generativity v/s. Stagnation / SGRd[ d-TH &&[d
4. Integrity v/s. Despair / 3RESAT ST A==

Correct Answer :-

« Integrity v/s. Despair / SRgEdr g9 AR

11) The study of same children over a period of time is known as study. / Uh

ﬁﬂﬂ’%ﬁﬂmaﬁmﬁr%mﬂmﬂﬁﬁ%maﬁ A & Y H S
a1 B

1. Longitudinal / 3G (@=Tclga)
2. Cross-sectional / IR G (ﬁum @EWFIT'T)

3. Latitudinal / 3T&2iT (@ctegsa)
4. Experimental /m

Correct Answer :-

» Longitudinal / ‘}ﬁ%""ﬁ EIRIEEEN)

12) Which of the following is a limitation of Eclectic counselling approach? / Fafeifaa i

F- weurRite Wt e RHv GEifdes Sreafn v S A g?

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

0 IRIR] EDH I &1 TATHD =T ! FHaRa HA & o sraftie S=ra wmRierdrsdt
DI gDl Bt 8 |

2. more flexible approach of counselling / RTARf o1 3ifiE gﬁw BECaL
3. more cost effective & practical approach / TTIPH YU 3R HTTGIND DI

4. more objective & coordinated approach of counselling / TR & 3T 8T 3R THfad

Eicau

Correct Answer :~-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

S RIRS DD B TS AR &1 FEEd B & [T i HRa WRERiardrsi
B} TS B B |
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13) Which of the following is the best way the teacher can guide children with special needs

in school education? / FFETIET & A S9-T1 a8 2 ord f R faered fRren &
o=y smazasarsit ard a= ®1 AnfeRe R gPd 82

1. Give higher challenging tasks / 31fid cigol T T
2. Give more tests / 3{e/@ TRI&UT &1
3. Providing support and tips / TN 3R BSEUE] G4l

4, Provide more homework /3{f&/& ‘jécblqr Ul hIAl

Correct Answer :-

« Providing support and tips / TgUNT 3R gid o

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / AT ® @ HI9 1 7R F Mg Earsi & USHHH § FEad $9 i
STARIH T FT UH IGTEIVT 82

1, Esteem needs / I &1 HIGhdd

2. Self-actualization needs / ATE-ITY P AT H AT

3. Safety needs / YX&I @I W

4. Love and belongingness needs / TR ud YU BT TG H A

Correct Answer :~

« Safety needs / GR&T &1 HTAIHANY

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? ;ﬁuﬁrliﬁaﬁﬁﬁﬂqwaﬁqﬁmmﬁﬂ, raraTd & HITH
W Afie B Bt BRI Hd T fFHar s

1. Naturalistic intelligence fﬂ@ﬁﬂﬁ@@
2. Spatial intelligence / EJIIBCY Ej@‘

3. Interpersonal intelligence / fddafaas Tg,’ffs‘“
4, Emotional intelligence / HTGHTHD Sl

Correct Answer :-

« Spatial intelligence / RJIIBE g@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / T T=i! B & Tl IR & ¢ U R Brardr 71 5w gedieror s
P IUANT foham 5T T8 82
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1. Variable ratio reinforcement schedule / AR S{JUId L CACR| W
2. Intermittent reinforcement schedule / TR ﬁ%ﬁﬂm w

3, Partial reinforcement schedule / 3{TTRI& WUT W

4, Fixed ratio reinforcement schedule / 2T S{HUTd WUT &W

Correct Answer :-

« Fixed ratio reinforcement schedule / 2T 3UTd eIl 3g!

17) One of the characteristic features of a Constructivist unit of study is that: / AT DI

TS YTATHBATAIE SHTS B T fa=ivar a8 § fF:

1. It starts with what children know as an effective departure point for the lessons. [ZhDI R[> 3T
39 Bid § [ 7= ure & fore U gt v foig & &9 o o ]

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STTd (C¥€)

3R Frgd &Rt (3RTgHC) BT I Had MY Wi T DI o1 Mpa A1 8l g |

3. It is propagated solely through teacher instruction. /4% I];Uf&:l: e & P & Tream
TR fohar ST & |

4. Asking questions is discouraged in the learning process. / Y4 Y-l 3T B Ufchar o
gdidTied PHRal gl

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /3P R[>3ATd

39 B § o 7= UTs 3 e U i TR g & U o S

18) Reading skills can be best developed by: / Yo+ DI BT 39 UhaT GRT AT 33T
e fawfRye fovan o Jear &:

1, Writing answers / 3R for& 1

2, Playing word games /doing quizzes / g T W/ faet e

3. Focusing on the use of words in the text / UG T Weq! & IUINT R A dbiad BT
4, Doing vocabulary exercises / ecTaa ST HAT

Correct Answer :-

« Focusing on the use of words in the text / Ulo T g o SUANT R & digd BT

19) Irrespective of the kind of impairment, all children are capable of: / [ el TSR BT

udar & arace, it = Fe A gem ea §:
1. Movement / EW’ief
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2. Hearing / g1
3. Learning / BSRCE]
4, Seeing / GRCE

Correct Answer :-

» Learning / BSIRCE]

20) What are inborn patterns of behavior that are biologically determined also called? /

AER & THWTT Ue ot siia-faqie & SER iy gid ¢, 3¢ ag Wi e 9 &:
1. 1d / Ug9H

2. Drives / §15d

3. Instincts / HgSl I

4, Intelligence / @@ﬂﬂ'{

Correct Answer :-

« Instincts / He 9l I

21) What are the symptoms of Post- traumatic stress disorder in children? [a=dl # uy-

3TYTd 919 fAPR (TR emfee ©H feuaiie) & s« g2

1. Avoiding places or people associated with the event./ YcHI | @%F—TFH’JIT SEIEEES

2. Having to think about or say something over and over. / dIR-dR <3 Ghtia':i qI 39 IR H

T

3. Not have an interest in other people at all. / tg{-N\I' e f&cgm Sk 6\I'-Il

4, Becoming annoyed with others./ gﬂii RIS BT

Correct Answer :-

« Avoiding places or people associated with the event./ YcHl q G\],%?—I'F'htﬂ SIIEEES!

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / 59 UPR 31 ﬁlm g U d pdl % & RemITde )
AR wan & &Y oft9 & wmeny & 9= 82

1. A deterministic theory / Teb fafddre Rigid
2. A social theory / Teh TSI Rigid
3. A nature theoryf@%ﬁﬁv' Rgid
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4. A nurture theory / Uch Ure-uyor Rigid

Correct Answer :~

« A nature theory / Th ﬂ'@ﬁiﬁ Rigid

23) What type of thinking is associated with creativity? / g ypR @1 fRiaq ?FFI'&’ﬂ?IT‘IT 3

Hafira giar g7
1. Convergent thinking / 3THER] Hidl
2, Divergent thinking / 3{cTi1 qa

3, Insightful thinking /3{Te(Y T (STARCH AT
4, Transductive thinking / IRAT® T (c gfdea fRifdm)

Correct Answer :-

« Divergent thinking / 3{TRT 9Id

24) Who introduced the theory of Universal Grammar in language development?/ HTHT

e A gfasda aR & Rigia @1 feam 92 fean
1. Piaget / 0TS

2. Vygotsky / ATt

3. Skinner / PR

4, Chomsky / EIERical

Correct Answer :~-

« Chomsky / BIEEsCdl

25) Intelligence is a product of both and environment./ WT, 3R

TYTaRoT G4 &1 T IS ¢
L Cultureiﬂ'@ﬁ"f

2. Community / JH&Id
3. Heredity/ 3{TJdfRIemdl

4, Society / JHINS

Correct Answer :-

« Heredity/ 3{TdRrehdl
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26) The Minnesota Paper Form Board test is a test which measures one’s

_ . THEiter TiR B 91 RIS, U U g o [t et S WIgan gl
1. Verbal Reasoning/ A& db

2. Aptitude/ 1T

3. Personality/ e

4, English Skills / 3{USTt IR

Correct Answer :-

« Aptitude/ TGl

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Th Eﬂﬁiﬁtﬁéﬂ'ﬁ" %mmqmﬁwmﬁ%
fere fafirs yomeht @) 10 B34 & fore FeTwaT 31 599 g1 v A Fufafea S #F
T STURRI RIS §H1?

1, Evaluation /H\Fqiav_"[

2. Convergent thinking / STURY fia
3. Divergent thinking / OYRT e

4. Learning / 3ffERTH

Correct Answer :~

« Divergent thinking / OUR] fdaH

28) Classical conditioning was developed by: / FATRIG A H-oIRI+1 (FeRufafa
WG o a1 WAt ey i & & frass g1 fawRya fora man :

1. Bandura /a?fv@w
2. Pavlov / UTddIg

3. Kohler / Ebﬂ??l?
4. Piaget /fET"JI'Iﬁ

Correct Answer :-

« Pavlov/ rgarg

29) Selecting specific stimuli through sensation is a characteristic of: / HagAT & HIHH A
ARy SEiua &1 aa7 &1 B1 sftraenr 2:

1. Attention / 3{d¥T+
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2. Critical thinking / T8+ fdd
3. Concept / SAYRTI

4, Perception / qry

Correct Answer :-

+ Perception / qry

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development?/mﬂgﬁm%ﬁ?\?ﬁw aﬂtﬁqg%a‘ﬂﬁﬁo—d’rwaﬁﬁw
%ﬁvﬁﬂgaﬁﬁwﬁm%qﬁ-mmwwﬁﬁm%mmmh
BT 82

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./

gwﬁwﬁﬁmﬁaﬁﬁwaﬁﬁzuﬁw%@@mﬁﬁaﬁm
|

2. A child dresses up as ‘fireman’ for a fancy-dress competition / Tt 3’\‘[ gfaaia & fow v
S BIRE & &0 H JOR g 8

3. A high mountain will be thought of as ‘old’/ U & Udd & YRTET HIET ST

4. A car which won'’t start will be described as being ‘tired’ or “ill’/ U SR oy = :I—bpf%*':ﬂ
SITUT Y YT §3HT T S HR' Sl Se|

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / Tt ?‘;ﬁ ufcaifiidar & fou e
o1 BRIREH % B0 § TR BT 81

Topic:- General English(L1GE)

1) Fill in the blanks with the correct option in the given sentence:

According to your advertise--, your guides are knowledge-- and experienced, but | found them to be
otherwise.

1, --ing ... —-d
2, --ly..--ing
3. --ment ...--ly

4, --ment ... --able

Correct Answer :-

s --ment ... --able
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2) Fill in the blank with the correct option in the given sentence:

A person who is an outgoing person is an extrovert and the opposite kind of person is an -- vert.
1. intro--

2. intra--

3. semi--

4, homo--

Correct Answer :-
* intro--

3) Choose an appropriate modal for the given sentence:

Why did you stay at a hotel in Mumbai? You ________ have stayed with your friend, Manish.
1. must

2. would

3. could

4, ought

Correct Answer :-

« could

4) Choose the most suitable pronoun for the given sentence:

The teacher asked, “Who has the box?” Jessica said, “L have __ ”.
1. she

2. he

3. us

4. it

Correct Answer :-

5) Choose the appropriate tense to fill in the blank in the given sentence:
Rudra a party this Saturday.
1. has been giving

2, was giving
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3. gave

4. is giving
Correct Answer :-
« 1is giving

6) Choose the appropriate conjunction for the given sentence.
I have been working all night, I feel tired.

1. Since

2. Whereas

3. Why

4, So that

Correct Answer :-
+ Since

7) Choose the appropriate antonym for the highlighted word in the given sentence.
Different methods are used to assess a gifted child.

1, inept

2. brilliant

3. accomplished

4. lazy

Correct Answer :-

8) Choose the appropriate determiners to fill in the blanks for the given sentence:
There are ____ mistakes in your composition. Please correct ___ of them and resubmit it.
1. any, some

2. much, any

3. some, all

4. few, any

Correct Answer :-

« some, all
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9) Choose the appropriate option that rewrites the given sentence in its passive voice.
People regard my parents as an ideal couple.

1. My parents are regarded as an ideal couple

2. My parents were regarded by the people as an ideal couple.

3. My parents is regarded by people as an ideal couple.

4. My parents are being regarded as an ideal couple by people.

Correct Answer :-

¢ My parents are regarded as an ideal couple

10) Choose the appropriate synonym for the highlighted word in the given sentence.
Professional athletes demonstrate a high level of skills.

1. prove

2. adapt

3. act

4, display

Correct Answer :-

« display

11) Choose the appropriate prepositions for the given sentence:

Cosmic rays can not only damage the front end
the ship and astronauts themselves.

a rapidly moving spaceship but also go

1, 0on..by
2, at ...into
3. for ... with

4, of ... through

Correct Answer :-
« of ... through

12) Choose the option that best explains the highlighted expression:
*‘Make it snappy, will you? I don't have all day’.

1. talk fast

2. snap a bite
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3. break into a run

4, end the matter quickly

Correct Answer :-

« end the matter quickly

13) Choose appropriate article for the given sentence:
Copper is _____ useful metal used for various purposes for ages.
1, no article

2. the

3. an

4, a

Correct Answer :-

14) Choose appropriate articles for the given sentence:

When ___ forest is cut down, there is nothing left to create or protect ___ soil.
1, the..a

2. the ... no article required

3.2..the

4, no article required ... the

Correct Answer :-

15) Which of the following options best combines the given sentences?
1 was five years. I live with my uncle.

1. Since I was five, I have lived with my uncle,

2. I was five when my uncle lived with me.

3. Ever since I was five, I have been living with my uncle.

4. I am living with my uncle when I was five years.

Correct Answer :-

« Ever since I was five, I have been living with my uncle.
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16) What changes, if any, should be made to the given sentence to make it active voice?
The winning home run was hit by the worst player on the team.

1. The winning home run had been hit by the worst player on the team.

2. The winning home run was hit by the team’s worst player.

3. The winning home run was hit by the worst player on the team.

4, The worst player on the team hit the winning home run.

Correct Answer :-
¢ The worst player on the team hit the winning home run.
17) Choose the right tag:

The students promised to repay the money within three months, ?

1. didn’t they
2. do they
3. do they not

4, did they not

Correct Answer :-
« didn’t they

18) Choose the right tag:

Don't get your feet wet, ?
1, do you

2. will you

3. aren't you

4. won't you

Correct Answer ;-

« will you

19) Choose the option that substitutes the given phrase appropriately
A very concentrated ray of light

1. Alightening

2, A laser
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3. A beam

4, A flame

Correct Answer :-

* Alaser

20) Choose the appropriate tenses to fill in the blanks in the given sentence:

How long you French?

1, have, been learning

2. was, learned

3. had, learning

4, are, have

Ctuar;'éct Answér -

« have, been learning

21) Choose the appropriate indirect speech sentence that corresponds to the given direct speech:
Mother said to me, ‘Be quiet! The baby is sleeping.’

1. Mother told me to keep quiet as the baby was sleeping.
2. Mother told me to keeping quiet as the baby is sleeping.
3. Mother told me keep quiet as the baby sleeps.

4, Mother said to me to keep quiet as the baby slept.

Correct Answer :-
« Mother told me to keep quiet as the baby was sleeping.

22) Read the sentence carefully and choose the option that has an error in it:

All his scheme to murder the king ended in smoke.
1. to murder the king

2. ended in smoke.

3, All his scheme

4, No error

Correct Answer :-
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« All his scheme

23) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond
doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

According to the passage, who accused the minister of wrong doing?
1. The confractors

2. The public

3. The courts

4, The opposition parties

Correct Answer :-

e The contractors

24) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond

doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.
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I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

What is the main theme of the passage?
1. Money making trends by forest officials
2, Money making tactics by politicians

3. Political rivalry among ministers

4. A minister's proven integrity

Correct Answer :-
« A minister's proven integrity
25) Read the passage carefully and answer the question given below:

Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond
doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

The main plea of the writer is that:

1. Ministers should be more careful in their dealings.

2. A minister is entitled to great assets.

3. People in high offices should be judged by higher standards.

4, The court judgment should be adequate enough to clear the minister's name and integrity.

Correct Answer :-

+ People in high offices should be judged by higher standards.

26) Read the passage carefully and answer the question given below:
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Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.

Can you infer the meaning of the slang word “dosh” in the passage?
1. Private transport

2. Warm clothing

3, Money

4, Physical energy

Correct Answer :~-

« Money

27) Read the passage carefully and answer the question given below:
Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.
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What is the main theme of the passage?

1, Rediscovering the lost art of conversation
2. Health foods in Briton

3. The economic downturn in Briton

4, Family life in the UK
T

s Family life in the UK

28) Read the passage carefully and answer the question given below:
Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.

According to the author, which one of the following is not one of the blessings of the economic gloom?
1, More of home cooked food

2. More love life

3. More family togetherness

4, Parents spending more time with children

Correct Answer :-

» More love life

29) Read the passage carefully and answer the question given below:
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Mr. Viswom is a man of exemplary character, impossible to reach at any price. Forests of great value are
secure under his ministerial supervision. Realty contractors imputed a shady role to the minister in the
Merchiston Estate episode. It was found to be without foundation and the minister was cleared by the
High Court in a powerful pronouncement. A perusal of the judgment confirming the favourable findings
of the Sessions Judge should normally be enough to liquidate all possible suspicions that were sought to be
created to malign his name. His character is the straight minister's great asset.

That is why I wish to emphasize that whatever be one's view about the minister's ideology or the general
reputation of the Forest Department, the inalienable integrity and credibility of Mr. Viswom are beyond
doubt.

This is my conviction, and is based on my relations with him and the clear inference available from the
judgment. I strongly feel that the public should abolish the libellous traces from his reputation.

I belong to no party and am critical of infirmity in government, whenever I observe any flaw. But truth
must be told. Everyone has a right to his reputation.

What is the tone of the passage?
1, Defensive

2, Recriminatory

3. Critical

4, Accusatory

Correct Answer :-

* Defensive

30) Read the passage carefully and answer the question given below:

Oh, what a lovely credit crunch, it is turning out to be! Or, so it seems.

For all the doom and gloom on the economic front (the breaking news is that it is going to get bleaker over
the coming months) many Britons, apparently, are simply loving it: home-cooking, which means healthy
food, is back in fashion; the mythically happy days when families ate together are here again with people
re-discovering the lost art of conversation; and with socializing reduced to the odd must-attend leaving
party parents are spending more “quality time” with their children.

An unintended effect of the economic crisis, we're told, has been the return of domestic bliss evoking
images of mum-and-dad-and-the kids all seated round the dining table, sharing the home-cooked meal
over a sparkling conversation and then retiring to the living room to watch the telly together or reading
aloud from their favourite book of the day.

Scenes like these (reminiscent of the classical happy American family in those old Hollywood movies -
“Honey I'm back! Missed you! Where are the kids?”) are reportedly becoming common place all over
Britain as lack of enough dosh is forcing more and more people to stay at home - and make the best of
their forced confinement.
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How will you classify the writing?
1, Pedantic

2. Scholarly

3. Explanatory

4, Tongue-in-cheek

Correct Answer :-
s Tongue-in-cheek

Topic:- General Hindi(L2GH)

1) Y ol 58 eiueT &t U U1 g F PRI F AKTPHR | 9 Th PR BT ATl AT WH-FRD
THIAFHR AT €, SU! B UG Fgd &1 HIY 3F & HRUT IR YT ST & I8 MPHa HIa1 § SR YT IqD!
TS | 916% 81 & U1 1Y g & FRUT & waeary & faen A gian) afd g &1 SR A9 ghm 3R 98
T WU % ST TH-g3HR g@ ugarn 7, @t wie g W) vg & e sror w1 A g o
TEY; FAHT R AT T A1fRT ¥ g O g1y ugerh | af w1 saifordt Rt T @ 77 % vwa geR w1y-
u‘hgaﬁﬁ"a’raﬁaﬁuqa{m; g 1T R S | Al BIE G e B e - D TR
FIU-TR Y 1 4l 98 d @I sgaey w5 B § gTY-IR disaara @ e

yg &1 fawy 3 =l A ITHT 31T @ - 3T ¥ § 3R 9w ¥ §| sRyren fwy 9% @ R it vaer
BRT AR 3Riva §f a1 sRiva 9y US| Ore fawy ag § o wae gRT g¥ T ar vakar o wear g &
TS U TBTSI d} b fopeTY &S T 311+ & araeiid ®ed °ot off 38 41 5o+ | i+ 2R B G818 1S US|
Ife 3 A IoHR YN, S a1 U8 W T 31fe &1 vaeT B ) 99 Tohd ¢ | vy & aren o1 3Ry e 3t
ey GRFRURY &t fathuar & aR dt €1 €1 8 R 95d 39 999 F upfa W o radifid WA 21 R F
SRV BT JH 1 W IFD! ifrardar &1 ey o=t faa=rar ar sigrrar it argyfa & R gar g1 afe ag

HfeATEal 3R SMufRrdl B g FIA & AW U1 WIEH F YT & SR B! 8, @t 9y wiva &)
ST @ 3R ST 81Y-Ula ) fod Uhd | TR Fe fod o1 a1 et sngdt g a Siedt svar ) 3w svar oft
T dl U B U g9 S I H O SITdl & 1 HY STd WU gl STl @ ‘dd Sl a1 Hiwdl segard g
SR U S T e &, faRve: gt ®)| a3 v 9t ST aven & Tw € IR F R Bt
G T &1 gPuT Bt ofivar @ gl e S 81 U9 9 usan @ % 9ga R SHE @ gel 7 7 31 BT3P0
o Yo ¢ | WIaT & Wi Sragdl # TR HeH @1 iTaadhdl 3R U Rifad o1 Sifawary wuT 81 2g &1
JTHAT FIA | YR BT AFHUrT T8) giar & e urHarer IiRe dist 761 9 gear oot sroet =ifds & grr
39 WeT ¥ Sra=it &1 BT fawary 7€) Iwar| g8 o 9gd R 97at B Hear g5 1 ofia= & SR 3R Rl #
it afirar feaTs &t 1 rferfy ¥ 4 @ 98 A A dait-weft e ki sraama @ g1y Y S1e, Wi
TR P v A 9gd A ufsd Tt rard A g A B

ST TR Y U@ A1 IS T U &7 I qa13a:
U Y9 &1 faug fa= wui & | amar g2

1. dR

2.3l

3. TP
4. dF

Correct Answer :-
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2) Tt ot g3 SITUGT FT UG U1 G S RO S HITHR | &l TP YPTR BT HTATYUT 37UaT WYH-FRD
TSR gar ¢, I BT Wa BEa 1 1Y g P BRI W THTE STaH & T 31pe Bar € 3T W Is!
u@ﬁwaﬁﬁﬁfﬁmaﬁﬂg@%ﬁwa?wm%ﬁmﬂﬁémlUﬁg@mwﬁmﬁnaﬁ?ﬂ?
| e f5 IW IH-gFHR @ Ugar g, afi iy g W w9 & e s 31 fAfde g st
TaY, mmwmm%wmmﬁqﬁﬁluﬁﬁémﬁnﬁmﬁﬁﬁ; " TR TTY-
ma%gamﬂ"eﬁaﬁaﬁuqam;wﬁmwaﬁﬁﬂﬁﬁﬁmwﬁﬁ?"wm-wﬁﬁ
FIYU-IR A1 3 Al 98 gia AR Sgad? Ha &5 "B § §14-IR digAara? 38 i

WY F1 g 3 T § A AT & - 3R U A R 9w v ¥ 3Ry fywy 9% @ e et waer
FRT (AT SRIYE Y 91 SRIYT el US| W1ed faw a8 & S wae g1 g¥ fan a1 yoan o waear g1 &
AW U UETSl Tel & b= 98 U1 3i1+ig | araiia Hd ga o ¢ &1 gad d A U B geTs S Ut
7fe 3 I TomT YFA, BU= a1 U8 W Te+ 31T BT UaeT &Y o) 99 THd § | [ vy & areg a1 ey g &
Yo oA ) faRtaar & ouR at g1l € § R 980 $© 79w &) uefa wR ot sradfad el 81 | &
PRI BT T 811 W I ifrardar o1 Freea sro-it fasrar ar sigmer 1 sgyfe & s ar 21 aft 9
Sy HfeTeal o 3mufrdl &Y g F & SR T W18 & AU S SR il 8, a9 TT Wiyd gt
ST 2 3R ISP B1Y-UTd 78 Re Apd | IR FS 3w &7 a1 et snadt uga af sied) Svar 7a) ok gvar ot
T FHT B U TUE & I A T 7T 21 HT S UG 61 1T 8 99 Bravar a1 Wedr dedrdr g
SR UTY gy =T wira €, faRtva: gl ®) & ot e 9t sqel dven & a9 8 IRl & e Bt
g% 381 21 goul 3 fear Y ot Figr 1?1 3w 9 usar & fp 98d R S @ G A 9 59 BT T
A TET B | Wi F YU Ayl B A% e B ATTRaHan AR =1 Rie T A=A Ve 81 =g T
HAAT B3 A U BT 3iFura o) gar & b uraren IR fer 78 W gdar aaft sroeht wifdw & grn
39 ST I St 3e o1 e 18 a1 a5 o) aga W are o Wivar g5 1 Sitas & 8k eMe amuRl |
oft Wfiwar fears &t 81 srder™ & wa | aga A ) it et ety srgama # g1y 181 1o, W
1 & 4T A 9gd A iREd FW-e i wreard A g 1w B

ST T FT UGHR 14 IS T WY HT IR Ia1ga:

WRA: $TOR1 ) [OR19 =0 F fHad g1 U Sy 7 s 82
1, i o

2. Tggei o

3. gou o

4, uferi

Correct Answer :-

. U Y

3) et amet g€ MU St YIAT 1 @ & PR & WIETDR A S T YHR BT ATATYO SUTT I H-PRS
THIRPR 81T 2, S B 4T Ha &1 1Y §& S PRI TR UHT STa & T TPl BT & 3R WY IHP!
g A 91T 81 & Y| 1Y 3T & SR P Weuay & {4 1€ gl afe 3@ &1 HRor S g 3R Uy
T T % ST -GS 3@ ugarn g, aft sy g R vy & e R o1 A g ot
TET; 3T R WIH T AT % g 1 g1+ Ugarit | afe ®1$ suifondt it a9 o7 i wa geR a1y-
Ui ge S A SR B 7 ST, WA ENIT| TR I | Al DI GERT T g b I SD-S P TN
FTY-IR dls ¢i" dl 95 gid I IGADR Do b "I & §14-UR dlsard? 3@ 1"

WG &1 fAug 31 T § E- 311 8 - 31 T H R 91 =0 #| eraen vy g 8 R 5 woer
TR AR 3RivT 8 a1 SiYd WY US| |1 fawy a8 § ot vae gRT g¥ T ar vokar o wear g &
TS U UETSI A1dt & fpaR 43 a1 3rie A aradia $ed 9d o1 38 &1 59 | A1 2R B G818 gATS US|
Ife q 1 IsHT UIA, f5U= a1 U8 WR T e &1 vae Y o) 99 Uhd ¢ | fava & |re a1 3sd g1 ot
wwﬁ%ﬁaﬂﬁﬁw%mﬁﬁ?ﬂﬁ%wmwnﬁwaﬂwﬁwmmﬁamﬁ%lm%
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PRI BT I 811 W @1 sifFrartar &1 gy sro=it fa=ren an siarrar ot srpyfa & sRu gl 81 gk a8
SYfa Sf3TEal iR Smufal B g8 A & AR UT TIEW & AU & SRUT gl §, aF A7 &ifha gt
STAT & SR Id §TY-UTd 7| fod AP | W Fg (4T ST a7 ATEHt 3MSH! Ugdt ot STegt SvaT el 3k et +t
B O U TR A TUIG B AN G ST 1 WG S TWHETE 8 Il § a9 SRR a1 Wedr e @
SR YT S WA Wi 7, fasiva: ywul #1 &t & ofiar @ 39t aven & aEE B IR F AR 3t
a5 61 81 goul @t e Y o e )<t 81 3w 9 usar & 6 959 R S @ 09Ul A 7 531 BT o @
o YT B 1 WedT & Yo 3raual § A% W 1 SaIRADhT ¥ (U1 Jfek BT TIRary wer g1 g &1
HHAT A A YA &1 Fwg a8t ghar & 6 wnearen IR dier et @8 aoar ash oo wifda & g
I WS Uit Y& T e &) Taar| U | aga W Are ®1 fear g5 Sftaq & SR sMe Rl #
ft oftrar fear &t 21 orfer™ ¥ wa @ 9ga | st seit-weft fhelt ety s A g1y 1€t ST, W
T & YT A 9gd 9 Ufsd HHi-w i ey | 48 R B |

IUYF T B TP D IS T U HT IR Ja1g3:
wL: fwg & wen a1 3T g9 1 YRon fRue! faRyar & e g 82
1. uRfRIfa

2. Udpid
3. fareUfd

4, 7gf

Correct Answer :-

4) Tt Sl g3 SMUGT FT HITT T GW & BRI F WATPR 9§ & TP TSR PT HTRT0! TN TH-FRP
TSR g1 8, S BT 4T T8 &1 B §T P PRI W YT STa & T 3THd HaT & iR Wa SHS!
UEY A 9Te 811 & RN | 1Y 3@ & SRl & TWeuay & foqr 7E) g)an afe g &1 oo A9+ g ik us
U SN % T TH-9316% g Ugardl &, aft iy g R v & R srur o1 e g st
T8, 3T WR WIH B A1feT B g A Bty w1 aft Y waifandt e e A +2 B v gl B1Y-
Ui ge IR A I I T TYT; WA SR UR ST A B GERT AR g b A P-4 F TR
FIYU-IR A1 & Al 98 gia IR Iga®R Bl [ "B § g1U-IR digHara? & "

ug &1 g S &0 § YA 141 € - 31 ©0 A R grey = 7| eRaren vy ag € Rrger vl woer
BRI (AR SRiYE 1 A1 3RIYT WU US| Wiey fawy a8 & S was gRT ¥ fam a1 yaan o1 e g1 @
TS U URTSl a1 & fFIR 90 91 i & ITadid $3a 9 off 3¢ ¥ 59 § T 2R B 3818 T8 0t
Tfg T ST IoHT U, ST I1 U8 R T 3N T vaeT B a) 99 Tohd & | fwy & aren o1 sy g1 3t
yon aRfRUf &) faRuar & surR at 8t 1 8 R 980 ° 79w @1 uofa W ot sadfid el 81 R F
PRI BT 511 W IT@! Sifrardar &1 =g ot faasmar ar sigrrar o sgyfa & R glar 81 9k a8
SFYfT PEZAY SR Uizl HY g FIA F AT T WEH F UTT S SRUT Bhell &, a4 T Wi gt
ST @ 3R I9P B1Y-UTT 71 f2d Upd | W FS 7 &7 a1 qre sneH ued d oot ST 781 N7 S3ar o
B T THT B U U@ b I A T 7T 21 HI ST MU 1 1T 8 99 Braar a1 Wedr deardl g
3R Ut Sy =T wiren 7, faRtva: gl ®)| & 3t e ot soet aven & wae € IR & weikes ot
g 6T &1 7ol Bt 1w Bt gt e gt ¥1 T o usar € f 9ga R 9HE | gl A 9 331 37 3@T
A YT ¢ | Va1 & WIS Sagdl B aa% e &1 Saxashdl 3R U= qfad o1 Sifa=ary wur 81 =g &1
AT B A HIA BT T I8 gYar & 6 wrmarer iR Wer =) | o aslt et =ifda & grn
I ST T Srweit 38 F1 e 7€ | gz o) 9ga W 9ra B fivar 21 Siaw & SR 9 sy §
aft frar femams it @1 ety ¥ v @ 9ga A A Fit-wft 5 sy srama & g1y 7 sTea, W
T &y A 9ga A ufsa Fu-waft wrard A g R €

ST T HY TSP 1 IR T 0 T IR q4153:
U=H: 989 91 ufed i wa & xmeard 3 off @Rid 82
1M F
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2. AU B &
3, fopelt @ =7t
4, REAEA &

Correct Answer :-

« WMAEASD

5) et et g€ smuer it wTaET A1 g F PRV F WTHR | S TP TBR BT TRV ST TY-PRS
TARER g Gﬁﬁmﬁ%%lﬁﬂwﬁwwmmﬁﬁ?m FRA1 ¢ 3R W IS
ugaﬁamﬁﬁﬂ?ﬁmﬁuw%m%w@ﬁ*ﬁmﬂﬁ@mmﬁg@wm%ﬁﬁmaﬁ?w
S ST 5 S WH-ggeR g Ugardn €, a9 HiU gl R 47 F g sRon 1 ffde g st
Tet; SAT WR AIGH §11 A1e¢ b goa an g1+ uganth) afe 1S saifad} st sar & &2 & v ger 514
Uiq ge S dt SN Wi T ST U4 g1 W S afe 915 guRT R o (5 'ou S-oe TR
BTY-UR TS 3T dl I8 id WIRT gD Bl {5 "Hi § §TY-UR dre-aral? & "

yg &1 fawa g = Ul & e o1t § - oy ©0 § ok It w0 #) orared faww ag @ et et waer
TR faRor sivE 81 a1 SYT WY US| Wi fauy 98 § S uael §RT &) fHar a1 YaRar 97 |ear 811 &t
TS U UETEl 741 & bR 48 a1 31+ig A aTaeiia $a 9a o ¢ U1 Tad A FHA I B <618 JATS US|
Ife d Gl ISR HITA, U= a1 U W e 31f &1 yae ®1 ol 99 Fbd | fAwg & |re a1 391 g1 31
yror gRFRfT 3 faivar & SR o it 81 & W 954 9 73w @1 Ul WX Hi sacfad W@l ¢l T &
HRUT BT FH 1 W IHD! frardar &1 formay o=t faa=ran an siemaar it srgyfa & &rRogar g1 afe ag
S BiETEal i Uil H1 g FA F I T WIgH & UTT B BRI Bl ¢, dF TS il gt
ST @ 3% 39S gTU-UTa 6| e e Iopd | W FS a0 o1 a1 gredt ncHt ugd ol sTect S¥ar =g 3iv Sar off
B Y U B 3 TG b IR W G ST ¥ W G WU 8 9Tl § a9 SR a1 Wear seardr @
SR YT S W W 7, fasiva: geul 71 5t & diear 91 S99t dven & THE 8 D! & aHAREE B
g T8 81 goul @t ofivar Bt gff Fiar g1 8 1 49 S usen @ % agd R SWE | gel A T 51 31 3PT
o T g1 et & Taiere faudl B ool e @ STaRaddl SiY Sl iR BT Sifazary yur 71 ;g 3
HHAT S A U BT ST g8 gar & 6 wrmraren iR fer 781 w8 goar aaft eroeit wife & gt
I Wi & Srusil 34 & faxar =) @) ag dt agd g Are 31 ftedr g3 Sita & SR sMe aaRl |
oft oftear fiewrs &t 81 rferf & ya @ aga A srrardt walt-wft fef fasdie sraama o gy =) srea, e
TR F 4T A 9gq 9§ ifea Wl rard  de w2

IU TR B YR A UD T WY BT IR qaisa:
TR: 959 $© A Pt Fuforiea 9w w of sadfya w2
1. Upfd

2, dIdTaRU]

6) ﬁﬂﬂa{ﬁ?maﬂ YIGHT 1 g & BROT & AIETPR A S TP YHR BT ATl AT W H-PRD

S B 49 FEd &1 HIY 3T S PRI TR THTE STe & RRIT ATpa BT & R Wg IqP!
U5 | 918X B & Y| Y g F FRUT & W uary F A 78 @an) af 3@ 1 s A9 g ik 9w
T SN % ST AH-gHH & Ugardl 8, axft Hiey g R 4g & forg sror o1 Afde g awst
TeY; ST WR Wi g1 AR 6 g am wif ugdh | afd w9 waifandt foseht o @ w7 5 wa gRR wiY-
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Uiq g SRR dt SN 1Y T TN, HY BRI | WX I 9 A P GOvT 3R Fe & " HP-3HP ToR
BTY-UR A1 SO ol 98 qid AN} Iga®: SN 1% &I § §14-1R disadara? ¢@ g

Y &1 fawy 3t =l A FTH 31T @ - 3R U ¥ R |y ¥ §| sRyren vy 98 ? Rrye et vaer
R AR sy g1 a1 SYT Ty US| e fawy a5 § S vae e g far ar YoRat & wwar g1l &t
TS U UETS! Td} & RFR 33 U1 319G | aTaed S 9 o 78 U1 3a | T 3N B 58T YT Ut
gfe 3 S SodR YA, fTA a1 U WR T 3 &1 e &3 o) 99 T ¢ | fIwg & are a1 3 g1 3t
yTRoT URfRUfa 1 fakivan & R o gl 81 @ W 950 $© 77w 3! yepfa W ot sracifad wdl 31 [ &
PRI PT I 311 W ST Sifrardar &1 Frgay sraft faa=mar ar sierwar Y sgyfa & FRU ST 81 9 a8
@Mﬁﬁaﬁgmﬁ%mmwm%mﬁwﬁ% A A Wi g

3R IUF g1Y-UTa e ewt Gpd | R &3 e o1 a1 aredt st ugd f Siedh swar 78} iz sar ot
B HHT Y U <19 & ITNT H @ STl 8 | U T WU &l o1l § 99 $raRar a1 Yiedr sedren g
3T U Y9 17T wira €, fagiaa: gl ® 1 & 9 ofiear ot S desn & auE &) IR & wAR 3
g TS & 1 goul Bt +fivar @t gt FHiar S 8 1 391 9 uSn @ % 959 R oW | geul A T84 3T SHT
A Yo 31 WaT & e Sagdl § %1 e @1 Maxadhdl 3R U= fad &1 Sifa=ary wer §1 =g &1
TIHAT FIA T YR BT g a8} gtar @ 6 uraren adiiRe diet 761 @ 9o ot st sifda & g
I T I St & T fazary T8 aar| ag o) aga W 91 B ofiear g5 oftas & 3R e amuRi &
ot ofiwar fears 3t 81 erdert™ & wa @ aga A sarurt duit-safi fanedt fadiy soawama A g1 =1€) S1e, W
TR ¥ 49 A 954 A ufed si-Ff sard A Je R €

IU T TR B UgHR H IS T WY &7 IR qa15a:
wzA: Wear & Taleie ragdl § T guT 82

1, §U & SR HT I AR FHaRor &1 yam

2. AR SR TS &1 Al

3. A FEA B Al 3R o1 Nfad o7 Hfa=ary
4, TeY 3R IR R BT

Correct Answer :-

. T GE B T DH T 3R 3T ifeid T 3ifagary

7) nggmﬁmmw%w%m&mﬁﬁﬁwmmmmﬁmw

Sl B T FEad &1 HIY g S PRI U UG ST & AT 3Tpal BT 8 3R WT IqP!
TE9 I STER 811 & oY1 91U g & RO & Weuaty & oo 78 gian1 ofe g &1 sror 39 g ok ag
AT ST {5 SEA AH-HR g@ g B, Tt iy g W 9y & R wRon a1 Fdee g s
TeY; ST W AIGH B T o g a1 if v AR i seifendt et ffaw @ 2 o v R T1Y-
Uiq ge S dt S9 I 7 TIT; HY gHIT| IR I | Al BIg goRT Ao g 6 "oel S-S o
awﬁwﬁg%‘ﬁ A1 I8 g3 W) TS P P "B & g1Y-IR disara? 3@

ug &1 favg gt Ul A JIH 31T @ - 3 U A R 9 T §| sRared fawy 95 § e et vae
R AR sRiva §) a1 SRivT Ty US| e fawy a8 § S waeT gRT g foar ar Yakar o |war 811 &
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Ife & SN IoHT U, U= a1 U8 W e i &1 vae &9 o) 99 Tbd & | fAwg & areg a1 3 ed 811 Y
yRoT URTRAfA #Y fasivar & AR df g1t €1 @ IR 98 $© 79w 31 wopfa W ot sraafaa Bt 81 =&
BRI PT A 81 W ST Sifrardar o1 foreay it frazrar ar sramar @Y srpyfa & sror g 81 afe a8
Sryfa efemsal ok smufral &Y g FeA & MW 1 WET & AU P BRI §idl &, 9 A% Tida gt
T § 37 SHF gTY-UTa 81 e Hapd | WR F faer o7 a1 Wiedt simewht ugd o sTedl Svar Ag1 o swar off
B O U TR 3 TUIG B IJENT H G ST 1 WG oG TWHTETE ) S0l § a9 SR a1 fear e @
3R YR Y 71T W 8, faRiva: goul F| & 3 i @) St aven & 9 € IR & AR B
5 38! ¢ 1 goul @t +iwar Bt g e 1 2 | A9 o v 8 b agd A o § Gl A 9 89 BT 3T
o YT ¢ | WIdT & S Sagdl § TR e &1 ATaadhdl SR 31U fad BT Sifa=ar yuT= 71 g &7
TIHAT B F U BT T 7€) grar & fp wrmarer iR der =81 9 goar aslt sroeit xifda & grr
:mtﬂmir Grﬂ?ﬂ?&ﬂﬂﬁﬂquﬁml uaa‘ragagmﬁmaﬂmwgﬁ Gﬂ'ﬂqﬂiaﬁ?aﬁ'ﬂ?mﬁ
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aff ofiwar fears 3t 81 srdeif™ & wg @ gga A arurdt salt-wft feh famiy coaama & gy w8t s1e, e
TR & YT 9gd § ufed sfi-w ot wrard S e wRid €1

IUY e TN BT UgHR 1 IS T WY &7 IR aa13a:
U: §79 © 5 gl ST HIY WA A 32

1. Iuded guft

2. $a 1A

3. ®Hdd ¥Y
4. Had 1

Correct Answer :-

- e Tt

8) &t et g€ MU &t WIaHT 1 G & HRUT & WIETHR F S TP YHR BT ATATYU 3Ual WH-PRS
TARER giar g, St & U9 $gd &1 1Y & & BRI IR YU STeH & 1Y 3MPpa oal § 3R ¥g Iaat
UET ¥ 18T B & Y| 1Y 3 & BRI & Weyary & 34 T8 glanl afd g &1 SRy A9 g iR 9g
T S fF I -G g9 Ug A1 7, T Y §I W WA F o wror o1 fFAfde g s
TEY; FAHT HR WIH T AT % g ar 1y uganit| afd #1 st it ok @ o7 % oa geR a1y-
Tid ge Sl dt S Wi T SHTET; W g1 W Sl afg $I5 guRT oo o % "oat S@-3fd gen
TTY-IR a3 At 98 gia W) Seaes Hew 6 @ie & g1y alsHara? 3 gl

YT F1 fAwg & Tuf & T 1T 8 - 3Ry U # R e v §1 sRe fawy 98 ? e fedt waet
R faRr 3Riva §) U1 JHT T US| Wil fAwy 98 § St waeT gRT g) far a1 YaRar 5 |war 811 &
TS U UBTE! T4} & pIR 48 IT Tig § aTaeiia $ea 9a o 78 &1 a9 & 9T IR B <818 AT US|
afg 3 Q1 IeBY YR, ST a1 U W T 31T BT Ua B3 ) 99 Toba o | v & |reg a1 31 g4 31
R a1t fiRivar & AR @ g1l € 8 W 98d $° 77w F1 upfa W ot sradfya el 81 | &
BRI PT I B W ST Sifrardan o1 ey =it fazrar ar siamar @ s/pyfa & $Ru g 21 afs 1
ST HIETIFAN ok SmuRRral &1 g¥ F37 F SV A1 W18 F U & HRUI §ieil 8, A AT WG g1
SITAT § 3R S9d grY-Uid 78] o Hepd | TR $s e &1 a7 wrgdt 3ngHt uga af sied! ST e oik svar +ft
B A FYT BT 30 TEG S IH H @ ST § | WY ST WU §1 S § q9 Bl a1 Wiedr peard g
3R Yt Sy urET o 8, faRiwa: el A &t 9 ofiea @) St aven & w9 §) W & wARe @t
a5 € 21 7ol @t ofear @ gl e g @1 T o uen @ % 9gd R oA | qoul A 7 51 31 3@T
A 75T B | WivaT & TUISd 3agal B o0 W B AIRIHal 3T U= RfaRT BT A= Wem §1 g 7
TIHAT B T HRTA BT STHUTT T grar & 6 wrraren iR der 781 g e aslt ot =ifda & gy
39 disT ¥ 3rusit Y& o7 fazare =€) Y@ | g o aga Qe °re 31 oftear g3 Sitaq & o sMw amuRl &
oft ofivar RRars St €1 erdfer™ & wa @ aga | st il fbed oy oo § g1y =161 S1erd, W
M % 4T A 9gq A tfed - Trard A de W B

ST TR BT UgH 12 YD 7T WY ST I 9a15a:
W: U S TGHTET 81 STaT @ 79 T Heerdl 82
1, W 3R ST

2. IR A1 Wi

3. freva iR Faffesar

4, T 3R HHUI

Correct Answer :-

« Bl a1 Wiedr
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9) Tput et g% 3MUQT Bt UITAT 1 G & PRI & WIATPR | Sl §F TSR BT ARGV YT TH-PRD
TSR gia1 8, S B YT Fed &1 HIY §W P BRI TR WHIG ST & T ATHd Hal 8 3R U TP
UEd | 18T 81 & U1 H1Y g0 & SR & WUy & {31 781 gia1 9ie g9 &1 $R1 A9 g1 iR 98
AT ST 5 ST TH-9316% g Ugardl &, avft 1Y g R wa & R srur &1 e g o=t
T81; ST WX AIGH 5141 A110¢ fob @ AT Bif Uit | afe HIS waifaul! fobedt TR & o & "o gren a1Y-
tr‘“rq'gmiﬁ"a’raﬁaﬁﬂaerrw; U BT TR S | R B R AR TR 5 S@-AD TR
FIY-R A1 & |l 98 gid AR TgamR e & i § §1U-IR digAard? 3@ "

WY FT g 3 T § AR AT & - 3R w0 A 3R 9red v §| 3Rired vy 98 @ oy fadt waer
TRT (AT SRIYE B A1 SRS W US| W1ed fawy 98 § S wae g g¥ AT an Yo & waear g1 &
S U UBTSl 14 & fPR 43 U1 31Fig & aTadid Ha 9 off 3¢ &1 §a1 § THA 3R B G818 A1t
Tfe 3 G Iobx UM, 57 a1 U TR e 3T &1 vaeT &3 ) 99 T o | faw & wre o1 3yed 811 3t
RO R &t fahaar & SR df gt € § IR 9g8d 70 099 & wepia W off safda w1 A &
HRU BT FH 81 W Iu! ifardar &1 ey sra-t faa=rer ar sigrar 3t sgyfa & srRu gl g1 aft a8
Y BiETEAT iR SR} B ¥ FR S ST 91 Wi B AU & SR Blal 8, df AFed wid gl
T B 3R 3P B1Y-UTq 781 Re IPpd | WR H3 @ &1 a1 argdt aneft uga af sied! Sar 78} ok svar oft
T FHS B U TG S I A T 76T g1 HY ST UGS 81 1T § 99 BraRan a1 Wiear dedr g
3R YR S WY e 8, fasiva: ool §1 &t @) ofiear d SAst dven & TaH 8 D! S AR 31
a5 W61 81 goul @t v oY ot e €<t B 1 ¥um i vsar & b agd e S A g3l A 7 S%9 BT o
A YT B | WIaT & WSS Sagdl | TR e &1 Sa=adhdl IR U= Jfad BT Sifa=ary o g1 =g &7
HIHET S § U BT AT 78} gar @ & wrrdaren ardiRe dist =81 we gear aoft sro-ht wifda & grr
I T I St 38 o1 farzar 18l a1 ag o) aga Wt g @t e g5 Sitas & 8iR 3M® @Rl §
ot Wiear s 30 21 arferf™ & wa @ vga 9 s} it fbadi fasiy saaama 9 g1y =181 s1ed, W
TP W7 A 959 A 1T F-F W Tl A de /e B

IR TR &Y USRI T WY BT IR qa1sa:

WRH: G A% U UgTS! A3} & fFT & a7 3i+ig & o1 v ST 78 A2
1. STl

2, BIYIUTS

3. 989

4, dq=id

Correct Answer :-

10) &t adl g5 SMuer &Y YIS A1 G F FRU & WIHTHR | Wl TP YHR BT ATATY0 34aT F-
FRE HANIBR TAT 8, SU BT YT BEd 81 1Y W F PRI W YUTT STAH & (T MFA Hell § 3R W
IS Ugd | 18X 81 & [e¢ | HIY 3@ & FRU & WEUary F o= =8 gan afg g@ &1 SR 99+ grm
3R 95 THST WG % I TH-ggdr g ugamn g, @it wiy g W v & foe eror o1 fAfdse g
SN Y SO WX AIGH BT AT s g A g gt afg ®ig wifadt fel AR @ o7 5 e
TN B1Y-UTE g SR af I HIY T ST 4T 11 0% S0 A IR PIE goRT SR e & o gD-
3HS TR §14-TR d1s &0 At 95 T AR} TGP Fol 6 "HI & g1y-IR digara? 3@

U P w3 =ul # e 31T § - o ey ¥ § SR 9redy ¥ #| rured vy 9w § e 5 wae
TRT AR 3RivE g a1 SRivg Wy US| W fawy a8 & i vaeT gRT g7 T ar vekar o wear g &
TS U UgTSI Fdt & fhaR 93 a1 3riie W drasiid $3d ad o1 38 &1 59 & A 2R B G818 1S US|
Ifg q Y IS U, B a1 U8 W e 3fS &1 vaed HY o 99 Fbd &1 fwg F arer a1 3 g1 3
Yo R 3t faraar & SR df gidl 81 § IR 98d $© 996 & WP W) W sacifaa gl 81 | &
FROI BT I 81 R IAP! ifrardar &1 Frzeg sroeit faa=mar ar sigmean 3t s/yfa & srRor a1 81 7t g
Syfa wfdTeal iR smufRral &Y g FA & AW T W1e & UG &S HRUT §Id1 7, 9 A wida g
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1T @ 3R IUSP BTU-UTa 78] fee gopd | W %S e o1 a7 |resdt engwt ugd df sied! sar =18 3k s=ar off
T THA DY U T & IS H T ST g1 HI S U 81 1T @ 99 BraRan a1 Wiedr dedr g
3R Y 9 71T e &, faRiva: gl 7| ot 3 v &) St aven & wa € IS & AR B7
g BT 71 goul @t ofiear B @ e 1 ¥ 1 T o Usn @ 6 agd WA S | goul A 7S 1 ST
A YT 3| YIaT & WO Sragal B TR e $1 aadhdl 3R U= Rifat BT Sifa=ary wur 71 =g &1
T B3 § U 7 AT 78} 2tar @ 6 wrearen IR dier =78 we goa oot sreit wida & gwr
39 et § Uit &1 &1 faary e} Waar| g8 af 9gd R+ 91at 31 fear g5 1 ofia= & 3R 3M® Rl &
it ofiwar oS &t 81 erdert™ & wa @ wga A st duit-safi fedt fasy sraama # g1 =€) 1o, wea
T F 4 A 9gq A ifed sl-F ol arard A de R 8

IUeT TN &Y USHR A IS T WY BT IR qa1sa:

UL Y fFad RO R THTT ST & e sgpa wear 82
1.q8 &

2. g9 &

3. Riars

4, qifd &

Correct Answer :~-

11) Tt et g5 SMueT Bt YIS A1 & F BRI & WHTHR & I TP YHR BT ATATYU QT FH-
RS FNASR g1 ¢, I B 4T $TA &1 H1Y @ P SR W UHIE STe F AT arper e € 3R v
ITD! U5T | 98% B & U1 91U g9 & SRU & WEuaYy & & 1€ gian afe g %1 SR 39 g
3R U8 WU W fF SH AF-gHR g Ugaral g, aut iy g1 W Wa & e srur &1 A g
SR TAEY; T WR AIGH §1T AT b g A g uganhtl afg #is saifadt fewl AR @ 7 5 e
TN B1Y-UTa g S |t I/ S 7 AT, HY 1 R S A i} B G AR e 5w -
P TR B1Y-T a1 ¢ A 98 T AR Sea®T BTl (% P § gry-UR dig-ara? & i

yq &1 faug &t =l # FE 3ITeT § - 3 w0 A Y 9rem w9 §1 3w fawg 9% § Rraer et vaet
R fFaRor sRivaE §) a1 SRivg WY US| e fawy a8 § o waer gRT R foar ar Yaar o awar 811 &
T U UETS! 1dl & P 93 a1 3reig & areriie a9 1 38 41 g4 A T 2R Pl Egrs A1 v
Tfg A I Iod UITA, BUA a1 U W Te 31T BT Ua oY ) 99 THd ¢ | fIvy & |1 a1 ey g1 &)
RoT TRFRUFT 31 faivar & Sgar a1 €1 1 § W 980 $9 77w 91 uopfa | off sraafad Wt 31 | &
TR T B TR IS Hariar &1 fF=aa ot faa=rar an sigraar 3t sryfa & FRv gl 81 afe a8

HISTEAT 3R MU BT gR FIA & AW A1 AW & AU F SR gL 8, O A WiHa gt
STl & 3R D gIU-UTd 48] fed Hpd| IR S e o1 a7 Argdt gt uga ol sied) ST g SR svar oft
R < U B 39 TG S TN H G AT ¥ WG oG TWHIEIG 8 Il § a9 SRR a1 fear seard &
SR U 9 AT Wi &, fasu: gel ®1 R @Y fiear @ S deen & g9 € Rt F wRe Bt
g 381 &1 goul @t fiwdr Bt g e S 2 | AT oI Ul & b agd R S | Goul A 9 899 BT ST
o T g1 e & Taiere sfaudl B 0% g B STazaddr SiiY o Wi o1 sifazary war 71 g &
AT 3 | U &7 AR 78 gtar @ 6 urmmarer s dier 8 we woar @oft sioeit wifda & g
I W1 ¥ Uit & &7 fazar 7€) Taar| I o agd QR e 31 fRedr g5 Sita & SR 8w Rl |
ot ofiwar femrs 3t 81 ordfEif & wg @ wga A arurdt selt-wft fredt sty soaama & gy =8t S1e, R
TR & 4T Y 9ga § ufSa dt-w i erd S gg wia €

Iu e TN B UgHR A IS T U BT IR aaisd:
USH: 1Y g & SR P fow Y & fo=1 781 gl 2
1. Afo® argg

2. AT g
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3. foen-gfs
4, EUSY

Correct Answer :-

. TEUEY

12) &t ot g5 Smuer Bt WIS A1 @ F PRI & WETHR | W T YHR BT ATATYU 374aT FiH-
RS TNASR gl 8, I B T $TA &1 H1Y & P BRI W THIE STe F AT arper Ham € 3R v
ITD! Ugd | EY I & T 1Y 3@ & SR & WEYary & {371 7187 ghanl afe g ST HRor a1 g
3R U8 WU WG fF SHA AF-gaR g gl g, 9l iy g W Wa & fore o &1 A g
St 7EY; S WR AT BT AT fk gRa ar w1 gl afe @ waifandt faselt AR @ 5% fF wa
TR T1Y-UTd g SR df I WY T SATGT; 4T Th1T1 UX S | A PIS g 31N Be & e SgD-
AP TR B1Y- g & d) 98 TR TR Tead? He (% i & gry-TR diean? 3a g

yg &1 fawa gt =ul d 9rae 31 § - oRe ¥U § ok ' U §| oRared fawy a5 § e et wae
R faRr sRivaE 8 a1 SRiHT WY US| Wi fawy a8 § o waet gRT gR foar ar vakar 5 wwar 811 &
o Ueh UGTS! Tal & bR 34 T 311+ig A araeid HIQ 9 off 7@ A1 5+ & HHA I B Gg1S Y18 ULt
TfE A Q) IS UM, F5T 71 U8 W Feq 313 o1 vaed oY ) 99 Foba & | 997 & Treg a1 ey g1 &)
Yo gRTRITY Bt fasar & rgar dt gt § 8 IR 9ga 78 79w 31 yofa w ot sradfya e 81 | &
BRI PT84 W ST Sifrardar &1 fFPreay st frazrar an sieman & /iy & SR g 81 afs 18
SYyf wfdreal sk smufral @) g FA & MW I1 e & SIUTT & HRUT §id1 7, 9 T T gt
T § 3Y IHF grY-uta T8} e | W 3 faa o1 o Wt sneHt ugd df sredt swar T8t SR svar oft
B O FUT TR 30 TUIG S IINT H G SAr ¥ WG WG TWUIETA 8 ST § a9 SRR a1 Near seard &
3R YT S T W 7, fasiva: gl #1 51ai @ et 9 S9! dven & THH B DT & AR DI
a5 T 81 goul @t +fiwar Bt gt e g1 81 B0 S usan @ % 9gd R oW | gesl A 7 3 31 3@T
o Yo g1 Wear & Talere sraudl § ool HeH @ STaxgwdl Si¥ el wfed o1 sifazary v 71 g 31
T B T U BT U T giar & fp wrmaren asiRe dter 781 g oar aaft st =ifda & gt
I dteT A Uit 38 &7 fazaTe €1 Taar| U | agd R Ara 31 e g5 Sita & SR sMiw saRl |
Wt ear i 3R 1 arferfr & va & sgd F srurd) seft-wf el Ry soaama & g1y =18 s1em, W
TR & 4T Y 9ga § ufSa dut-F it e @ ge i €1

ST TRl B UG A G 7T UY BT Su 9d5a:

wH: fHut R ® 959 ¥ AURT f5w Wa 9 g1y e sTaa?
1. 31efgr

2. SRIH

3. YT

4, AT

Correct Answer :-

13) &t ot g5 SMuer Bt YIS A1 G F FRUI & WIETHR | S TP YHR BT ATATYU 3aT FH-
PRE AAMIBR TAT 8, SUI BT YT HEd 81 1Y W & PRI TR YUTT STA & [T MFA Bl § 3R UG
ITD! Ugd | 6T I & AT 1Y g8 & SR & WEYary & {377 7187 ghanl afe g ST SROr Aa= g
3R TE AT WG % SHA AH-gHh? g@ Tgarar g, @l e 81 W YT & o e &1 e g
SN TAEY; T WR AIGH §4T A1 b g A g gt afg #ig saifadt {5 AR @ o7 5 e
TR T1Y-UTE g SR af I HIY T SATTT; 4T Q11 0% S A Al PIS g1 S1aR Be & e gD-
P TR B1Y-X I &t A) 98 T AR Taa®< Bl (& P § gry-UR dis-ar? & g
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4 &1 vy g =ui & IrE= 1T § - ey WU § ok uren U #)| srned fawy gz § Rraer el wae
BRI FRaRr 3rYT B a1 YT TuS US| 91 vy 98 § o e §RT g f3ar ar Yakan o Gear g1l &t
IS U U1l Td1 & fhIy 33 7 31 A aTaid o aa o 78 41 5o+ & I 3R B 5e1s IS Ut
Tfg 3 1 IoBX YN, fS5T 91 Us WR T 31T T vaeT B ) 99 Thd & | f9wy & arem o1 3R g1 3t
Yo RS &t fahaar & s dt gidt €t § IR 9gd $© a9 & upfa wR Wt sradfaa e 81 R &
PRI BT 311 W ST@! sifrardar &1 Fag sroht fra=mar ar sigrmar ot sqyfa $ sRu glar 81 alk a8
P PiEATEal 3R Uizl B g HIA & GTH T WG & 3UTd b BRUT Biel ¢, df TS a8
STAT & 1Y 3D grY-Uid 181 o Apd| W B fda o1 a7 Argdt 3ngHt g ol Siedt S g 3 sar oft
2 @ AU P U TIE F I H A ST 21 HY S WHTETE B S 2 qd ST g1 Hiwdr sl 8
3R WY S |1 ST €, faRva: gl # | & 39 ofiean ot SFe dven & EE 8 IR & wAReE 31
g &1 B 1 goul @t vt @Y gt e gt 81 3w 9 usan & o 959 R S | 4ol A 9 5% &1 5@
A Y@ B 1 WIaT & WIS Sagal B IR e B azashdl 3R U it BT Sifa=ary werH §1 =g &7
AT F A U P71 4Fwmg T giar € 1 wrmarar aive dier 7€) ag g asht e oifda & grr
39 o1 ¥ Uil 38 71 fazars =€) Taar | I8 o agd Wik °ret 31 fvdr g5 1 SftaT & 3R 3Me agRy &
oft ofrear fers 3t 81 orderf™ & yg A 9ga A st wuli-w i fedt fasia sxawma & g1y =18t s1ad,
T F Y A 9ga A e Fl-Fft urard A de i B

SUad T B UgHT 1A ID T WY HT I a1ga:

ULH: H e &1 a1 redt rgH ugd o T AH! Hrar
1, SRATRI §

2. WATE §

3. AT el &

4, qedI el 8

Correct Answer :-
. ARG

14) Tt 3Tt g% 3MMUCT Bt HIGHT T G& F FRYUI & WATHR | Wl T TSR BT ATATYU QT FiH-
HRE AAASR gl &, aﬁaﬁmﬁﬁ%l HIY G S HRUT W YHTE STAA & T e aar g 3R W
IAP! Ugd | 916Y 314 & [ | HIY §& & FRU & WEyary & a1 =81 gianl afg g@ F71 SR a9 grn
3R TE T WG % I AP @ g g, a2t ®iy g W vg & e s &1 fAfdee g
SRS{T TeY; a1 WY HIGH 8191 =1feT kg w1 ugawh afg 91 suifad fft e @ @8 6 v
JRER BIY-UTd g Sl &Y S8 1Y 5 STTT; WA BT O St A afg $1E @RT e F e ore-
3T TN F1Y-TX 1S & Ot 98 WA TR} Taad So [ "HI 8 14-T AeAarar &

Yy BT fAwg & &l & T AT § - 3Re U H R Wi wu §1 3R fawa a5 § e fewdt waer
R AT sRiva 81 a1 SRiUT WY US| e fawy 98 § S waet §R1 g far a1 Yaar o awar g1l &t
TS U UBTS! 1ol F [P 93 A7 31+ig | ATt a9 9138 41 3o & o 2R P 3818 A1 v
i A I ISHY HITA, B a1 U8 W e i 1 e $Y o) 99 Td o | FAwa & e a1 3 1e §11 3
yon RfRAfY Bt fataar & sgar dt gt € § W 9gd 70 99w & upfa W o saafia wd g1 /i d
PR BT F9 811 W IS ! sffrardar &1 frey o=t fra=rar an sigrwar @91 srpyfa F sRu glar 81 I a8
YT Bfsrgal iR smufral H1 g FI & AW U1 Wed & YT & SR gl 8, @ a7 Wik 8
ST 8 3R 3Ud g1Y-Uia 6] Re Al R &S fd &1 a7 wredt 3newh ugd df Siedt sar e 3R svan ot
T W TS B AU TG & I H T S7am 81 U ST UG 81 It § o9 wravar a1 Wear Hgarr g
SR YTt Yy T Wi 7, fasiva: gl §1 5t o ofiear 9 39t aven & TEH i ST & AR 31
a%g 38! €1 goul @t ofiwdr Bt g e i @ 1 A1 oI usan @ b agd [ oA | goul A 9 599 @1 ST
o Yot ¢ | WiedT & Waleie Sraudl ¥ R HeA &1 Mavashdl 3R 3yl xifad o1 Sifawary wur 81 2g &1
AT A A WA 1 3ifwmg 7€t gar & 6 wrmearen IR dier 76t T aear aft oo wifda & g
I UST & HUFT & BT fIxaTe 781 3@ | I8 df 9gd YRt °1et 31 a1 g5 1 Sitae & SR 3Md IRl |
ot e fears 3R 81 arfer™ & v @ wga @ aurd) it fbedt fasiy soaama § g1y =18t s1en, W
TR & YT 9ga & tfea sfl-e vt srerd A e R €
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IURIHRT TR B Ugah Ard YO T UY BT IR qad134:

%?ﬂmgmaﬁmmw$w$mmﬁﬁm§qﬂﬁmaﬁw

.09
2. 4g

3. 98
+.q@

Correct Answer :-

15) T aToft Sifeg A= ST 3muT W |
3% @1 2itaa #v, 3ug Maa g

o & o7 99 5 7Y, 9a 59 8 & |
Tg JRrarT fire mar, Stuw ar arEdh ||

IUYE UL B USHR e I 7T U BT IR qa183:
TRH- 3R B Xad Y BT AR 2

1, R B! e @

2. 31 1 oft wifa ot

3, 3IRI &1 1t gy

4, 3RI BT ff 57 o

Correct Answer :-
. 3RI B! oft wrifa

16) T aroft Sifere 1= &1 3T i |
3 &) Sftaa B, 3mug Maa gy |

oa & T a9 g3 ATeT, o g ¥ A A |
| SR fire o, Sue 3ar | |

ST T P UG A1a I 7T U BT IR qa133:
WS- T BT 3T W | gei aread & -

1, 9T @I &1

2. 1 BT HOR Bl ST

3, Heal-TY g1 oIl

4. fqafera g s

Correct Answer :-
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17) T aroft St a1 o1 s E |
3N ) 2iiaa Y, 3Tug Maa g |

a # YT 99 3 ATEY, 3rd g3 § H e |
Ta SRR fire man, Suw S| ATt ||

ST TR B UgHR T IS T U HT ST garsd:
W - VRl UfeRTal &1 82

1, e

2.Yq

3.9

4, {dlch

Correct Answer :-

18) Tt aToft Sifere w1 &1 STuT Wiy |
3R &) fitaa $Y, 3mug Maa arg ||

g & T o g8 1Y, ara e { A A |
Ha FRraRT fire man, due 3@ ardl |

SUYT TR H UgHh 19 I 7T U T 379 aa1sd:
TR - gd T A pfa T Fr e gy

1. Bad I

2, wad fa=3d

3. Had UH

4, IR Tt

Correct Answer :-

. I gt

19) Ut qroft Sife W= o1 SmuT W |
3R B Waa Y, 3Tug Maa e

9 H U1 79 g e, o a4 3 F A |
T Ry fire man, Stue | arel ||

JTITT T B UGHR -1 IS T WY HT 3T gargd:
WL - Serd Hg A & WieR o1 gir =iew?
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1. famrgran
2, gl

3. 3RPR
4, I

Correct Answer :-

20) Ut amft e 7 @1 3T @ |
3R Y i Y, ATug M gig |

Wa # YT 99 g1 T8, 3rd g9 8 # e |
e SferarT fire wan, Sue @ ||

I TR P Ugh A1d U 7T U BT I<R aaisd:
WA - FIHYP H A BTHL R 2

1. favfaa

2. UbTRI

3. 3EPR

4, FIYT

Correct Answer :-

21) Ut 9ol SifeTT W & SmuT Wi |
3 &) <itae $Y, g Maw g |

a H ur a9 g9 A1, 3@ g & # e |
|e SRR fire a1, §ue Sar A |

S TR i UG A1d I 7T WY BT SR qa1sd:
TR - PR BT AN HI A FT g1 82

1. ol 31 I wifey

2. Had & DI UG

3. A SR B UG

4, IR qHt

Correct Answer :-

« JWIad gt
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22) WAt qTult Siferg 7 &7 ST @Y |
3 ) 2faa &, g Maa g |

Wa # YT 99 g1 ATel, 3ra g9 3 # e} |
e SfrarT fire wan, Sue @ ||

IU et TSI P UG A1 I 7T U BT 37 aarsd:

U - [ =4 §ues fd & Wi e ueifa far 2
1. ST A

2.7

3. Sl A

4,494

Correct Answer :-

23) U aroft SifRre w= & smuT WY |
SR B aa &, 3Mug Maa gy |

e # 4T 9 g3 AT, 3@ gt & 7 e |
e 3iferm fire wan, Sue @ ure |

IR TR B UgHR A IR Y UY BT IR qe153:
T - 1 50 AU S A F BT 2

1. EEI YR ST 9T 81

2, ST 31 I B

3. JUHR e ST 1

Correct Answer :-
. YPR e T@IS]

24) Tt amoft Sifre 79 @1 smur @ |
3R ) Siiae v, 3Tug Maa g |

9 H U1 9 g3 AT, ord g 3 F AR |
| 3iferamer fire o, S @ AT |

ITRT TR P UGHR 1 IS T WY HT 3w ga13d:

T - 79 $13 & R SRS AT Y TS U 1 g1 412
1, TR Y B T8I

2. JR-BIf

3. HI-HH
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4, SR FTIN

Correct Answer :~-
. SR BT

25) Tt aroft Sifere = &1 3T i |
IR &) =Maa &, g Maa g |

o9 & T 9 g3t e, ora g4 8 F A |
e farT fire wan, due @ Al |

ST T P TSP A2 I 7T WY BT 37 qa13:
TR - Ui & 39R, $4R &1 Wity & gt 82
1, faqgar g

2, UHTIRI ¥

3. 3EPRIABA T A

4, dlus 9§

Correct Answer :-

. MEPRIATAY

26) Tt aToft Sifere w1+ &1 3T @i |
3 %) 2Maa &, g Maa g |

9 # T 99 31 AAeY, 3rd g 3 H A |
T siftramer fre wan, Sow ar T |

It TR P Ughx A1d U 7T UH T I7) aarsd:
T — SFYBR: PT TaTTaTE] o5 8 2

1. dHY

2. 98

3. ST
4, AR=dn

Correct Answer :-

27) Ut aroft difere w1 @1 oraT @Y |
3R I 2iaa &, g Xaa e |

o § ot 99 5 AT, 3ra 59 & F A |
T SfrarT fire war, Suw 3@ A |
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JUYRT U= Dt UGHR A1d IS 7T YY BT I qarsd:
T - HiSt Tl diem & R Eare?

1. Pad ded fie Sl 81

2. Had IR &I g9 Hedr gl

3, Iudiad ot

4, Pac Qe B! @ e 81

Correct Answer :-

o IR I

28) T aroft SR e o1 s E |
3R B 3aa v, Mg Maa gy |

e H o1 a9 g3 AT, o g 8 ' e |
g siferamer fire o, duw S urdl |

IR TR B USHR T IS T WY PT IR ga13d:
U - <3ug faa she &1 rf s g2

1. 30 & WY TR

2. 3{UA DI R T

3. U I Wifa o

4, A DI ARGl

Correct Answer :-

« 370 I ifet fovet

29) ¥ qrult |iferg w9 &7 Srur @ |
3R F! ftad &, 3mug Maa 8 | |

9 ® U1 a9 g A, o g4 § H ATEY |
e SiftrarT fire mar, Sius I/ AR | |

ITe TR o1 Ugd? A T MY UYH HT IR Ia153:
- B St aolt de F Fead € 2

1, Tiiaa

2. BTt

3. ferery

4. Hiat

Correct Answer :-

. Hidt
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30) fopalt arreft g2 Smugt Bt UIaAT A1 g & PRI & WEHTPR A S T YD BT TGS 3ar -
PRE AANADR ST &, I B UG BEd &1 1Y g P BRI TR UG STa & AT Pd Hvar § 3R 44
I U89 | 91ET 81 & Y1 Y g8 & PRU $ WEaiy & 3 T ganl 7fe 3@ b1 R A
BN 3R U WHSAT WU & SHA WH-g3ax g UgardT g, avlt e gl uR Wa & i s &1 fAfde
BT SRt HEY; ST WY ATQH g1 TR f g ar w1 ugat aft #ig saifadt fedt aw @ @
" GEETY BTY-UTT g€ ST &) 39 HIY 7 STT; UG TNIT1 TR 3T | Ul P GORT 3aR Fe b "Pa
S-S TN B14- dis & A 95 qia ANt aqa@y S [ "S5 ¢ e19-W dard? & gmi”

YT &1 g g Ul § 9= S1aT § - SR TU ¥ 3R uren wu #| eranw faww 9% § e 5l wae
BRT (AR YT §) O1 YT THE US| T1ed 4w 9% § 9 vae g1 g) e ar Yo 5 aar g1 |
TS T URTS] ! & fHAR o I 3+ | aradia Hed 9a o1 38 A1 Fa- § "HA IR &) 8T8 YAl
72l afe q SN IoHR WA, A a1 U8 W) "en 21 &7 wae &Y o) 99 9$d ¢ | faug & gien ar
ST B F yRon aRFRUfT 3 fasivar & SO o) gt € 8 W 989 9© 99 91 ufa W o
JHIdfad TEet 31 T F BRI BT J1H 814 W IHG Afrardar &7 e sroet faasrar an sramrar 31
YT & HRT gl 31 AR 7 rgyfar HATEA iR smufRr Y ¥ B & IR T WieH & SruTa
F DR Il B, df T Wifid &) oirar @ SR I §1U-Ud 7 Rl god | W 5 f3a &1 a1 et
et Ued | STedl Svar 81 3R et ot & A WYS R 3 9urd F I H 9 AT 81 U9 o
TUTITA Bl 91T & 99 Hravar a1 Hiear sgarar 8 SR W 39 71 wrar 8, fative: goot # | R &t
W1 A ITH Aol S A 8 D) F AR B awg I8 81 geul B Wivar Y o Fier e 21 T
T USar & fh 950 R S @ T3l A 7 S &1 3971 @ Yot 21 Wear & daies sragal § w0 g
P TaIH AT 3T T i BT TILATH T § | T BT AT 37 § YNH &7 g ag) gar ¢
YraTen AR @e1 78 Te Awar avht st wife & gy Sw feT A eroi ven o1 fagar e @
Tg ol 9gd WA Tre B Nivar 821 sieq F iR ofte ) § oft fear fierg & 21 srferf  ww @
Tgd ° IRl F-F et fodiy soawma & g1y 18T STerd, IR 819 & 49 ¥ §ga 9 ufed si-adt
s | g IR 2

IR T B UGH 1 UD T TY BT IR gargd:
US: HY P T BRI BT T 11 oI 81 22
1. =g

2. Uy

3, Ty
4, fAfdse

Correct Answer :-

Topic:- Sanskrit (SAN)

1)

eI fderue, (-

.

[%ThH_ |

1

) HiapEr |
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X T |

e |
4,

Correct Answer !~

2)

qUUT: TSNS TG A [ ?
| TR

| ARG

3F@‘WI

Correct Answer :-

RASGIFATHAH_ |

3)

I TR [hHI 379 ?
, Fvem |

Bty

, ST |

a, RN
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Correct Answer :-

ISl N

| SHNAEH |

L

® g8 g Ay A e

al
|

1 I AR |

IO |

AT |
) AR NAH |

Correct Answer :-

L Y

‘ YIAHTATEERH_ |

) S
Y TR G T SIaH: -
A
IRCCUSE
| A
B . Q: ‘
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" TEHERKY 35 A A -
) FAAH |
ast: |
2
) gee] |

H4: |

4,

Correct Answer :-

"ol T 9 I A Teae e —
1; q . ]
U9 3 FE F |

Eced

Page- 41



9

| TerRmoTgETe: |
| SENIEYE;: |
[T |

C
STAETG: |
4,

Correct Answer :-
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Correct Answer :-

11) -~ = -~
"HYT TG 229d | ST IIRSHET: &t ?

-,
. ¥ |
O

N RHIT |

¢ A

G |

A |

4,

Correct Answer :-

12) . . [ [
T THETS T (g [ a, ATeeh [, ?

) = HeEH |
X HANEEH |
| TS |

, AUITEERA |

Correct Answer :-
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I& LN |
JEileag: |
2.

Correct Answer :-

é\%}“:l

_ liaw: |
S |
| ST

SURTE: |

15) 4 ;
TTETATEATHIT: o AT2 ool T ?

Page- 44



BERERCIE

T A
AT TS o=
3.

o ™
, AT

Correct Answer :-

s
R EIEES

16)

& AASIET Alrad: TrIHL; Tt 7
 affy
I EGEIEE
[ [
B HEIREIR]

| U

Correct Answer :-

4

s [
Hldlatd 4l

7 e ST Y % ?
sl

.(_'qq“|

Ad

.?El
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Correct Answer :-

10

4.

Correct Answer :-

18

19) =~ = =
HAAlHG [ MIdYsn: -

N =
| TGS

A -Hglad:

2

R =
clefRd Hgl<4:

3

N
RCREUCIERE

Correct Answer :-

B =
Q’IIGI"IJ—Hﬁl':HI:

-
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N ¥ N o

JRHhaae] Jddh: h: ?

wUMG: |

1

21) 5
AU~ ieedd oLl Tiaariaar fafd: -

50

3,
HqToeq T fafer:
4,

Correct Answer :-
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,
9

4,

Correct Answer :-

, TRIET |

Correct Answer :-

AN

|

* fareaT wERT TeRTRRT BT AS -

—
IS IS il

RIEIRCED)

2,

3. £ L
4,

1

Correct Answer :-
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[
s[clTcH enl

25)

[ [ i = [ — £
SIA-TIITSHg (& 0 e THGra & Taqeh: 7

| IgETATTHT

2 IR ER CIERIGED

[y
. SIERIGER-EE

, TSTTATCHER e Te e

Correct Answer :-

ad .
HaalalcHn 4 oh | 4

26)

ERIEPEIRELS BRI TR N IR LI E R EETR E A

| AT

HEUTISATH
, TR {

Jden |y
3.

47\3@'8’433@

Correct Answer :-

| HAEATIHET
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| WA |
SR |

"\._"‘\. L |
3.

CEATURCARIC L

4

Correct Answer :-
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30)

o o = R
Dl Ll Al 3] AY L Ad[H -

TSI
, TR :

ELIEEIERINCIME

2,
| TP TSreATSa:

) ATATITEATST I :

Correct Answer :~-

YA TSTEATSAT:

31)

AL IR RaaH, S Tt I, 2o TI6H. ?

. QT
R CERLE! |

§ HETIAH |
, AEMNGH |

Correct Answer :-
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32)

JREgEE Uil F: ?
R
_ Tliaw: |

 SEE: |

33)

STETE, FRETIE, T -
| & |
, O |
| T |
, @ |

Correct Answer :-

=

| B |

34) ~ ~ =
TAESI Id AR TUdTl T ?

Page- 52



, femmEEs:

Correct Answer :~

35) % 7
TTHTHRCT AT ATATA L T ?
. ¥
| TEATHERTSITT:

=

o o
(STl AT ]2

FERATST VT

[ iy
) ERIERIECIFCIKE

Correct Answer :-

- =
ECIERIECINCIKE
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|
, I

Correct Answer :-

qq |

7 T F R TR St ?
, ETEd |

_ guferd |

|

4@411%

Correct Answer :~-

Correct Answer :-
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39) . O
g v R ?
, S P A |

ST AT A |

S I Al |

3
ST I AR

Correct Answer :-

3. g ;l
) JaTEH. |

Correct Answer :~

IR |
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4, 1‘@ i |

Correct Answer :-

42)

ATTRGRIY, ST STaH: -
. q0T: |
_ HEH l
ﬂ *
| Sie: |

, i |

Correct Answer :-

-
RS G

43

) e
T T a4 ke ?

il
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S |
2

] |
3.
’ M|
Correct Answer :~-

M|

G T T B ?
. M|

, |

e

| g

Correct Answer :-

45) (=

i |
UaH glATH Hedlgendlala STaHl H4qla -

)

. A .
CERECIES:

SRR

A
T THATR[OT TeATS o

[

i
EERECIES
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Correct Answer :-

BEEEERIGNRR R IESnD

46)

THEATl: FT ST JUd -
 forrEEi |
ST |

ﬂ\ﬂ r:\'\l
4.

Correct Answer :-

o o~

4\34r—crze:|fﬁr|

Correct Answer :-
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4@@@%”

Correct Answer :-

49)

2.
=t N
| TEET
m@ﬁ:

5

0) ;
A TATI AT il 9 & SqAT 2
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&Y eretaee:

3.

e

[ddenlrrgl

4,

Correct Answer :-

s
= = I P s K

Y grg a2
1 Bl U TSI |
2 D6l T 9oud |

3€§|%"‘rzumzuailr—€r|

, e e Uead |
Correct Answer :-

. B TS T3 |

52)

N hETHE e S TI0T: 9 239d ?
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&g |
4. "

Correct Answer :-

2 yEHEEE A -

1 dirat< |
2 HISAMTETH |
) I ACE I e

| AR |

Correct Answer ;-
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55)

= = s
Ty Ueh: STeHSTay <on: AT%d -

GE
IERIEN

2.
3. = :
. 5T

Correct Answer :-

E=EICE

™
. TLTLHHTSIH

CIEEA P LG ELR]
" PR

STATSTH

3 N
[
STRTEATI]
4,

Correct Answer :-

57) [ et
e P o A TR ECI IR R i

Page- 62



58)

TTRS N T [IUEaT TR ?

e TS |

) T 39 TSN |

3 T TS|

Correct Answer :-

- I EE TN |

7 ATgedl Y fugedt e 3fd IulgTTR wEg S5 ?
1 Féld. |
, GrSRIe
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dreiETd |
3.

HIUSHRIT |
4, 3
Correct Answer :-

= a I

60)

[ ~ o~ = —~ N e =~
SAleH QY [Hredaxite: Ud [q e RTm: (qenlds HATA?
1,

2

| TeTEeEy

, T9HEY

Correct Answer :~-

BLCAENER)
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PROFESSIONAL
8 Pt EXAMINATION BOARD
Ebggoorpdmotion Middle School Teacher
Eligibility Test - 2018
17th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁwm%ﬁfwmaﬁﬂmﬁﬁ%l
1, Medium Intelligence / HEIH §ie
2. No Intelligence / ﬁ%@@ =ra°t
3. Higher Intelligence / 3T §@
4, Lower Intelligence / qﬂ'@@

Correct Answer :-

« Lower Intelligence / HG @ﬁa

2) In child centred education, what the child has to learn should be / ﬁ'ﬁf—%ﬁﬁ ﬁl&l’l’ ﬁ, G|

B 5 Wia=n 91T, 98 AgER sie-r aeu:
1. Judged through activities Afafafedr o wreH I
2. Judged by the scores of their test results/3-Tdh GRI&T URUTH] o 3fehl I

3. Judged according to the ability, interest, capacity and previous experience of the child /o] B

A, S, &var SR Usa SYa & $uR
4. Judged according to the previous experience of the child /A & fUsa Giﬂllﬁa? SR
Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child Kl

T, S, &mdr SR UBd SFYd & SuR

3) Child centred education typically involves: ) T fsa Rrem & mA IR W A= 2
glar g:

1. on the spot assessments/JRd W%WW
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2. no Assessments/®1g Hedieh Tl
3. more summative assessments/ 3P WH@H’FT

4, more formative assessments /3¢ TAATHD Jedih

Correct Answer :-

« more formative assessments /3{{%d TAATHD Jedih

4) Which of the following are features of progressive education? / ﬁ'ﬁﬁf@ﬂ' ﬁ'@r aﬁﬂ-@ﬂ

Wit fRren @1 faaans §2

1. Instructions based solely on prescribed text books /Acer waa M Ww R TR
g &l

2. Flexibility on the topics that the student would like to learn/3 [} TR =aT (Feifaafafereh)
i BT Hie 98 d 5 |

3, Emphasis on lifelong learning and social skills/Sifa= T FTH 3R ATHTRE BN 0 SR
Call

4, Emphasis on scoring good marks in examinations/TRI&T3T T 3w 3@ T TR SR &1

Correct Answer :-

« Emphasis on lifelong learning and social skills/STiae T ITTH 3R ITAISIE HIR TR SR
CEIl

5) Performance intelligence is measured by: / U §% &I 1 & gRT ATaT SITa %:
1. Verbal Ability/ FIRI® &fd

2. Comprehension / HHS]

3. Numerical Ability / TRATH® &HdT

4. Picture Arrangement / I3 a1

Cbri;éct Answe"r :-

« Picture Arrangement / ferst sgawan

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U Il I THIAT & U H 30D AT A UG o AHdT1 g 1" Tg
HY forw fRigror fRrgia w smutla &

1. Instrumental conditioning / E@Eﬁ GAARIEE
2. Insight Classical conditioning/ 3{def¥ RRUTART UG (FTHEC AR dHa =)
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3, Trial and Error/ 90e1-3f¢ fafe
4. Classical Conditioning/ FRRUATNT UG e (TR da =)

Correct Answer :-

« Classical Conditioning/ RRUIITRT UG (Flitida dHa =)

7) The word ‘consistency’ is associated with: / ¥Teq “HATHTE” E'Hﬁ Taftra 3:
1, Personality / Hfgda

2. Attitude / FHIGIRI

3. Intelligence / g@'
4, Motivation / URUTT

Correct Answer :-

« Personality / fdda

8) The prejudice against a person on the basis of sex of that person is s wwﬁr%

R & YR R, 39 =afed & faaTw gatug (vamm) gargl
1. Gender stereotype / AR Tgeigdl (S8 TIRGCZY)

2. Gender bias / iTds NEHTd (SIS STZ43)

3. Gender identity / W1 UgaH (SIS 3R Sfadh)

4. Gender issue / TiRTeP T (STex H&T)

Correct Answer ;-

« Gender bias / AT HeHTd (GSX STS3)

9) The smallest bone i.c. stapes in the human body is in the car. /A9 YRR # qad

AT TN RIAPIHEAP gl 8l
1. Inner / 33
2. Middle / g &

3. None of these / E:Iﬁ q aﬁs‘ :IE?T

4, External / dlgX

Correct Answer :-

« Middle/ S #
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10) The last stage of psychosocial development is / HATATfo faeT @1 Sifew TRUr g -
1. Identity v/s. Confusion / Ugdl- d4TH YUH
2. Trust v/s. Mistrust / 9%/ S99 Sffagy

3. Generativity v/s. Stagnation / SGRd[ d-TH &&[d
4. Integrity v/s. Despair / 3RESAT ST A==

Correct Answer :-

« Integrity v/s. Despair / SRgEdr g9 AR

11) The study of same children over a period of time is known as study. / Uh

ﬁﬂﬂ’%ﬁﬂmaﬁmﬁr%mﬂmﬂﬁﬁ%maﬁ A & Y H S
a1 B

1. Longitudinal / 3G (@=Tclga)
2. Cross-sectional / IR G (ﬁum @EWFIT'T)

3. Latitudinal / 3T&2iT (@ctegsa)
4. Experimental /m

Correct Answer :-

» Longitudinal / ‘}ﬁ%""ﬁ EIRIEEEN)

12) Which of the following is a limitation of Eclectic counselling approach? / Fafeifaa i

F- weurRite Wt e RHv GEifdes Sreafn v S A g?

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

0 IRIR] EDH I &1 TATHD =T ! FHaRa HA & o sraftie S=ra wmRierdrsdt
DI gDl Bt 8 |

2. more flexible approach of counselling / RTARf o1 3ifiE gﬁw BECaL
3. more cost effective & practical approach / TTIPH YU 3R HTTGIND DI

4. more objective & coordinated approach of counselling / TR & 3T 8T 3R THfad

Eicau

Correct Answer :~-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

S RIRS DD B TS AR &1 FEEd B & [T i HRa WRERiardrsi
B} TS B B |
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13) Which of the following is the best way the teacher can guide children with special needs

in school education? / FFETIET & A S9-T1 a8 2 ord f R faered fRren &
o=y smazasarsit ard a= ®1 AnfeRe R gPd 82

1. Give higher challenging tasks / 31fid cigol T T
2. Give more tests / 3{e/@ TRI&UT &1
3. Providing support and tips / TN 3R BSEUE] G4l

4, Provide more homework /3{f&/& ‘jécblqr Ul hIAl

Correct Answer :-

« Providing support and tips / TgUNT 3R gid o

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / AT ® @ HI9 1 7R F Mg Earsi & USHHH § FEad $9 i
STARIH T FT UH IGTEIVT 82

1, Esteem needs / I &1 HIGhdd

2. Self-actualization needs / ATE-ITY P AT H AT

3. Safety needs / YX&I @I W

4. Love and belongingness needs / TR ud YU BT TG H A

Correct Answer :~

« Safety needs / GR&T &1 HTAIHANY

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? ;ﬁuﬁrliﬁaﬁﬁﬁﬂqwaﬁqﬁmmﬁﬂ, raraTd & HITH
W Afie B Bt BRI Hd T fFHar s

1. Naturalistic intelligence fﬂ@ﬁﬂﬁ@@
2. Spatial intelligence / EJIIBCY Ej@‘

3. Interpersonal intelligence / fddafaas Tg,’ffs‘“
4, Emotional intelligence / HTGHTHD Sl

Correct Answer :-

« Spatial intelligence / RJIIBE g@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / T T=i! B & Tl IR & ¢ U R Brardr 71 5w gedieror s
P IUANT foham 5T T8 82
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1. Variable ratio reinforcement schedule / AR S{JUId L CACR| W
2. Intermittent reinforcement schedule / TR ﬁ%ﬁﬂm w

3, Partial reinforcement schedule / 3{TTRI& WUT W

4, Fixed ratio reinforcement schedule / 2T S{HUTd WUT &W

Correct Answer :-

« Fixed ratio reinforcement schedule / 2T 3UTd eIl 3g!

17) One of the characteristic features of a Constructivist unit of study is that: / AT DI

TS YTATHBATAIE SHTS B T fa=ivar a8 § fF:

1. It starts with what children know as an effective departure point for the lessons. [ZhDI R[> 3T
39 Bid § [ 7= ure & fore U gt v foig & &9 o o ]

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STTd (C¥€)

3R Frgd &Rt (3RTgHC) BT I Had MY Wi T DI o1 Mpa A1 8l g |

3. It is propagated solely through teacher instruction. /4% I];Uf&:l: e & P & Tream
TR fohar ST & |

4. Asking questions is discouraged in the learning process. / Y4 Y-l 3T B Ufchar o
gdidTied PHRal gl

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /3P R[>3ATd

39 B § o 7= UTs 3 e U i TR g & U o S

18) Reading skills can be best developed by: / Yo+ DI BT 39 UhaT GRT AT 33T
e fawfRye fovan o Jear &:

1, Writing answers / 3R for& 1

2, Playing word games /doing quizzes / g T W/ faet e

3. Focusing on the use of words in the text / UG T Weq! & IUINT R A dbiad BT
4, Doing vocabulary exercises / ecTaa ST HAT

Correct Answer :-

« Focusing on the use of words in the text / Ulo T g o SUANT R & digd BT

19) Irrespective of the kind of impairment, all children are capable of: / [ el TSR BT

udar & arace, it = Fe A gem ea §:
1. Movement / EW’ief
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2. Hearing / g1
3. Learning / BSRCE]
4, Seeing / GRCE

Correct Answer :-

» Learning / BSIRCE]

20) What are inborn patterns of behavior that are biologically determined also called? /

AER & THWTT Ue ot siia-faqie & SER iy gid ¢, 3¢ ag Wi e 9 &:
1. 1d / Ug9H

2. Drives / §15d

3. Instincts / HgSl I

4, Intelligence / @@ﬂﬂ'{

Correct Answer :-

« Instincts / He 9l I

21) What are the symptoms of Post- traumatic stress disorder in children? [a=dl # uy-

3TYTd 919 fAPR (TR emfee ©H feuaiie) & s« g2

1. Avoiding places or people associated with the event./ YcHI | @%F—TFH’JIT SEIEEES

2. Having to think about or say something over and over. / dIR-dR <3 Ghtia':i qI 39 IR H

T

3. Not have an interest in other people at all. / tg{-N\I' e f&cgm Sk 6\I'-Il

4, Becoming annoyed with others./ gﬂii RIS BT

Correct Answer :-

« Avoiding places or people associated with the event./ YcHl q G\],%?—I'F'htﬂ SIIEEES!

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / 59 UPR 31 ﬁlm g U d pdl % & RemITde )
AR wan & &Y oft9 & wmeny & 9= 82

1. A deterministic theory / Teb fafddre Rigid
2. A social theory / Teh TSI Rigid
3. A nature theoryf@%ﬁﬁv' Rgid
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4. A nurture theory / Uch Ure-uyor Rigid

Correct Answer :~

« A nature theory / Th ﬂ'@ﬁiﬁ Rigid

23) What type of thinking is associated with creativity? / g ypR @1 fRiaq ?FFI'&’ﬂ?IT‘IT 3

Hafira giar g7
1. Convergent thinking / 3THER] Hidl
2, Divergent thinking / 3{cTi1 qa

3, Insightful thinking /3{Te(Y T (STARCH AT
4, Transductive thinking / IRAT® T (c gfdea fRifdm)

Correct Answer :-

« Divergent thinking / 3{TRT 9Id

24) Who introduced the theory of Universal Grammar in language development?/ HTHT

e A gfasda aR & Rigia @1 feam 92 fean
1. Piaget / 0TS

2. Vygotsky / ATt

3. Skinner / PR

4, Chomsky / EIERical

Correct Answer :~-

« Chomsky / BIEEsCdl

25) Intelligence is a product of both and environment./ WT, 3R

TYTaRoT G4 &1 T IS ¢
L Cultureiﬂ'@ﬁ"f

2. Community / JH&Id
3. Heredity/ 3{TJdfRIemdl

4, Society / JHINS

Correct Answer :-

« Heredity/ 3{TdRrehdl
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26) The Minnesota Paper Form Board test is a test which measures one’s

_ . THEiter TiR B 91 RIS, U U g o [t et S WIgan gl
1. Verbal Reasoning/ A& db

2. Aptitude/ 1T

3. Personality/ e

4, English Skills / 3{USTt IR

Correct Answer :-

« Aptitude/ TGl

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Th Eﬂﬁiﬁtﬁéﬂ'ﬁ" %mmqmﬁwmﬁ%
fere fafirs yomeht @) 10 B34 & fore FeTwaT 31 599 g1 v A Fufafea S #F
T STURRI RIS §H1?

1, Evaluation /H\Fqiav_"[

2. Convergent thinking / STURY fia
3. Divergent thinking / OYRT e

4. Learning / 3ffERTH

Correct Answer :~

« Divergent thinking / OUR] fdaH

28) Classical conditioning was developed by: / FATRIG A H-oIRI+1 (FeRufafa
WG o a1 WAt ey i & & frass g1 fawRya fora man :

1. Bandura /a?fv@w
2. Pavlov / UTddIg

3. Kohler / Ebﬂ??l?
4. Piaget /fET"JI'Iﬁ

Correct Answer :-

« Pavlov/ rgarg

29) Selecting specific stimuli through sensation is a characteristic of: / HagAT & HIHH A
ARy SEiua &1 aa7 &1 B1 sftraenr 2:

1. Attention / 3{d¥T+

Page- 9



2. Critical thinking / T8+ Tdd
3. Concept / SAYRUI

4, Perception / Y

Correct Answer :-

+ Perception / qe

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development?/ﬂﬁfﬁ]aﬁﬂgﬁ'ﬁm%ﬁ?\?ﬁw 'lﬂtﬁqg‘%aﬂﬁﬁo—ﬁwaﬁﬁw
%ﬁuﬁﬂgaﬁﬁwﬁm%qﬁ-mmwwﬁﬁm%mmmh
BT &2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./

gwﬁwwﬁmﬁ@mﬁﬁ?aﬁiﬁﬂé’w%mﬁﬁ‘mwaﬁm
|

2. A child dresses up as ‘fireman’ for a fancy-dress competition / | 3’\‘[ gfaaiTd & fog v
S BIRE & &0 H GOR g 8

3. A high mountain will be thought of as ‘old’/ U % Udd &t YRIET HIFT ST

4. A car which won'’t start will be described as being ‘tired’ or “ill’/ U SR o g R :I—EF[%CIT
SITUT Y YT §3HT T S HR' Sl Se|
Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / Tt %ﬂ ufafiidar & fou e
o1 BRIREH % B0 § TR Bl 81

Topic:- General Hindi (L1GH)

1) T NGS $ g 9 HRY TR BT 1Y et
qE STATH Yo PAR DIuct g3 At

9E YT AT $T BT 4 §

T 3usT Rrsg

7 Yaet TP ARG A 9791 R BT BIS RTAeR
T IS B TR A

g 3Ot 3t frerman Sman @ Wi Bra

TS Wd Siek ot wfed arl & wira &

Gl g1 g 8

T 30 E TRITH T AAHR

Page- 10



AT STl § UeHdT §oHT UH 315G |

TS AP 61 TUTE BT FUTA 5T 2

AT TR 81 YRBT TS BT U el g |HT
o 39 e faarar 8 Su&T g

W g5 AT ur

ARTES W I F3 AT § SHBT T

RO AT BISedT §F SIS S et gt

STATS & I S $© FRar gam

At e TS Y gTew JuTar

D! A T 3T § WAPR PT TR

sft-e W geai 81 ¢ dar e SHETEIY

I8 9™ & e i 98 srpen T ®

3R Tg 5 e & e s wwar

T ST T I

3R It oaTe A St O feaw T AT A B
T AT TR B ST IS B SRR

I frwerar =gt

IS WISIAT THSIT ST 1T

fou T verimr # ygd R YR WA 916 U=H ST Sk ad1gu|
TR DR TS BIGN GF oo 3 BT GOT’, T UTRT A PI-9T Weg TS 82
1. 3Te

2.9%

3.9

4, W3

Correct Answer :~-

2) T8I S & TgH o) U W@R &1 91Y el
T ATATH o< FHGR PIaat g A

9% U= TS $T BleT g ¢

1 391 R

7 Ued ga®? WA 319 916 &R T IS AR
ST MAF B TRA A
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qg 3q=1 ot FAraman smar 3w sra o

TS W 3R B Sied a1 & rd o

&l g1 g @

T 3T § TRTH HY AMGHR

AT AT § YeHhdl §i TP 31gg o

T AR E1 TUTE BT FUTA 5T 8

ST TRl §1 §T TS 1 HiD FeT g1 A
o 39 I1g femar 81 Sue FuuA

Wq 9§ AT ur

ARTES H oI F3 T4 § SHBT T

RO A1 BISHl §$ SNITE S el gt

JTATS | I S $o e gan

aft g e @Y gTew JuTr

FE! A TAT T § TAPR BT TR

Fit-FW g o § 8 ST SHPTAY

I 9 & g % a8 arban AT &

3R g & v & 7 s wwar 8
TTGT 1T BT I

3R TS raTe H St U e i g et
T 3 TR B ST I6M P Sl BRI T

39 faerar gt

IIP! AT THSIT ST AR

R TT v HY vgwy 1 O WM AT uRe ST S@R 913l
URH: 96 Ugd Tae? HIEH 3T aTeT gR &1 3T 81 Hhdl 8?2
1, B3 WHIGHR

2, Bg RIAGR

3, Bls D!

4, DI HATHR

Correct Answer :-

. Bl RIAAR

3) YW AS & TG o UK TR BT 1Y et
T8 AT JYor FHAR et g5 0

Page- 12



qE T AP BT BleT U1 §

1 391 ey

7 Yod TP WG AT AT g1 BT HIE R¥AGR
ST MOF B TRA A

T8 3o o fereman Simar & i e 9

MRS W4 e i SAfed arl & oid |

Gl gHI g ®

T 30 § TRTH BT AMGDHT

QAT ST § HeDHdT g3 U 315G A

9 ATADR E TTE BT FUTA gaT €

ST HiedT g g MW BT Ui FeT g |A
O 39 U1E farar 8 IuST g9

a8 HiREar ur

TR | ofd 7 AT & IS el

RO Y ISl §3 SoAT8 35 Bl gof

AT | IR S & Fvan gan

Ayl 481 A & gTey JuTdr

FE! A TAT AT § TAPR BT TR
FM.eft s ai §1 3 3 3 ST HY

T ga & fore i 9 srpar T8 &

3% e b s A TIvan o v @

TR ST YT I

3R IS ST H Sl TP e AT FAATS el ©
7 YA TR B Ha1 A 6 B Sl SR &

Y faeran -TEt

ITD AT FHST W1 1T

U v veri=r Y ygwR Y US WIH 91d R $T1 SR 9a1gv]

WE: I &) 1A U 98 S THedT & Y& NS &1 D FeT gor..... ?

1, {qHH
2. gRomy
3, 9HH
4, A

Correct Answer :-
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4) GBI TS & T o U TR ST 91 galt
qg SIS Y&¥ HHAR Higat gs AN

qE T T BT BIeT WIS &

a1 391 Rre

1 Uge TR WG 3T 1ol gR BT $IS RIAaR
T IS &1 TRA A

g 3Ot 3t Firerman Smar @ wrehe Bra

MRS 9d Siak @t sifed arl & sird o

Gl g1 g 8

T 30§ TR B ATgBR

T STaT § Yehdl §olT U 3Tge o

T ATAPR €1 TUTE P HUTA 7§18

ST HeT 81 BT TS BT U el goi |
o 3 ure faarar g SueT aEuA

19 98 SRaaT o

ARTES W oI FS+ AT § SHBT T

TR W1 BIgel §$ IATE e el gl

STATS | I S $O FRar g

At =T TS B eTed quTar

FE! A T AT § WASR BT TR
Flt-FWt gg a9 31 ¢ T B ST ATy

g ga & fog % a8 sbar g1 §

3 e f5 fibz & Ty o e 3

T S YT T

SR IHST 3maTet & N U feae AT TS At ¥
T AT TR B Ha1 7 FSH I ol DI

I fawaar 78

IIP AT THST ST AR

U v vzt Y vew? R US WA are R $1 Sk 9a1g |
W: TR TS Y T JUTAT WTABTR el o T STl 82
1. TSl
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2. ®US
3. 2led
4, g

Correct Answer :-

5) TBI TGS & T o UK TR T 1Y et
T8 TGS YR FHSR B9l g3 At

qE Y A BT BIET HTE §

1 31 ey

7 e TP WG 3T a7 R BT B R¥AGR
T MAF B TRA d

T 3T I fPreman 3mar & T o |

MRS T4 3R Pt Afed arl & o |

Gl g1 e g

T 30 E TRITH BT AMGDHT

I T § Yedhdl gl U 35 A

9 ATASR € TS BT FUTA TgalT ¢

ST THedr g1 4B MW ®1 1Y geT g1 9
O 39 1S feamar 8 Iu g9

a8 HiRfEar o

TR § S1d 46 el g SHPT Tl

WO WY SISl §S S8 3% Bl gaiT

SATATS | IS S F& FRar gan

il ge1 TS & eTey JuTdr

FE! A AT 1A § WADR $TWR
st g ai 91 3 ST 3 ST T Y

Ig a1 & fore 6 a8 e 78

3% g & b & T o wwan @

TR ST T I

R IS ST H S TP e W GATS adhl B
7 U TR B &1 5 B Sl BN &

Y fawperar =gt
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IAD T AT FHST A1 AT

T T weriw Y vgeR I OB WA aTd WA $1 SR 9ars|

U= IR A S TRel § 98 U1 ol Ha | fHerar emar g2
1, UTEiH &1d &

2. ADHTA Y

3, YIS HTa o
4. TR B ToATT I

Correct Answer :-

. TRF S

6) T RF & T o WK TR FTHTY el
qE 3ATaTS YeX HANAR Biaet g8 At

T T A T BIET 4TS &

7 31 Ry

T Ugd TaHY UG ST ATl gR T g RIAGR
T F B IRA §

g 3 3o fereman Smar & e sra |
TS W9 SR P Afed aFl b STd H

Gl g1 g 8

T 3T § T B AHHR

T STl & Yl §lT TP 3Fge &

T WIAPT g RIS T HUTA TGel1 8

ST TRl 81 RS TS BT NS el gai |
% 39 U1E feamar 8 Sue FauH

wid 98 ifiRaar o

ARTWS A 9 93+ T § SHPT T

RO ATY Bl § IS 3R Bl gl

STATH | IRG S $© FRar ganm

T} YT TS Y IS ST

T A T T § TASR BT TR

st e ai § g Ta g ST HY

g ga9 & forg & 95 srpan 761 &

3R Te o iz & vImaT o7 e B
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T ST BT I
3R IS AT ¥ o U e A1 TS It B

T U TR B FaT A I5H B S BRI

4 fawerar T8t

IAD! AT FHSIT AT AR

T 1T weri=r 1 vy T IS W a1l 9RA T S Farsu|

W: YRS TS BT A SATATS P HTY FITDR B SATATS G Sflelt 82
L AR

2. el

3. U=

4, TS o1 YT

Correct Answér Hl

. TS O YR

7) TSI TGS & T o WIRT T BT A1 et
qE TATS! G PR Piuch g5 A

a8 Y T T BT WIS §

a7 3T R

7 Yoq TaBy HREA S aTal gR $T iy RIAGR
YT M B! TIRA A

g SOt 3ot AT ST 8 Wi ST |

TS Wd Sy B sifed dil & oird &

=l g1 gl 8

T 30§ T B @aBT

A1 ST 8 HebdT §oll Uh 3Hgq A

9 HTAPR ¢ TITE PI FUTS IgaT &

ST AT ) ST S BT NS gl g3 |
o 39 U farar g Su@T FEuA

W9 98 SRaaT o

ARTES A oI FE AT § SHDBT T

TRUTT 1Y BIS §3 IATE 37 BT gail

STaTS | IRG S F FRar ganm

T} YT T Y STE ST
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Fo! A AT 3Tl 8 WIAPR BT TR

- 5 a1 1 ¢ ST © SHET Y

g ga9 & fe & a5 srpan 161 &

IR 9 & A A TR S wHaT &

TR ST YT T

IR ST STaTe H W TP s AT AT I 7

T YA TR BT ST I3 DI Wl BRI

39 faerar gt

IHD! AT AT FHSIT A1 AR |

U 1T Terier #Y vewr iR U W aTet IR $1 Sk q1s |
WRH: WAHR & HTHH I HY {50 UeR & afecmal 3t 3R Tbd s |1 e?
1, 9T T aTa B 3R

2. AU H IGHR URSH HRA aTed DI 3R

3. Hd HATdd! DI 3R

4, IS 9Tdl Bt 3R

Correct Answer :-

o qU H TgH UNYH B dTdd DI 3R

8) TT TUF & T o YT} TR BT 91y et
qE AT e HHSR Piueit g5 A

T8 ST A BT BT 4TS ©

a1 3T R

1 Uq TR WG 3 dTel R BT SIS RIWAGR
T TGS &1 TRe H

ag 3 I e amar @ e Sra @

TS o SR Pt Sfed aFl & Sa §

&l g1 g 8

T U B IR B AaH

ST SATT § HehdT ol U 38e |

TS AR E TUTE B HUTA 5T 8

ST e 81 ST S BT U el g3 |
o 3 ure Rearan g Su@T aEuA

9 98 SaaT o4
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ARTCTS | S §37 T § IHDT T

TRUTT 1Y BIS! §5 IATE 37 BraT gl

STATS & IRG S Fo FRar gam

Tt 91 TS B IS ST

TE A AT 1A 8 WADR BT TR
Fit-Ffi 95 a1 €1 3 TaT 3 SHHTAY

I8 g & fore o e arden 78 @

3% g T fpe & T o wpen §

TTAT ST BT I

3R IHST AT # S TP feraras W GATS el ©

T U TR B $AT 9 S B ol IR §

I faerar 1€l

IFD! AT THSIT WA AR

U T yeie @) veeR Y U W9 aT) UNH &1 IR aasyl
WH: TP 37U § TRITH S ATTHR HeHal §HT BRI aal SITdl 82
1. T® 3Fga H

2. R e

3. Hd & dTeR

4, YT U 3T

Correct Answer :-

. U 3Fea H

9) T TMAE & T o YR TR FT1J1Y it
qE ST Yex PHASN PIudt g5 A1

T8 T TS BT BIeT s §

a1 391 R

1 Uee TaH) WG 3 dTel gR BT HIS RIAGR
RS M D1 RS o

g S I fRreten oman @ wiE Sra A
MRS 4 ek P Sfed arl & sira &

&l g1 g g

T 30 § TRITH B ATADY

AT ST & HEHdT gl U 3Fge o
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TG AP T RITS I HUTA I§1 &

ST T 81 YT TS BT YIS el gai |
o 3 TT ey g SweT

9 98 STRaaT o

ARTEH W oI FS TG & SHBT T

TRUTT 1Y BISd §§ IRITE 37 Bial gail

STATH & TG S o FRar gom

vt geT TS B gTew JuTar

FE A TAT AT § WADR BT TR

et Ao SuTTHIY

Ig g™ & e b aw arcben T8 @

3R 78 5 fhe & wIran i wepa 8
TTT ST g1 T

3R I eaTst A St U fewe W AT &t ©
T AT TR B Ha1 7 oM B ol BRI §

I fawerar T8

IS AT THAT A1 1T

U T veriwr Y ved? R IS WA 916 URH $1 S aars |
WH: O TP 3 B Sifee ari SR ATATT) # G STl § a9 SradR ! GHIe Igd 82
1. QIR &I

2. el B

3. WE S

4, SR B

Cbrrect Answer :-

o RA DT

10) T TS & AT O HIRY R BT 1 St
T8 ATATH Yer FHER Hial gg 0t

I U= TS FT BT YIS §

a1 31 Rre

T e TP WG AT T IR BT DTS R¥AER
T IS B TRA A

98 SOt 3t fRrerTen SmaT 8 W Bra
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TS &d SR Pt SIfed a1 & S §
faiecalanik

T 3T § TRITH B ATTHY

T T4 § YeHdT §lT TP 3Tge A

qq ATAPR §1 TITS BT HUTA 5T 8

ST THedT §) Y81 TS &1 Ui el gor AT
SR 39 T1g femmar 8 Sw@ FauA

g 95 AeTaar o

ARTTS H Fd §6 Al & SHDT Tl

TR0 AT BIS ! §F IITE R el gl

SHTATS © I o1 $© RRar gam

Wt TReT A &Y ey JuTdr

T | T SHTAT § WADR BT W
w9 4t 1 3 qaT 8 SHET WY

Ig A & forg % a5 srpen 7d1

3R gg 5 e A 7 o Avar @

T ST g1 T

IR ST} AT & S U feae W g ol 7
T U TR B &1 7 I5M B Sl SR 2

Y fawaen T8

IAD! AT FHST ST AR

o T uegizt Y yeHR R YR WA 916 URA o1 I« 991zt
U= A & THY §3T TS G | DI =1 JR fHaman 82
1. GRAl SIGh

2. Arafe diced

3. d9dl digsh

4. YTdDHR

Correct Answer :-

11) T TS & A o YR TR BT ATY ot
qE AT JYer HHR Piat g3 0t
98 HOT TS T BT WIS §
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71 391 Ry

7 Soe TP ARG AT 9T R BT BIS R¥AAR
B MAF B TIRA

g 3 S FRretan S § i Fra

M WG 3R B wieed ! & Srd |

g1 glar &

T 3T § T D] waH

AT ST § HeHdT g3 T 3Feg A

9 TTAHR § RIS BT U IgaT &

ST e 81 ST TS H1 NS geT gt AT
IR 39 Te; faaTar gt SueT s=uA

W qg =iaar

ARTS | o1d Fo+ AT & SHBT el

TROTT 1Y SISl §S INTE S¥ Blell 3

STATS | Ia S po fRar gon

a4} g1 TS &Y STed ST

e A T AT § TADR BT &R
Fheftagai e T SaTTHIY

g Ia & fore % a5 srban A8t &

3R 7% f&s R & TR 1 wpa @
TTT 1T BT I

R IS} ST H Sl G fead W YATS aell ©
T U TR B &1 7 IS B Sl ST §

I fawerar gt

IHP! A= FHSIT ST ATig¢ |

feu g veisr @) ygH e v YR WF 9ol U $1 I} garsu|
TA: TS fhae! wifew arel & @ Srar 82
1. SfA Bl

2. GG Bl

3. Hdd &)

4, R B

Correct Answer :-

. AR B
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12) T TS & a5 S HRY TR BT HIY St
g SATATS Yax FHAR S1aat gg A

a8 G TP BT BT HTE &

a1 391 Ry

1 Yo T WG 3 a1 R BT DIg NWAGR
TS IS B TR A

9g 3o w1 fretren sman @ wi= @

TS 9d Sfay ot wifed arl & wird &

&l g1 gleT @

T 3T E TRITH BT ATADR

T STl § Yehdl §iT Ud 3ge o

T ATAPR 61 TITS BT FUTA 5T 8

ST AT 81 48T TS 1 Y geT gt I
S S ATS fEaTaT g IUET JauA

g 98 AT o

ARTES U oI FS AT 8 SHBT T

TR ATY DISdl §5 ST 3% gl gl

STt | I S Fo e gan

vt gReT T B STed SeTar

FE T TAT T 8 TTAPR BT TR

sft-e it ag 9 81 ¢ e & SHeTHY

g ga & fore for 98 srdben 78t ©

3R T o fiee & T o W@ @

T ST YT T

R I SHTaTS H S TP e A1 FATS ol ©
7 3T TR B &1 IoM B HIRW

3% fawerar T8t

IUB! ATSIAT AT ST AR

fow g veri=r Y yewR R U@ 9 e 0¥ $71 SwR a91gv|
v HW-H e a8 O € F Iam & Rig @ AT @ ST EnYe
1. fp a8 W Sl mrar g

2. % ag srpan TET @
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3. fragagH
4 P awREWHR

Correct Answer :-

. T a8 srpen S 8

13) T TS & g S YIS TR &1 /1Y St
T IATATH YR FHSR B9l g5 At

aE YO A BT BIET HIS ¢

1 391 e

7 Yod TP WG AT 9T R BT Bl RIAGR
BT MAF B TR A

T 3T I FRraTen 3mar @ U S 3

TS o SR P SAfed aFl & od §

Gl g1 e ¢

T T § TR Bl ATIDR

AT ATl & Wedhdl g3 U 38 A

TT TSR & RITE FT FUTA /A2

ST HedT §1 48T TS &1 U el T |
S I 1S farar g 3wt IauA

W9 g Hifaar ur

TRTES A oF 3 Tl § SHBT el

TR WY DI §F ST 31 Fla g

SATaTeT | IRG S $o RRar gam

aft g1 T @ gTed JuTdar

FE! A TAT 1A § WADR BT WR
it ag af 1 3 ST 3 SwwT WY

g 991 & foe [ ag srpan 181 &

3% g T fhe @ Tran o wopen &

TR AT YT I

3R I} ST H o U Rw A FATE A B
T U TR B &1 IS BT Sl SR

3IY faperar =gl

D! AT THSAT ST A16¢ |
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fRu g ueri=r Y ygwR i g S1H 91d R #1 IR 99gu|

W TeR YT A% S quu- & Sifafvad 3iv w1 a1e feamr 82
1, 9 faT e 95 Aiffear o

2. S99 Y IS T8I

3, Sfel SITSTT SSTTal T

4, 5§ 98 WAdT U

Correct Answer :-

. 3fe e gg @I ur

14) TSI TS & I F U TR ST /1Y St
TE AT Yex FHR HIat gg 0

a8 YT TS P BIel HIE §

7 v sy

7 Yod TP WG AT AT R BT Bl RIAGR
ST MAH Bt TR A

qg U I FRretren o € Wi Sra |

TS oId ek DI wifed arl & s |

Gl oI Ea1 g

T 3T §Y TR Bl ATIPR

AT ATl § HeDdl §HT U 315 H

TT TTAPR 51 TITS I HHTA 3501 &

ST gHedT g1 8T M &1 Ui geT gt 9
O 39 1S feaTar 8 SuwT g9

w9 g Hiffaar ar

TR | ofd 5 T & IS Tl

UROTT ATY SIS §§ ITE 3 Siell gl

SATATST ¥ IRG S F5 FRar gam

vl 481 TS & gTew JuTdr

FE A T 3TAT 8 WADR $T WR
FMeftagai 3 qa 3 SumT Y

g 90 & foe & 95 srpan 161 ©

3% g 1 b @ v o wopen &

T &I hT AT
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SR IS ATy # o U R AT AT Sait 7

T T TR B &1 oM BT HIRW

Y faperar 18)

IAP! AT THSAT ST A116¢ |

U T uerit F ygw S YR WIF 916 U=A @1 3E aaigt|

TRA: 3T TR BT 4T 36T S ol S & S T Ta| GG ST A2
1, 3P IShU

2. YD IRIREATT

3, IYPI SHU

4, IGDI fqwerar

Correct Answer :-

. IGP! [Awadr

15) T&I TS $ AgT oI U TR BT 1Y it
IE TaTH HeX FHAR HIet g8 o
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1. R dw
2. HeH AW
3. HeA aE

4, Wpfd g
Correct Answer :-

. FeHAT

25) TSI YdE 4 # $© W TSP A6l AT W B ARE AHT IR | ot o1 39 fomn & e wr =
FUTH 8 B T 41| Uiy aga € 413 | wHy & forw) vad ud = € wet ot St 9w g, ast sww fe=m
FR-FP M} fbaat TR B Aodl? TWA-oWa a8l P aed 9 T O 8) T 3R TUTHH & BT ARy &
B TATI B SATHT BT 9 B3 &, G2l o1 qui H3d &, TATRA] D1 90i Hed 8 | W Sras o1 gof it
et 9 fooar 22 Frus 8 IR SO PIS UHe 78] XaT, Has A IR Tial BidT 8, BUS 7 81 o1 &1 30
IR W P I3, T fFet &t srest 718 @vman ok gfifere dies & fore fwht & agryfa 1€ ki o
e gyt §, frg Tewia | 9 ol 50 @1 ¥ o A 3o oH dicd 6 81 ugd @t u [P P e I
954 Yor ¢ | TRa® & M1 IR, TR B Sardl UR SYar IR W & BIH HUS! F U 59 99 Fas F 6
T UHE B 2 | BT 9T DI HET A UhTE g¢ frgt & axasl & frg adh 31 9gd uwe 1 Bie) od 9wy
oft afe ITH Fiere 31, THTY SIHY FT T 3T A1, 1 I are Heas a7 A G-TR 8 9 &1 W) @,
FIag &1 919 A € 9 favrs e 21

31 F PR o/d Bies GEHT IqP ¢hS & WA 8, a9 d fba Yox fema 81 warer weft & ww 3=
THS! H ¥R TSl 8, 79 YWY §¢ WX o FE v &1 T e dal 7 w/a waaa R e sias
TH-TT T g BiaT 8, 79 98 TN T8 BU WIGRd 81 8111 3T SIS $T Y8 YT 8 & oF W 37
T I 3R 3 Ble-g3 el gad 8, a9 9 TRgT am o 3f1yeT v ¥ 3°% uehug, wen vlRrar &
I P TG GR-R aP Sifpa ST T I U PRAT A TN DI 301 54 gl 71 FhR o9 Fitws warer
T B T SIY g1 WY, 99 MY, 9d Ure, 44, WS, TP Sl & Uailg 39 R 3ifebd g & SHB! THT
IR & 71 3T b wid & Hewa wre ru=it Hi & Flas o) Ag B 3uw & ded § a9 ) fFa sifdpd
vefrg 3R Wit & REl A WAl AiRtved F HRE = o1 R 3faer 8 59 $on ow ¥ R 8-t ym
BT 21 PaS T 81 ) T & fFar a1 Riy F P of 3o & gfty 71 8 & T v vd==n =ifkwl

SR 8 1 Teriw B Ugw) W U ¢ U $7 I« garsy|
w=: RSl & e el S TR ST e Rwa & 2

1. Gl&mT oM &
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3. S &
4, A UREAT &

Correct Answer :-

. AU RIS

26) 3T Yae T4 § $© T MHuS et oT| T 1 It Myt Swx & oot i sy Rz A e s A <t
HHIE 81 B U UTI W 954 81 TS & Wy & w1 v v fomm < wie ot ¥ 7 7 9, awt oo femm
FR-wed Y fram TRa¥ o% Wodl? STa-3Ta T8 & a15d Ad T S 81 T 3R GATHH 3 B Sy §
Bl TT 1 B SITPHTR BT U Fd &, Yl BT g0 Fed §, mmaﬂhaﬂ%%waﬁﬁmmkmm
ﬁﬁﬂ%ﬁm%ﬁﬂﬂgﬁﬁ?mﬂﬁémqﬁmﬂmﬁﬂ?nﬁﬁm% FUS Tl 81 9d &1 30
IR W PAs I3, T8 [Ht o1 a1 781 avan iR 3o Fias & o et &1 gergufe =& et o
T U B, ﬁﬁmﬁaﬁ?ﬁﬂﬂ%ﬁﬁ%mﬁwmﬁaﬁﬂﬁ%lwﬁ?ﬂwﬁ?mmw

TEd Yo 8 | IRa® & Tl X, WR B dharal IR SYar IR W P BiAd St & e g6 9 dus & o
Wu‘aaﬂﬂﬂ%lﬁﬁmﬁmﬂaﬁu@ﬁm@ﬁﬁﬁmﬁﬁﬁr@ﬁwa@am%mﬁﬁéﬁm
oft afe I Frers &1, THTY SAHY BT T 31 A1, A IY areT Fews [y O G- 8§ o § W @,
aﬂﬂswmaﬁﬁmmmél

T8l & fHIR Ta BHas TEHY TP THS 8l 9l 7, a9 d fba- Fax ewd &1 ware TRH & wa 371
THS! # IR USdl §, 99 UIT 5T W 9 & usd €| 76t e et 9o w19 9waa iR e das
T-H1 el G311 1T 8, 99 96 €T DO HH GaURA 18] 6IaT| §H $1IS I U5 UT $© @ o1 W 3H
TR TS 3R 3 Ble-g8 uah uad €, a9 diF Tgd M 3T o1 fiD ¥ 3% ualis, wed Ui &
I B TWE TR a0 3ifpa 3@ T I U FRAT A W B 357 g gt 31 TR 9 Ferg e
@ X THIA 319 I 1Y, 79 T4, 37 18, 49, WS, THY 3diie & Uohg 39 UX 3fhd g § SHP! JuT
T E I aﬁ?ﬁwwamu@m#ﬁﬁmaﬁﬁammﬁmﬁ%wﬁﬁﬁﬁaﬁa
vefig ok i & gl @ =) wRvea ¥ wrRdla g< &1 w1 sfer & 50 dn o § Rran 8-Tw v
B 21 P @A 8) a1 F AR an Riy & fFar ok 30 & 9ty 71 8 & NS ura vg=n =ikw

SR 3 T e B UgH? A g MU U™ &7 Sk Jargg|
U HIaS P g a1 T gl

1. g

2. eI

3. 98

4, dal

Correct Answer :-

27) 3T GaE U4 § $© T RS T8l T 37 $T Ik 2ur I & ot ff | o fezn & ara s A at
T G B o AT g Iga & IS W W & e wad g forem < et ot it 7w Y, awt s femw
FR-Hed At fram TR B AHdl? SWA-TWA T§1 P dTed A T AW B AT 3R qUTeHH T BT sy
B TAT1 §H SITHT BT quiH B &, Y2l 1 gl Hd &, STl b1 qui B 81 W) Prag BT qui st
fopelt 3 fban 82 Fras § IR Sro1 @13 yd 781 ovdr, g A IRR 181 811 2, $US 79 &1 o &1 3
IR R P I, T [Ft B a1 78T @ 3R AT Fiere F e 5 &1 gergyfa & i a8
e gurd B, fhg devuar & 9 d g9 3@ ¥ s d oo ou died 78 21 U ot ug i FHas e i
95d Yo ¢ | T® P Tl UY, UR B iaral W Syl IR R P BIACG US| & e 50 99 Fias & 94
T TS A B | BATTUF AT BT HET A UPpTY 5T frgt & avasi & R adh 1 9gq uwg 81 Bie) 9d 99y
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ot afe SHH Piers o1, THT SIHY BT T 371 W1, @l W arHe - Hed oy Gl YI-G &l o &1 TR &,
Fag BT 19 A f 9 fors o g1

T8 & PR oIa Pas TEIR IS THS 8 9 8, a9 2 Fbaa Yo R ¥ wurgr Rt | o 3
TP # ¥ USl B, 99 Y@ §Y W o 19 Usd 81 A fran el oo wia weaa ok e sias
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SR AT T TR B UgHR A IR T YA T S« qarsy |
UL PHas BT YY YN & R $H-3 G SH W Tad & ?
1. Iad

28) SiT<1 YdE Yd # $© W ATHYS A6l AT W BT ARE AHT IR | ot o1 39 fomn & enma wr = &
FUTe 8 B T 41| Uiy aga € 413 | wHy & forw) vad ud = € wet ot St 7w g, asi sww fe=m
FR-FP M} fbaat TR B Aodl? TWA-oWa a8l P aed 9 T O 8) T 3R TUTHH & BT ARy &
B TATI B SATHT BT 9 B3 &, G2l o1 qui H3d &, TATRA] D1 90i Hed 8 | W Sras o1 gof it
et 9 fooar 22 Frus 8 IR SO PIS UHe 78] XaT, Has A IR Tial BidT 8, BUS 7 81 o1 &1 30
IR W P I3, T fFet &t srest 718 @vman ok gfifere dies & fore fwht & agryfa 1€ ki o
e gyt §, frg Tewia | 9 ol 50 @1 ¥ o A 3o oH dicd 6 81 ugd @t u [P P e I
954 Yor ¢ | TRa® & M1 IR, TR B Sardl UR SYar IR W & BIH HUS! F U 59 99 Fas F 6
T UHE B 2 | BT 9T DI HET A UhTE g¢ frgt & axasl & frg adh 31 9gd uwe 1 Bie) od 9wy
oft afe ITH Fiere 31, THTY SIHY FT T 3T A1, 1 I are Heas a7 A G-TR 8 9 &1 W) @,
FIag &1 919 A € 9 favrs e 21

31 F PR o/d Bies GEHT IqP ¢hS & WA 8, a9 d fba Yox fema 81 warer weft & ww 3=
THS! H ¥R TSl 8, 79 YWY §¢ WX o FE v &1 T e dal 7 w/a waaa R e sias
TH-TT T g BiaT 8, 79 98 TN T8 BU WIGRd 81 8111 3T SIS $T Y8 YT 8 & oF W 37
T I 3R 3 Ble-g3 el gad 8, a9 9 TRgT am o 3f1yeT v ¥ 3°% uehug, wen vlRrar &
I P TG GR-R aP Sifpa ST T I U PRAT A TN DI 301 54 gl 71 FhR o9 Fitws warer
T B T SIY g1 WY, 99 MY, 9d Ure, 44, WS, TP Sl & Uailg 39 R 3ifebd g & SHB! THT
IR & 71 3T b wid & Hewa wre ru=it Hi & Flas o) Ag B 3uw & ded § a9 ) fFa sifdpd
vefrg 3R Wit & REl A WAl AiRtved F HRE = o1 R 3faer 8 59 $on ow ¥ R 8-t ym
BT 21 PaS T 81 ) T & fFar a1 Riy F P of 3o & gfty 71 8 & T v vd==n =ifkwl

SR 8 1 Teriw B Ugw) W U ¢ U $7 I« garsy|
;e ARG oM ok T 1D #v uefug 99 22

1, I0dad H A DI Tl

2. T ARG AT 3R Uof s
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3, T ARG 31T 3R ST Uiy
4, T ARG 3 3R TR i

Correct Answer :-

o 7 ARG MY 3R 3T i

29) 3T Yue T4 § $© T MHuS et oT| 37 1 st Mt Swx & oot | sy Rz A e s A <t
HHIE 81 B U UTI W 954 81 TS & Wy & e v v fomm < wie ot ¥ 7 7 9, awt oo femm
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Bl TT 1 B SITPHTR BT U Fd &, Yl BT g0 Fed §, mmaﬂhaﬂ%%waﬁﬁmmkmm
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T U B, ﬁﬁmﬁaﬁ?ﬁﬂﬂ%ﬁﬁ%mﬁwmﬁaﬁﬂﬁ%lwﬁ?ﬂwﬁ?mmw
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Wu‘aaﬂﬂﬂ%lﬁﬁmﬁmﬂaﬁu@ﬁm@ﬁﬁﬁmﬁﬁﬁr@ﬁwa@am%mﬁﬁéﬁm
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T8l & fHIR Ta BHas TEHY TP THS 8l 9l 7, a9 d fba- Fax ewd &1 ware TRH & wa 371
THS! # IR USdl §, 99 UIT 5T W 9 & usd €| 76t e et 9o w19 9waa iR e das
T-H1 el G311 1T 8, 99 96 €T DO HH GaURA 18] 6IaT| §H $1IS I U5 UT $© @ o1 W 3H
TR TS 3R 3 Ble-g8 uah uad €, a9 diF Tgd M 3T o1 fiD ¥ 3% ualis, wed Ui &
I B TWE TR a0 3ifpa 3@ T I U FRAT A W B 357 g gt 31 TR 9 Ferg e
@ X THIA 319 I 1Y, 79 T4, 37 18, 49, WS, THY 3diie & Uohg 39 UX 3fhd g § SHP! JuT
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vefig ok i & gl @ =) wRvea ¥ wrRdla g< &1 w1 sfer & 50 dn o § Rran 8-Tw v
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1, Iudad § 9 BIS g

2. JATHTR, Gedt 3R ST

3, g Aol &l
4, Tt <fier &1 T8t

Correct Answer :-

o MBI, Yot 3R ST

30) 3471 Y€ U4 & $O W ATHYP el 41| F1 31 It My SR d ot Fh su ferm A @ A ar
TATA & Y T ATI TR FEd € S A e & w1 o ud o < et oft i = v &, et s famm
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fopelt 3 fobar 82 Fras § IR S1o1 ®13 Ui 781 ovar, Fas A XK g1 i1 B, $US 79 81 o1 &1 3
IR R P I, T8 [Ft T a1 78T @ SR AT Fiee F e S &1 gergyfa 7€ i a8
e gurd B, fhg devuar & 9 at 59 3@ ¥ s § oo ou died 78 21 U o ug i Fas e
95d Yo ¢ | T® & Tl UY, WX B diaral W SYal IR W P BIAC US| & e g0 99 Fias & 94
T TS A B | BATTUF AT D1 HET A UPpTY §Y frgt & avasi & R adh 31 9gq uwg 81 Bie) ad 9wy
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ot afe SN Prers o1, THTY SIHY BT T 371 W1, @ W arHe - Hed [ay G GI-T &l o &1 TR &,
FaS BT 1 A &l T 3718 S 81

T & PR I DS GEaHR SUP ¢S 81 WId 8, a9 3 fhae Yar dad &1 et Rt | w9 3
TP # G USl B, 99 Y@ §Y W o 19 Usd & | 7 frar et oo wia wead ok e sias
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TR S 3R 3G Bie-a8 vl Tad €, a9 67 g 9m) 3R 3 e N 0R 9% ugig, uen tRar &
I Pl TRE GR-GR D 3ifhd 3T T I AT PIRAT A I DI 3901 84 81l 21 T o1w s Hrar
YW Y THIA 31 g1 WIT, a9 W, 3d urS, HH, s, IHL scdiie & Uehig 39 W 3ifda g € Suat =iur
3T B 21 3R firy oia &) veuwa UTe S Wi & Fias 3 3 B 3T A W & a9 Ad1 fHny sifva
uefe ok Wil & Rl & Al wlRved $ WRda g &1 R 3ierd € 50 $en aw § forar 8-Gar v
BT 21 DA ST 8 a T & fpaR a1 Riy F fH=r 3T 309 @ 9 7 81 o W Gura uge=n =ifeul

SR T T TR BT UgHR A TR T YA T @R qarsy |

U T, 99 U18, WY, WS, 9N sfe & uafus el sifdd gid €2
1. 99 & BeH d

2.9dH

3. QEUFEE

4. Bl !

Correct Answer :-

Topic:- General English(L2GE)

1) Fill in the blanks with the most appropriate preposition in the given sentence.

A learner’s language development infancy three years of age will depend on their exposure
to the language.

1, by, to

2. by, from

3. from, until

4. across, until

Correct Answer :-

« from, until

2) Fill in the blank with the correct option in the given sentence:
After exercising for six hours, she fell down due to exhaust--.

1, ---tion

2, ---sion
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3. ---ance
4. ---ing

Correct Answer :-
« ---tion

3) Choose an appropriate modal for the given sentence:

I expected that I get a high score in Maths.
1. can

2, may

3. would

4, should

Correct Answer :-

« would

4) Choose the most appropriate determiner in the given sentence.
officer in the field has a key to the building.

1, Every

2. Many

3. Some

4, Most

Correct Answer :-

5) Choose the appropriate prepositions for the given sentence:

My mother, having her tea, settled a cozy armchair.

1. before, for
2, on, by
3. of, in

4, after, into
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Correct Answer :-

« after, into

6) Choose the appropriate conjunction for the given sentence:

My friend did not play well, did I.

1. neither
2, either
3. because

4, only

Correct Answer :-
» neither

7) Choose the appropriate antonym for the highlighted word in the given sentence.

My father entered the room with an agitated look on his face.
1. Amused

2. Pompous

3. Cruel

4, Serene

Correct Answer :-
« Serene

8) Choose the appropriate option that rewrites the given sentence in its active voice.

Suggestions are invited sincerely by me for further improvement of my book.
1, I have sincerely invited suggestions for further improvement of my book.

2. | am sincerely invited suggestions for further improvement of my book.

3. I sincerely invited suggestions for further improvement of my book.

4, | sincerely invite suggestions for further improvement of my book.

Correct Answer :-

» | sincerely invite suggestions for further improvement of my book.
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9) Choose the appropriate synonym for the highlighted word in the given sentence.

Logging causes a great deal of environmental damage.
1. Cutting down of trees

2. Blocking

3. Making log cabins

4. Flooding

Correct Answer :-

« Cutting down of trees

10) Choose the option that best transforms the sentence into its Indirect form:

He said, “"God is great.”

1. He said that God is being great.
2. He said that God was great.

3. He said that God is great.

4, He says that God is great.

Correct Answer :-

+ He said that God is great.

11) Choose the option that best explains the highlighted expression:
This camera of mine has seen better days.

1. is now in poor condition

2. is new and working well

3. was not working well

4. is good and working well

Correct Answer :~

« is now in poor condition

12) Choose the option that best explains the highlighted expression:

To run out of mental alertness is worse than to run out of physical fitness.
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1. To have plenty of
2. To be deprived of
3. To be drained of

4, To possess

Correct Answer :-

+ To be drained of

13) Choose appropriate articles for the given sentence:

Chief Minister and Prime Minister are attending ____ meeting at 10.00 am.
1. No article required, the, a
2. The, a, no article required
3. The, the, the

4. The, a, the

Correct Answer :-

¢ The, the, the

14) Read the sentence carefully and choose the option that has an error in it:

I have scarcely no qualms about the rights and wrongs of my doing.
1. | have scarcely no qualms

2, about the rights and wrongs

3. of my doing.

4, No error

Correct Answer :-

« | have scarcely no qualms

15) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
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exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

What is cartography?

1. It is a photograph of the earth.
2. ltis a drawing of the earth.

3. It is the study of map making.

4, It is a graph of the earth.

Correct Answer :~-

¢ Itisthe study of map making.

16) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

How has GIS helped companies in decision making?
1. By providing real time interactive map features

2. By providing an assortment of information

3. By providing artistic maps.

4, By providing digitally printed maps

Correct Answer :-

« By providing real time interactive map features

17) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
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understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

In this passage, “clay tablets” mean:
1. A flat slab of clay

2. A capsule made of clay

3. A floor made of clay

4, A small portable computer

Correct Answer :-

+ A flat slab of clay

18) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and
cave walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers
travelled. Today maps show an assortment and plethora of information. The advent of
technology such as Geographical Information Systems (GIS) allows the collection of spatial data
easier. Information technology has gone through rapid changes, and GIS is one of them. It has
helped various companies and governments institution in their decision making process through
real time interactive maps.

Find the synonym of the word Plethora.
1. Abundance

2. Variable

3. Understandable

4, Legible

Correct Answer :-

« Abundance
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19) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while,

Where was the speaker after he fell sick?
1. At the park

2. At school

3. In the garden

4, At home

Correct Answer -

+ Athome

20) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip
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Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Who said, “Shoo...get out of here”
1, Child

2, Teacher

3. Mother

4. Baby

Correct Answer :-

+ Mother

21) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

What is the literary device used by the speaker in this line:
On my hassled, hapless mother.

1, Alliteration

2, Metaphor

3. Simile
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4. Onomatopoeia

Correct Answer :-

« Alliteration

22) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

The speaker got sick because of g
1. germs
2. the sun

3. over eating

23) Choose the right tag:

They were late as usual, ?
1. did they

2. didn't they
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3. weren't they
4, were they

Correct Answer :-

« weren't they

24) Choose the option that substitutes the given phrase appropriately.

A doctor who specializes in the treatment of children
1, Obstetrician

2. Entomologist

3. Pediatrician

4. Gemologist

Correct Answer :-

« Pediatrician

25) Choose the correct word to complete the given sentence.

My brother and __ are going tospend ___ vacation at a seaside resort.
1. they, theirs

2. he, his

3. me, its

4,1, our

Correct Answer :-

26) Choose the appropriate tenses to fill in the blanks in the given sentence:

Every day, the dog at the gate and the gatekeeper him.

1. wait, feed
2. waits, feeds

3. has waited, feeds
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4, 1s waiting, 1s fed

Correct Answer :~-

« waits, feeds

27) Choose the most suitable option to express the meaning of the sentences combined together.

The wind blew. The lightning splashed. The rain started falling.
1, The wind blew, the lightning splashed but the rain started falling.

2. The wind blew, the lightning splashed while the rain started falling.
3. The wind blew, the lightning splashed when the rain started falling.

4, The wind blew, the lightning splashed and the rain started falling.

Correct Answer :-

¢ The wind blew, the lightning splashed and the rain started falling.

28) Fill in the blank with the correct option in the given sentence:

An organization wants of its employees.

1. loyal
2. loyalty
3. loyally

4. lawfulness

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence.

My father’s computer is five years old and it needs to be --graded.
1. super-

2, up--

3. down-

4, de--

Correct Answer :-
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30) Change the given statement to indirect speech.
She asked, “Do you go to school every day?”

1. She asked me that if I went to school every day.

2. She asked me if I went to school every day.

3. She asked that if I go to school every day.

4. She asked that do you go to school every day.

Correct Answer :-

« She asked me if I went to school every day.

Topic:- Sanskrit (SAN)
1) a8 [a .~
eI [dede, -
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i |
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Corre& Answer )
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Correct Answer :-
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Correct Answer :-
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4 HETENENAH, |

Correct Answer :-

.
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Correct Answer :-

Page- 51



" e T Y I A T 9 —
| e

 Te fd e Ff: |

N AT |

| FAEIST |

Correct Answer :-

9

) N ~
TRITETH T % FHE: ?

o= N
[eREIgEYT: |
1.

Page- 52



ST |
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-

Eﬁﬁﬁftl
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, A |

e |
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Correct Answer :-
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Correct Answer :-
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Page- 56



18

3.

10
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Correct Answer :-

18

19)
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TR
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1

A d-Agad:

2

B d =
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3
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Correct Answer :-

N =~
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20) A
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Correct Answer :-
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gLI- ieed e -FeaT<l Tradriaar fare: -
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Correct Answer :-

%
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5
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Correct Answer :-

23)
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Correct Answer :-

o
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24)
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Correct Answer :-
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Correct Answer :-

. HSTATCH S AR Te

26)
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TEITISATH
, TR {
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4,

Correct Answer :-

| SALATTHA

iSRS o
BTG |

CEATUDEIRIE B
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Correct Answer :-
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2 CEIEEIERINIRE
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) AT STEATST T

Correct Answer :-

TS TSAI:

31)
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 HET,

, T

; HETdH_ |

, FERTYAH |

Correct Answer :-
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Correct Answer :-
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Correct Answer :-

) "
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-

[ =
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* _\‘ :
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) EEIEBRIERCIFCINE

Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-

.
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Correct Answer :-
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Correct Answer :-

58)
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Correct Answer :-
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Correct Answer :-
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. PROFESSIONAL EXAMINATION BOARD
P Middle School Teacher Eligibility Test - 2018
17th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)

1) is associated with retardation in various aspects of development / e & fafts uggail #f dear A 9t &1
1. Medium Intelligence / nmﬂgﬁ

2. No Intelligence / BT5 §fg Tel
3. Higher Intelligence / 3% @3
4. Lower Intelligence / 1:I3 g@

Correct Answer :-

« Lower Intelligence / HG g@.’

2) In child centred education, what the child has to learn should be / TTA-STd Ri&f #, 7= &) Wit W= e, ag e
ST TAMRT:

1. Judged through activities fafafit & mem &

2. Judged by the scores of their test results/3Tch TI&T AROMHT & 3l I

3. Judged according to the ability, interest, capacity and previous experience of the child (g% &) AT, S, & o s YA & IR
4. Judged according to the previous experience of the child e @ fusd SHg & SR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child /a1 angal, $f, s 3R frwa IqHd & IR

3) Child centred education typically involves: / Wﬁ?ﬁ‘dﬁr&n oy ?ﬁ?wﬁﬂ!trrﬁﬁ'e‘lm %:
1. on the spot assessments/q¥d Tl AP W HedidhH

2. 10 Assessments/Tg e el

3. more summative assessments/Sifd JITES HeHid

4. more formative assessments /38 ISP Yo+

PRSP, .\

« more formative assessments /318D TS Yedidh=

4) Which of the following are features of progressive education? / Frafaf@a 7 & s v Rren &t faiwan '%"
1. Instructions based solely on prescribed text books /ﬁéﬂ Had ﬁfﬂm’?{ uréd ‘Iﬁﬁﬁ ¥ 1end éﬁf %1

2. Flexibility on the topics that the student would like to learn/3 faWg] U Rl (ﬁm Sl 13 Hie1 9184 B

3. Emphasis on lifelong learning and social skills/offa =T ST SR QTS ST TR SR &1

4. Emphasis on scoring good marks in examinations/TI&MN T 375 ofd A TR &R 11

Correct Answer :-

» Emphasis on lifelong learning and social skills/Sfia o= AfEATH 31X QAT SR IR SR a1

5) Performance intelligence is measured by: / ';IEQTT{ qﬁ; @I ﬁ'l:l ® IR IL IRSIGH %:
1. Verbal Ability/ HIfE® et

2. Comprehension / HHY
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3. Numerical Ability / GEATHD &HAT
4, Picture Arrangement / [EEEGRY]]

Correct Answer :-

« Picture Arrangement / [EEE 2GR

6) "A thing can be learnt by the study of it as a totality” This statement is based on which learning theory / "U® A & I F ¥
5% readT A T S HHdn & 1 9 U e Rrgror Riegia w smurfya :

1. Instrumental conditioning / ﬁﬂ?ﬂmﬁ“’[

2. Insight Classical conditioning/ 3{def® FRRUMBT WHEaH @TH8e wllidhd bel=i-)
3. Trial and Error/ mﬁ-ﬁﬁﬁ

4. Classical Conditioning/ FERUITT WH@e (@iiffida Barii+)

Correct Answer :-

« Classical Conditioning/ FeRUTfST t@a @enfiaa dratafm)

7) The word ‘consistency’ is associated with: / RTeg “HqTH” m'ﬂ'ﬂﬁﬂ%
1. Personality / Hfdi

2. Attitude / ﬁqﬁ[

3. Intelligence / g@

4. Motivation / TROT

Correct Answer :-

« Personality / AT

8) The prejudice against a person on the basis of sex of that person is SR fdT & T & snuR W, 39 afe & fR¥amw

yatue werTd) ____ gar gl

1. Gender stereotype / ARTd WGaGdl (Wt WIRAEIZT)
2. Gender bias / TP HEHIT (SIS I1290)

3. Gender identity / TR UgHIM (SieX STeafse)

4. Gender issue / ART® &I (SIe% T&)

Correct Answer :-

« Gender bias / QiTd NEHIG (SieR 913379)

9) The smallest bone i.e. stapes in the human body is in the _____ ear. /AT TR ﬁﬂﬁﬁiﬁ?&?’g& uﬂ%‘émm%_ giet % |
1. Tnner / 3f&R

2. Middle / ST

3. None of these / §78 & &S ¢l

4. External / €TgX

Correct Answer :-

. Middle /99 H

10) The last stage of psychosocial development is / TR e o1 sifda o g -
1. Identity v/s. Confusion / Gg =l &1 YH

2. Trust v/s. Mistrust / ﬁ’.ﬂﬂw Gfﬁ’dm

3. Generativity v/s. Stagnation / JQRdI &-1H dgrld
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4. Integrity v/s. Despair / 3Gl &8 F=T=0

Correct Answer :-
« Integrity v/s. Despair / 3ESdl SHTH form=m

11) The study of same children over a period of time is known as study. / o fruiiva amg #t safa & ﬁrqmﬂ T &
T B T & Y H TSR )

1. Longitudinal / 3G (@i TIegTa)

2. Cross-sectional / TS (G519 Yawra)
3. Latitudinal / 3{&f%i4 (diciegsa)

4. Experimental / TR

Correct Answer :-

« Longitudinal / Giﬁ?ﬁ (W‘“ﬂﬁﬁ:‘ﬁ)

12) Which of the following is a limitation of Eclectic counselling approach? Pafafeadd Tﬁ?—?ﬂ'ﬂ?’“ﬁﬂﬁ et 2yt
FRIfGes ST T) Bt

<

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / 94 R EPHI0] & TARHD A= B
Peifa o373 & o srafie pera wrierars @ srawgad gid 81

2. more {lexible approach of counselling / RIAE] BT 3 @W@W

3. more cost effective & practical approach / 3rafire T SR smaeiie e

4, more objective & coordinated approach of counselling / R ¥ ofie e ok ymfad e e
Correct Answer :- .

« requires highly skilled counsclors to handle the dynamic feature of this counselling approach / S8 R 2R F TS s B
Frifrd B & fere srerflies e rRTsfararsii @ sagadd gidl g1

13) Which of the following is the best way the teacher can guide children with special needs in school education? / Fafafaa d & o=

1 T 3 Rt o Rreres Rremerdt Rran & faiw smaxgesarelt are o= o1 Anfasiy o% wad 87
1. Give higher challenging tasks / 31fI@ TGl w1 &7

2. Give more tests / S8 TR0 T

3. Providing support and tips / T8I SR TG 11

4. Provide more homework /33 g1 Uel Al

Correct Answer :-

« Providing support and tips / AT 3R L EUE] Sl

14) Which of the following is an example of a lower order need in Maslow” hierarchy of needs? / Frafufea % @ o a1 ar @t
STIRIHAIS] & USIHT § Ty H1 3 axadhdl BT U 3aT6I0 82

1. Esteem needs / T &Y &ﬂﬁw

2. Self-actualization needs / TE-S1Y B T H A

3. Safety needs / R8T 1 SATaLIHANT

4. Love and belongingness needs / @R ud SUAYH B 3EYYEHdI
Correct Answer :-

» Safety needs / {&TT Gl KIS E| 1

15) Which among the following types of intelligence would be most used when trying to navigate through traffic? / fafafeadafea

THR B gf ST IUNT, Frarara & mreay | A $3 @ SR v gug e s
1. Naturalistic intelligence m@lﬁmﬁg@
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2. Spatial intelligence / @ﬂﬁ‘tﬁ@@
3. Interpersonal intelligence / HAATfdI® gl
4. Emotional intelligence / HIG-TTH® @

Correct Answer :-

« Spatial intelligence / W@@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is being used? / TF T B RN IS
g uss wer Rrerar 8 1 fra gediewor gt o1 Sugi fésar s ier 22

1. Variable ratio reinforcement schedule / ORI HUId \ﬂ@?ﬁw 3F\[ﬁ—tﬂ
2. Intermittent reinforcement schedule / SRS WUT Gﬂ'ﬂ?—n

3. Partial reinforcement schedule / 3T g@aﬂaﬂw Giﬁ?ﬁ

4. Fixed ratio reinforcement schedule / & STUTA WUT Giﬂ'ﬂ\_tﬂ

Correct Answer :-

« Fixed ratio reinforcement schedule / &/ EECIGE WUT C’dﬂ’ﬂ?ﬂ

%7) One of the characteristic features of a Constructivist unit of study is that: / mﬁwwmﬁwﬁﬁww
f&:

1. It starts with what children know as an effective departure point for the lessons. /gﬂﬂﬁ RICTIG] Eﬂ@ Bl % & 9= ure & forg us uurdh
TR g & w0 s §

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / ST (C%€) AR mﬁm(m P13 had Y
I A SR 1 e B gl 8

3. It is propagated solcly through teacher instruction. /4G E'Jf?ﬁ Rigre & P & mrem I y=iia fear ST g
4. Asking questions is discouraged in the learning process. / U4 U@1 SiftRTH B ufthar & garefed HRaT gl
P . . y . S

« It starts with what children know as an effective departure point for the lessons. @ﬂﬁ &1 m Eﬁ?ﬂ %%ﬁ Ui & T:Q‘TE' L'Ga) Tl
TR ffg & © R 9 B

18) Reading skills can be best developed by: | U IS B 3 Wishar gRT Wad Sredt o e e frar v weran g:
1. Writing answers / 3R [l

2. Playing word games /doing quizzes / g8 11 Qe / febo el

3. Focusing on the usc of words in the text / TT6 7 XIeq] o SUAN TR &4 SHiad BT

4. Doing vocabulary exercises / QeaTae! 3T HIAT

Correct AI‘ISW;EI: = .

» Focusing on the use of words in the text / UI& T Il & IUANT UR S Digd BT

19) TIrrespective of the kind of impairment, all children are capable of: / Freht R ot smdar & qrdvfg, it 7= o & wam 81

.

1. Movement / I¢
2. Hearing / w

3. Learning / Hra
4. Seeing / CRCE|
Correct Anéwef = .

» Learning / rcEl
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20) What are inborn patterns of behavior that are biologically determined also called? / TITER & S-HGITd fed ot o fasm &
srgar frufiva i 8, 38 98 W wer o 8:

1. 1d/ OgdH
2. Drives / §Ig49
3. Instinets / ol T

4. Intelligence / g@rﬁ‘ﬂ

Correct Answer :-

» Instincts / Hgvl JTH

21) What are the symptoms of Post- traumatic stress disorder in children? /@ § U%-3TgTd a=Td faeR (Ue eAlke @@
fERaitsy) & aamr w82

1. Avoiding places or people associated with the event./ YT q G‘l?:' R 41 AT s

2. Having to think about or say something over and over. / IR-8R & T 1 39 918 T G
3. Not have an interest in other people at all. / GERI H ﬁﬁﬁf FRIAGA

4. Becoming annoyed with others./ m AR BT

Correct Answer :-

« Avoiding places or people associated with the event./ ¥cH] g \_}1@'; R 41 AT &

22) What type of theory is one that proposes that development depends on things that are inherited through genes? / fa vor &1

fria a WRgd Hvar @ o o 3 sl W 1R #=ar & S ofi7 & areaw & a2
1. A deterministic theory / U fafeare Rigia

2. A social theory / Udp THIford RIgia

3. A nature theory / U8 WTdpia® gl

4. A nurture theory / U@ 9Ta=-9v fygid

Correct Answer :-

« A nature theory / Uh H@mﬁ%‘{lﬂ

23) What type of thinking is associated with creativity? / fare mmﬁmmﬁum%mﬁaﬁm%?
1. Convergent thinking / S

2. Divergent thinking / 3¢ =

3. Insightful thinking /SITE(® WF (FTATECEd [UFB)

4. Transductive thinking / TRITYE T (ciasfaed fifdm)

Correct Answer :-

« Divergent thinking / 3¢ TIF

24) Who introduced the theory of Universal Grammar in language development?/ Wﬁmﬁqﬁaﬁam%maﬁﬁr@
o1 fasam?

1. Piaget / foars

2. Vygotsky G I EUIRIED
3. Skinner / f&pR

4. Chomsky / I

Correct Answer :-

« Chomsky / S
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25) Intelligence is a product of both and environment./ m, SR wafarur ﬁaﬂ't{ﬁ m%l

1. Culture / E@ﬁ[
2. Community / FHaTd
3. Heredity/ 3{Td 1l

4. Society / THIS

Correct Answer :-

« Heredity/ 3{-dMRIebar

26) The Minnesota Paper Form Board test is a test which measures one’s of e iR wid 818 ‘Jﬁ&I'UI, Th
wderor ot fedt ot @\ HTga 31

1. Verbal Reasoning/ oifg® ab
2. Aptitude/ IR

3. Personality/ ki

4. English Skills / 35T SI@

Correct Answer :-

« Aptitude/ TR

27) A student is asked to find different methods to evaluate the value of pi. This would mainly invelve which of the following operations? /
TP BT $ RfTE P T T edic B o forg fafdest worredt w1 gra v & forg et wiman 1 39 gy w0 & FPrafafea 4 @
I AT SATIRRT WA e

1. Evaluation / HedidH

2. Convergent thinking / S fRfa
3. Divergent thinking / 99T f&idd

4. Learning / sffea

Correct Answer :-

= Divergent thinking / SERt feda

28) Classical conditioning was developed by: / FTRI®a T3 i1 (RRURRT wrga= ar it srpde) Fa § 3 fras
g1 fysfa forar man @:

1. Bandura / E‘IIUETI
2. Paviov / UTd@ld
3. Kohler / DIGER
4. Piaget / formar
Correct Answer :-

» Pavlov / BIGHIE]

29) Selecting specific stimuli through sensation is a characteristic of: / ¥dg-1 & "reaw | fafdy adiu o1 a7 w39 o1 aftraeor 8:
1. Attention / S{G&[TH

2. Critical thinking / T8+ feiad

3. Concept / YR

4. Perception / Gk

Correct Answef Hl -

« Perception /A%
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30) Animism is the belief that everything that exists has some kind of consciousness. Which of the following does notdescribe the idea of
Animism in children at the pre-operational stage of development? / TaieHaTe U8 fayry 2wt O ot tﬁﬂjﬁ % I food yoR ot
Fan B1 FPrafafes & @« faem & gd-aRares wr w g= & aferarg & faw o1 v 98 swar g2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./ T\Eﬁﬂﬁﬂ'@ﬂf@' THIC Y AR
1 Tle Ug T g, G & SRR Bl B 4dha 3|

2. A child dresses up as *fireman’ for a fancy-dress competition / wgﬂm&fﬁ] & ﬁquﬁwm?ﬁ?é?mﬁ TR Eﬁ_tﬂ %I
3. A high mountain will be thought of as ‘old”/ U@ &d Tdd P YT HIT SITL |
4. A car which won’t start will be described as being ‘tired” or ‘ill’/ U HR m% o faa STe 39 USRI g Al SR ST ST |

Correct Answer :-

» A child dresses up as “fireman’ for a fancy-dress competition / ) ?ﬁ' ufaafar & %Q' Udh dd] BERAT S T U H ?ﬂ'ﬂ @Tﬂ %I
Topic:- General Hindi (L1GH)

1) ‘S GF F T o WY TR BT a1y St
TE AT X FHSIR Sl gg At

TG I TS 1Bl U 3

T IHFT ey

a7 Yere Taipe e 317 aTet gR &7 H1s RYagr
T8 TS B TR B

ag gt ifwt firerar smar & wrie o &

NRIE WE A B e arl & oire §

@ I A E

1 A B TEH Bl ahHY

T ST & Yl g8 U 3Fge §

@ PR € T Y HuT WA g

ST AT 81 I T 1 Ut et g AT
S 99 urg feamn § SHeT aug

W gg AR

AREE® # Wa 45 Tl § SADI I

RO ATy BT g TTIE 3% Bl g

ST ¥ I o 5 RRar gen

aft 9eT T I gred FurEr

HE & T T R HIGPR BT T
FM.wft g df 8 3 3 g ST A

gg aaM ¥ forg 5 ag erdven Tl R

3t g b fibw & wman wir wear g
YT T GHT I

it et smare # 5 o faw e s
7 3T TR B HAT 7 IO B ol BRI §

& Reeaar T

IS TS THT ST TR

fow Ty T B Ugee i U@ 9 9T 9%H %1 3w 9anRg|
T IROT Y BISH §F ......... 3R BlAT G0, 30 Uy & -1 Wk T B2
1. I

2.9%

3.9

4. WX
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Correct Answer :-
« Jllg

2) H&I T & FET o Wi we) o wry 3R
g AT HeX FAWIR Hidl g3 A

IE YA A FTBIET HTE §

a1 3T farey

7 Yo TAHT I 3T T g¥ &7 BIS NIIGR
T D D TR §

ag 3o 1o remar s & R S &

TMGE Wa SaY B A arl & v §

@ IHE R

a7 3 g T P AT

IS AT § HEHal §oN UF S A

T TP RIS Y HUT TEa ¥

S e 8 g e &1 i e gon W
SR ¥ ae fraan € e sTw

O g ST 3

AR ¥ o §E9 TTET § e T

RO ATy Bigd! §§ I8 3% FiaT g

ST & I o T Rar gan

i e T Y @rew Furr

HE & TN T & HPR BT T

Fult e a9 & 3 qm ¥ I Ay

g ad & forg o ag arpen A &

it g o fow | wiman i werar 8

TR AT T I

R St omaTe # Wi o feww we o S R
7 3 TR F FH41 7 IO F ol BRI §

¥ e Y

IHP! TS HHS S AR

g 7 et @t Tgwe R O 9 A T @1 9wl gyl
U 98 e e dRaa A1 dTeT g) 1 o 61 Gl €2
1. %18 WildHR

2. P13 REAGR

3. FI5 BamHl

4, BIS PAPR

Correct Answer :-

. I REAER

3) T A & TEH o Wi T e any &t
I AT e FHR S g3

T8 BT IS 1 ST UTE 8

ar 3ue e

1 tger aermy HiEs oI aren g1 &1 BrS Reder
T TS Y TR o

7% ot o v s & vl o
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MAE W4 ¥ Pt Sfed arl & e F

@ gHI AT g

a7 3§ T P e

TR STl § Hehal §31 U 3Fgg

9 ATAER & WiTE &1 JHId war g

T e 81 S A &1 0 el g are
SHY I T fraran € v aevE

o g T ur

AR W 5§39 TR § SHeT e

RO AT Bigdl §§ SeTe 3% gl goil

SR & I ST o e g

it g T Y e Furar

FE1 W T ST § HIGHIR BT TR

st R fadm s sweray

g5 aaM ¥ forg 5 a5 erban Y &

i g o fbv | vmar s wear 8

TR T T 0

IR TS AT 7 Wi U e wiw gars 3 2
7 U TR B HA1 7 IoT B ol BV E

& farwerar &Y

TS A GHHT ST 91eE|

T e vaiwr @ Tgwk R O W AT A T 3w aasg|

T TR P T §U a8 S Hedl & G TS &1 41 el §orl..... 2

1. TEE
2. OO
3. A
4. 3ffrm=

Correct Answer :-

« HHA

4) T=I TS F T oG 9T TR Fr Ay 3t
IE AT Y& FHIR Bivel g3 Ot

IE YT S FT BRI UTE §

a1 ga®! v

a1 Yee goise i &1 aTen g & &8 eder
TSI D @ TR |

a5 Aot ot i omar 3 wriE o

T W A B wfed ay & s §

@ gPIg

7 3 T P W APY

T I 8 HePHal §oi1 TF 35S

a9 Tas R € R &1 Jue warg

ST T §1 HET AW &1 Ui gel 5T ||
S T T, feraaT B SuwT aau

o 5 AT ur

ARAEF ¥ T4 G571 T § SHBT T

TRUT AT gt §% IeIE % gt gor
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ST & I o T PR gen

aft g1 T B e Furar

FEl & g AT @ WIAER $T TR
il ae Ot € & a1 @ SwwT Wy

ug aar ¥ fre 5 a8 spar A &

it ug o e & i e @
T T BT T

it St amare # 5 o Rae e e R @
7 S0 TR B ST I F S FRw
I Rrperar éY

I AT GRS 9

3w T Wi Y UgwR i U W AT WA 1 I a1l
W= G2 TS &1 T ST SaeR el § Tl 1T 82

1. 9
2. 598
3.3lg9

4. HHA

Correct Answer :-

- 3Gy

5) WEI A & a5 o W e oAy
Ig HTATY HeT FHWIR Hiadl g§ At

T YA A FTBIeT TS §

1 IuE ey

7 Yo TorT Wi ST 3Tl g¥ 7 $1§ RYAgR
@ TP B TRy &

g SO 1w fRrerar simaT & R B &

TME W SY B wiea ar & sira §

@ gH e ®

7 30 § TR P AaPT

AT ST & HEHAl g1 UF 3FTgs

@ TP € R B Hrd A

T W €1 ST M 1 1 el g wm
S ¥ e feraran € e gEud

wid ag Hatar ur

AW o 36 Tl & SUDTIEn

TIROTT 3Ty BTG §% ITE S el gofT

ST & I o T Frar gen

At g T 5 e Furr

HE W T T § PR BT T
Fuitsh st &2 3m t sww Ay

gg aa ¥ forg 5 9 e Y &

e g o v & vmar o wear g
TIRIT T T I

SR et ST # S T ffraw e g o g
7 U TR B FHA1 7 IO B Sl BRI §

T4 Rrwerar 1gY

Page- 10



IBI AT HHHT W1 910

fw Mg v FY ge AR U@ 9 e 9 %1 9w 9aRe|

W T TS B TR | 98 A9 et Fa J firemar amar e
LU B Y

2. AHHT §

3. 3YfAH HTa

4. GRS 1 TooTd &

Correct Answer :-

« GRS

6) W& & TgH A Wi waw o1y
qE SIS He UG Pigdt g5 @

qE YT A BTBIET HTE &

a1 FuET R

a7 e gae TE- 3T a1 ¥ 31 $18 iR
B MAF &1 WA T

a At 1 feraman s @ yRA E S

A o sfa¥ o dfea ar & e &

@ gHT e e

7 30 & TR Y GaPY

TIEN W § WDl §H1 T STEG A

T HIABR 61 RITE B WIS a1 &

ST AT §1 RS T 1 UHS el e e
S I U1 T g SweT a9

v 9 AT o

AR  od S T § SHBTTEl

TR Y BIGHT §§ SoATE S BT gt

SHTaTw & ¥RE ST oo FRer gen

it gEr T @ e Furr

S A T AT & HPR BT E&R

Fl-F il ae ol S a1 ¢ SwS Y

T8 7 ¥ g o ag e TR

it ug fo fiFe & e 1 W
1T ST GBI

i SHPY AT & Wi U FEaw @I s 4t &
T YA TR B ST 9 6T B Wl iR g

T e Tel

TS HAT T T AR

e g v Y vgER 1 g W A w1 I SRy
T T T 1 4 SHTaTel I HIGHR B Aot G Wit 82
L AR

2. e

3. JgH

4. 95 ol HIK)

.Corred: Answef 3
« FgM oY 4RI
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7) W& & agH o Wil v oy
Ig AT HeT FHYIR Sl g5 At

E W AP BT BT WTE §

a7 IWHT sy

o1 e Tees WRE 3T 9Te Y o IS R
& TS B TRy

% ot Tl Rrermar oiraT § WA T |

T W R B e arFl b oE §
GrgPeTEar e

7 30 & TR P AEFY

T ST § HePdl g3l U 3Teg o

9 HIHP R € TS B HUTd g §

ST T 81 ST M o1 1 el g um
S T a1g fyemar gt gaeT e

OIe g St ul

AREW® # Wa 45 Tl & SHDT I

RO 1Y Bl g8 ST 3% el gl

SiTaTe & I ST Fe e gen

it = T F SreH SUTEr

FE W T AT € TR BT TR

Fll st gt § S o ¢ swwT Ay

o5 a9 ¥ forg 5 o erben Y B

it ag o fioe | wmar o wwar g

TR ST T AT

S et ermaTe ¥ off U e wre ga 3 R
T T R 1 ST T SO BT 5T BRI

T fawerar gt

TP T HHF ST 9T

g T v ) TgwR < O S AT v B I aarsg|
U SR & 7 § #14 f5 ter & sfead 1 sl IFa s | e

1. T T 9Tl Bt 3R

2. 192 H IgHY URYH L 1 i 3R
3, Ha HTerp] i SR

4, ST @l B 3R

Correct Answer :-

« 02 @ ufeym F3 a1 & ik

8) TS AT F TEH O U T 1wy &dt
qE AT o FASIE Diadl g At

T€ Y1 TS ST BT U &

a1 FueT farey

7 Yo Tee WHE 3T T ¥ T F1E Reder
TS T 1 TR |

a8 =it 1 firerman smaT & WA e &

TG W Y B wiew aml & s A
@GP EN 8

Page- 12



7 30 gl T 1 gy

T ST & HEHdl 53N UF e o

T8 WTTBT B UTE B HUTH T|ar &

SR e g g T &1 4 geT ga wra
S 9 are, feraan € SwwT aau

e ag ffear ar

AN W S T & SHEDT et

RO AT SISl §§ SeTE S ghenl gl

ST & I S g e gan

aft g e @Y arew Furar

FE A TE AT R WTAPR BT

siF s a S da s swm Ay

g5 9a ¥ forg & a5 erdben gt &

3% 7 for R & T o e &

T T P10

IR Sw sare # ot v R ww g 3 ¥
7 30 TR B 41 o F S FIRW

I fawerar 7EY

TS AT TG ST ARY

férg g e ) ugwe AR O o AT eE 1 9w 9|
T: A 370 €1 T B GIaD Wehdl g3 Bel =l STar 87
1.UF e H

2. R 9 @

3. HI P e

4. 7Y e

Correct Answer :-
.« T 3fTga #

9) WET TS F T I HIH ¥R T WY it
g TS Y FHOIR Pioa g3 4

g YT TS T BT UTE §

a1 IuST ey

7 Y TAHT I ST ITaT g9 F1 H1g NIIGR
@ A ©F IRy

ag U 1 firarar s § WM era &

G W ¥ B i arE & wira §

el st

1 I B TETH B | iahY

T AT € Heehdl g3 U 3Fge d

79 WIAER g1 RIS BT T e §

ST EiledT §1 0 e &1 S gel go e
S I are e € ST awuT

g g e u

AR W oE Sa TTET § SHwT T

R ATy Bigdl g ST 3% giaT g

ST & I O 9 FRar gen

Al e T Y e Surr

Page- 13



Fel T AT § PR $I TR
Fl-welt g of § 3 3 3 ST ATy

Tg aa™ & farg i ag span 18t @

3t ag o b & vmar s g @

T AT BT T

S Sae aimaT # o v fRwe 9w g ad @

7 3T TR B HaT 7 SO B ol AR §

9 Rrperar =1éY

T e T S 9]

3T 1T T F) Ugee N 0B S aTel U= $1 Ik 9a15¢|

U e T Y B Sfee ar) @R srardt § @) S @ ) Sae fEae) Gy e

1. Ry Bl

2. e @l

3. GO &

4. 3P
Correct Answer :-

« REF

10) Y& TS & T b Wi waw arary &l
T8 SHTAT Ta? PSR Piadl g5 &t

T YT AP BT BT UTE §

a7 IHHT Ry

7 e Tees AREH S 9161 3R BT B N¥aaR
TR A 1 TRA §

T8 =t S FRremar ST § R e |

TM® i Sy Bt wfea ar & oita &
@GP 8

a7 9ru € & Y aigey

AT WG & HePal g UF 3-8 |

T WA §1 TS B THS 51 8

S T 61 U T S Ui el ge 9
SHY T 1g e g sueT awu

oq gg =fafEar

AREES  d S84 Gl § SHB1TEr

TR A Bigdl §§ SeuTE 31%d Bl il

SHTaT & ¥RE ST o e gan

et = T S eTew ST

T} W TEAT AT § HTTPR BT

el ag ol S A qa g SwET Y

T8 a9 ¥ forg 5 9w erpen Y &

it Tg fa ftpe & ran o W

TR ST T I

S TaE AT # Sl U faw wIw gAs oot 8
T 3T TR B FaT T o S Bk

9 Rrperar =gt

JIBT A THHAT T 919

3T 7 v ® Y@ T IR S AT 9% 61 I aargq|

Page- 14



U MAA & 9T G TS G 8 S S0 §R e 82

1. 9t args
2. qrafer arad
3. dddl diqd
4. YTdPR

Correct Answer :-

+ HIAPR

11) I OS & TgH oHF Wit TR F1ary &t
TE 1T Yo DAY Piget g8 9t

9 HEH TGS FTBIeT UTE §

o Fu e

a7 Yeer gt HIE 317 are g1 &1 B1s Reaer
TR MAE B TR #

g O T e o & WA e |

TS & Sy B slfea ar & oiira §

@ gH A E

a7 30 € TR P wiaHY

T WA § YeDdl g UH 35§

TG HTAPR 6 RIS B FHTA TEa1 &

ST e B HET T 1 Wi et g |rHT
S S T T g SeT a9

Wa ag AR a

ARHEF ¥ 4 93+ Gl § SHBTTEr

RO |1 Tredt §5 ITE o TiaT §oll

SiTaT & ¥ ST $ e gen

i wET T Y e SuTr

SE | AT ST & WITDR BT

it a5 9f 8 & 3a1 ¢ ST WY

T5 aaH ¥ forg 5 9 b 181 8

31 T o fiFe & e = e @

T I BT I

Site 3w T ¥ o U Fad WiH g IR €
7 30 R Bl T 7 S B wl DHATE

S8 Rpear et

ST AT FHE ST AM6E

T g weiRr St U e U W a1 WA T SR Fa1sg|
WRH: A fhwe! wied ol § @l o 82
1. Sfd &l

2. @8 &

3. qad @l

4, 3T

Correct Answer :- .

. B

12) T8I TS & TgH ol Wi W F1amy 38t
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I8 AT TR FHSIR St g At

T@ T TUH BT BT 4TS &

a1 Iue fare

a1 e Tt YEs 317 aTell g¥ &7 B¢ RTagR
TS U B TR

ag Ot 1 fRrear simar & R Ba &

TG T SR Bt Wi Tl & o A

G gHT

a7 3 g v Y A

QT AT & HUEFAI 5 UF 35S |

T AR € 0T B U TE

ST T 81 WS M 1 W ge 5o 9
S ¥ T feraran € e gTuE

o 5 ST ur

AREES  wa 459 Gl § SHET Tt

TRUT W1y BT §§ TG St St Gl

ST ¥ T T o Far gan

vt e T B gred durar

T & TN T & HIAPR I &
Fi-aft ag i § & 3 & Iwer Wy

g5 ga ¥ forg s a5 srben =Y 8

it gg far s & v o weran &

TR I T ITT

AR T e # ot v e Wi AT A
T T TR P ST -1 SO B ol BRI T

3 e 7

FH AT FHG] S A1

g T wei=r Y g < O W aTd R I 3w adsg|
w5 dl-pft g of € o sam & Ry 2 3T @ SHer W
1 fpag M dle man @

PRGN E

3.fddgaE® g

4 fpag@wAe

ComectAifiSies -
. fEag orFan TR

13) SIS & U5 ol WY T $TH1Y &t
Tg AT o PSR Piaat gg At

8 YEI MU BT Bl HTE 8

a1 IHPT ey

a1 Yee TomT S 3T 9Te g &1 B NgagR
B Ta® &1 TR

ag st 1t firerrar smar & wreA wra @

MYE Wa aY 1 wied arl & oa 3§

@ gHTEME

7 30§ TR P AaFY

T AT § YeHdl §NT TF 3gq
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€ R & W S U |l &

S Wi 2 g e &1 diY ger gan W
S I AT, feraan € SwwT awu

i g St ot

AR U @a 35 e § SHESTIar

DRUIT 1 Bl §§ ST 317 §ial ol

SiTare & vrE o g R gen

aaft grer T B g Surar

FE A T AT R HTEPR BT TR

FlieM agdi @3 3w 2 BT

g aa ¥ forg s g arden Tt R

3% 7 o5 R & iy o W &

TR ST GBT I

SR I amarw # o U faae wre g adt e
7 S0 TR B a1 Io M B ol B

I frwerar it

FHE AT TH ST 91

T T e B ugew R U W AT WA %1 9 SRyl
T FASR Y& TS &) 9997 ¥ sfafvad o o arg feaman &2

1.9 1 we 75 ARiEa ot
2. 570 A &I THl

3. ST TSIl ST o

4. 79 98 Wadr T

Correct Answer :-

. d fg o g Mg ur

14) TSI TGS & U oY W & PTarY Sat
qE SATATS Hex PAR Piadt g3 @

T Y TGS FTBIET HIE &

T 3w Ry

1 T TP RG-S ST AT R T 1 RRdaR
TSI T Bt Wy

T8 At T Frerar ST § Wi S

IS T e B e arl b o §

@ g g

T 30§ HETH B wawy

AT T § HEH 5T UF 35S H

Ta WP B TS B TFH 751 8

S e € gy A &1 i ger gan W
SR I g, fraa € ST aEu

g ag G o

AR W e 43 TTET § SHHT T

URUTT AT WISl §§ SeaTg 1% §ial g3l

HTarTe & T S T et gen

il gEr T @ arew Sumr

T & T AT § HPR T &R
ift-oft a5 4 €1 3 3 & Swer Ay
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g A & o % a5 s 1t B

it g o fF & T o W &

T S T INT

it Iua srmare ¥ S U e Wi A R ¥

T 30 TR B Sl F&H Bl ol B g

R Riperar =dY

THD! A THHT ST AT

3T T v B T T IR S AT 9’ B I aargg|
T U TR B ST A SO B o SR § SN T 7Y qH ST ARy
1. FESTASHUA

2. ST ARG

3. IHET S

4. 9@\ fawad

Correct Answer :-

. Sa@t fawaa

15) T8I TGS & ggH A9 Wi T F1amy &t
qg JATATT Yo FHR Hiudl gg it

8 Y& AP BT el UTE §

ar guet e

a7 Yo gereT Wi ST are gr o1 o1 Rgaer
TG TAF & TR §

Tg 9 I Fremman o § R wE ©

TF WG R B Afea aer & sna §

@ IPTEATR

a7 310 E TR B Aty

Tl T & Heehdl g4 U oFge o

T HIAPTR €1 RIS BT THIA W5 &

ST T 81 R T O U gel §T T
S I T R € oweT aRv

g 9 Aiff@mr u

AR § 9d 45 T § SHBTTEn

TRUT |1 STl §% IoTe 3K grat gal

SHTaTH § ¥R e e et g

it gEr T Sl e T

PE W T ST § TP BT TR

i aeal g1 3 T g sEe Y

g a9 ¥ ferg o o erdben T &

S T o fpe & e o1 W §
T ST GFTIA

SR FaE AT # S U e Wi gaE i g
7 30 TR B 1 S B S B

@ Rpaaradt

I AET T ST 91

foe T W= ) ey R YR W 9T W $ I 9a1sy
W BY & GaTs TIaeR S 1A # Hig [eu® &1 o SHe 9T giee?
1. U TSI
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2. 4@ afysd
3. 39@) fqwaa
4. IHD] Bl

Correct Answer :-

. IS AT

16) 39§96 (@ & 70 Wi smede ad a1 i v diwvrswm A v i s v A d sne f R o un g aga A A A wmm &
fore 1 et o o & et ot $R 7 7 9, @a o o a-wd i R Ty o Wi SE0-3d et & ared A9 T S 8 T o g R e
Y € B IT| T ATHT BT a0 TR B, TR BT a0 FR B, Tl 7 a0 B B | U PiaS b1 qvi oot el A frwr r Aas A s e
THiE e ], P @ WK e ST 8, BUS A 81 o §1 S IR R Frus I, g fhedh @t ereo1 78 e ofik sfifere Sius & R fed @
weryf €Y St we wa g §, forg dewrar A W o) g9 3@ 5 g A oo w0 dicd T 81 ugd 1 g 1% Fag &1 &1 9ga Yo §1 S F Tl
W, TR P SarEl R yar WR R F v wus! & e e ae Sue F S 3 wig s &1 wafiuy @l F wgl 1§ e g 8 S el & Rig o
?ﬁaﬁ;ﬂ%ﬁ%uugz’tﬁ?rmﬁuﬁwﬁaﬂasw,m@aﬁmﬁwmﬂaﬁaﬁﬂwmhaﬂnw—mamﬂ?uWﬁﬁ,aﬂagqumﬁﬂ
wa Rrrs s 21

& & et v Fius Tue Sud ¢hs W €, 79 3 fpad Uew foma §1 wrer TRt 9 oia ot st A oRi Usl €, 99 G §Y Wiy oY & aed
&1 18} o il o wa wHaw IR e Ptas go-a1 el g3 €11 8, 79 98 T30 DO ©F Guayd 18] §idl| 56 PIUs ©1 Y§ 4 $O §E WK W) 56
W AR IR 7 Ble-ag ueht wad B, a5 A7 gy am ok diye fY 1 9% vefig, ner qRan & TR @) axE gR-g3 a9 Siftea 3 gl I g
FRAT Y T B TS0 EH g ¢ 1 FFR oa 9198 <191 @ X WH 31 §1 91, 79 1Y, 349 TS, 349, %S, 993 S ¥ Uehg 39 W Sifed g § Suat
T 3R €1 &1 3fiR b w1a &t wrewe a1 et wliel @ Frag ot T o onvw | wied ¢ a9 el fhAn siftea vefig et i % REl F wr aftvga &
Tﬁ%mwﬁgﬂﬁﬂﬁqé@ﬁﬁi@ﬁ-ﬁwmmélaﬁﬁé@mﬁﬁwﬁﬁﬁrﬁmﬁmﬂiﬁﬁﬁaﬁ?@%ﬁqﬁﬂﬁiﬁiﬁﬁm
ggor |

S f& T Terie B uget AR O 1 WA 31 S gy
uE: Y@ §U Sas H diw usd §7

1. GO

2. WU

3. PR S

4, TR

Correct Answer :-

. GO

17) 3T §9¢ 0@ & 70 @™ snede ad o1 rF el v s A i o su fm A v mAd sna f o Mg aga @ AR Awmm &
e v o R & wret ot ER 7 7S 1, @6 ow fomn an-wwd i e ey o Wi SREa-aEd 98t & ared Ad TSI 81 T SR gune R &
Y B 8 TT | B ST T avf R B, Tell @1 qui T €, Senel T aui B €1 W Fies 71 avi i el A g Fee i R s e
g ) &, dlag A TR a1 €T 2, $US Ae € 91 ¥ A9 TR W s 33, e flt @) st 78 avan o g Ftas ¥ o feft
werf 1Y excitl we W g #, forg wewar A W ) vw 38N 5 g ¥ go w9 wWigd T 81 ugd @ g % Fue &1 &1 9gd Yo B TS & Tl
W, TR & Saral W Syar TR R & B FUe! & U g0 1T Plas & S8 7 gHg S €1 wanig arl o1 ygt 3§ o gu g & awedl & e ad@
;ﬂﬁaﬁ;lgz%lugﬁﬁ%m%ﬁuﬁ!a‘aﬂ‘aﬂiﬁﬁnmﬂaﬁmhmmﬁaﬁaﬁﬁwm%%ﬁn%—@ﬁﬂﬁ?nwﬁ,aﬂagaﬂa'mﬂﬂ
W g W 2

& & ey v @lus GEee SuF ¢S 8l W §, 99 4 fbad gew fema §1 wrer Tl & viw I st A o usdl €, 99 ga 5Y Sy o de usa
%Iﬂﬂﬁﬂﬁﬁﬁﬁmmﬁﬁﬂﬂﬂﬂﬁ-mhgﬁﬁﬁmaﬁﬁmﬁﬁwﬂﬁmlﬁmﬁa&ﬁmﬁwmﬂ?m
wag@rah'\'mﬁz—a‘%’w&ﬁaﬂ%%‘,aﬁ?ﬂﬂwmﬂaﬁ?aﬁm%ﬁﬂmwﬁﬁ,mﬂqﬁmﬂsmﬂﬁﬁm -g(aw' ¥ S I

mﬁaﬁaﬁﬁlﬁﬂ?ﬁ%lﬁwmmmwmwmﬁmaﬁmﬁaw@,%ﬂaaﬁmg g o9 OT oifd e § Swat
2T 3R 81 &1 3R i wra < weae urS et il @ das @t O o onuw | wied € 99 wd) ey siftea vefig it Wi % Rgl & vt aftuga &
@m%mwmammmﬂmmmmaméummamma;Mmﬁmamaﬁvmﬁqmaammm
RERRL |

SR i e i S uges S g T U &7 9w garsgl
T S-4Ee ared 9 g MR

1. 9 g o
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‘FeAH' 36T faQurH SEH |
HICHelH

¥ .
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2.

LT

, TEICagH,

Correct Answer :-

| TEIGHESA

* ofd ofsaar ueen YEHcR FATT -
IUASY: HY: HlFEd Iegan: Rsa: Hi | weher i qeTieRid - ¢
an: Hed i | 3uHAeg: REr oM fdcar eAmEESla ¥/ (uwer
9 Tear % defd - ¥ gica Feudld ? Te:, 9= T i@ 2
IUAg:- & e i@erar gica seaania)
TE: - AT Hleded ded 7 wipesd |
IUAY: - ade HAMA, & =R
3UATY: Widfesd ®E IRE Fuaedd | Siauasd: fedym: o d 9w
TSCAT IG: HHANA - FFYUI THETH g JEuMA | el gied FHoqaryr ?
IYATY: - YAAT THET IR qASH Hw fHem wufd |
6 T Ghea:  AfIaT | @3 AW gled aed | I TF AT AR |
3UACY: U1 $id Fehedl AH e | HiaudEm: Eg@esd: d R d|
Toeal 6 UGHGG - WA HET Hed WA T Ui 3T U ?
gicd Heqafdy ?
frsz:- = warET arEr g gicd Feuand |
eiiea:- 6T 9 3UHIFG caHg o U | Eﬁ?a‘ﬁimﬁﬁ;ﬁl
R IFaaa eaaid |
aqﬁa-g:chwﬁw:?

L TEET

, JTAET

1%@’1‘!@'

, HiFmEn

Correct Answer :-

A+ dedd= ? AATd-
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Correct Answer :-

AT EeRT

L

29) SMTHCTLTCAT Shia eTliehT: Hicd ?

£,

AL

goo

2.

oo
. &

4 lg oo
Correct Answer :-

_ lgoo

) Aergd TaT: AT FAH ?

4.

Correct Answer :-
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.TI?:IﬁTﬁ':

26)

URTee 9Tocdr Yeaed %_g-:sa_-l:cdi gaad -

YA HW: HiFEAE 3TaA: sa: el | weher eiE: qaieRId - ¢
am: Qard “ s | 3uAEy: far oM Wfdcar wmHEESfa ¥ vwer 9
9= TSear 9% FEfd - FA giod HedATH ? T, de: T I ?
3YATY:- A IR Ferar gfed sevata|

T6: - A 3ifadey #Hed A wiHesd |
W:—Hﬁﬁm,mzml

3uAwY: Wiafesl @d NG Fudedd | Hiauasd: Tedsm 9 O e
TSCAT I HATIA - TFQUI THETH 7 Feonfd | +el gicd Foaard ?
FIFATY: - TAHAT AT IS WA o e aufd |

T%:- T giea:  AfEar | c@H 3eAw gled @y | I vd AT T |

I AT i IFear A IWFA | Hiagus: Tawer: d Ry 9
Toeal I%: UGHAed - WA HeW Hed wASH U W A FAH 7w
gfed weaqata ?

farsar:- s varEt arer 9w gfed HeadfH |
o= AT T YA caTHG 7 SMeRrH | e &N AT TT |
Rrs: Irea=rad 3=auid |

3UAY: SuAi e FE waAaafa 2

)« R wAYETR o el A Tea 3fatEH ?

1

2.

IERGIEGIE

2

TareroTeTaer

2
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gt
3. )
4

Correct Answer :-

BERGICEIE

o

28)

geih! Ufdear NG Weaed YEHc Fadd -
VS &N TEUIE gTedT sifafaesa |
TGT o 813 ShTer: 3TTered STEregeT ||
3 Ffae g fadr o wdf o Fegeoa |
T hiAd FRAAT ek T AseIFTETEAT ||

TerresT i s vad ug gEafd |

Correct Answer :-

o,

AT

29)
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g gfdcar 9ea+y Qal'ssagcdi AT -

3YH=Y:  HY: HIFaE edaH: Rea: sl | weher i qeieRrd - ¢
am: Waed “ 3fa | 3uHey: fgar . Afdcar wwErEsia & (vwer @
A gSEar A% defd - el gicd FoudAd ? TE:, Uil T AW ?
3YHY:- A AR HeT gicd Heaana|

T%: - AT Hieded #ed AT TlHesa |

39HY: - add HUMA, & =R

39A-g: 9fafgd @& IR sudead | wfawdem ffadem: 9o d 9=
TSCAT % AT - Gl e 3% JeontH | Far gfead Fewafa 2
3IHTY: - TUAT R IR wAed o e =aaiE |

TH:- OOT gica:  @Afaar | ca#] AW ghed SR | I T AT A
3YHY: dUT 3Td Sdcal TH AT | Hiauded: Gadsd: d T 9
TSEAT 6 UGHAGG - WA Hed AEd A U U AT FAH ? e
gicd Feadta ?

fRrsar:- A var rar g gfed Feaanfd |

e~ 1A T FUHIRG cAIHE A e | Ial & AT Tes |
fersar: e Heaald |

39ATY: &al M Had ?

Correct Answer :=

. Rar

30) a
@ afsear seifafisery aeae T YEHer g9ad -

% Plol: PIfal [HATTOT T G2 Pl SAATTAT |
HEITG T T | i sfa Recd ﬂé‘i_@: I
g+ HTGHG AGd g FeIrad! ard: |
0T GUTRIOT AYT YT o of d=edT. ||

AeHE: Tdq ”ecad |
25 D5 - ™~
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IR E
4.

Correct Answer :-

AR

Topic:- Sanskrit (SAN)

1

' Pk -
| [ |

T |

, e |

2 |
4.
Carrect Answer -

_ HH |

2)

T STRTATE-S-eRe ST A 7 2
| TR

| ARG

3’WI

, RIS FRIR |

Correct Answer :-

| AT

? FRaETE R 3= ?
TR |
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N Craszall
3 \ﬂi y
4. |

Correct Answer :-

| Wi |

e~

5 WAI(: FIZhY A AR -

IMI

a)

| FOROHENGH |
3. f |
. ™ [ ’

Correct Answer :-

.qﬁuﬂmru

Y R e o A -

A o

WER: |
| TR |

| EETEE: |
, TG |

Correct Answer :-
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, A
Correct Answer :-

C HA:

G oF: CE s Mo Pl 1o oo £
1. : ; [

| T i FE -

3. i I

4 A FISH |

Correct Answer :-

FA: |

4.

Correct Answer :-
~
T3 |

) ~
T g & THE: ?
[ L)
1 ' |
Ly
TIROMTLETE;: |
2.
ERUIEYE: |
3.
T
ITHMYEIG: |
4,

Correct Answer :-
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Lo L e Y
EN

3.

4‘@‘3‘[1

Correct Answer :-

.I'cj-ﬁi\ll

o e TR |7 SR RN & 7
R cl

FHHOT |

- FHEN |

T

FalX |

4.

Correct Answer -

O

FRHIT |

" ot ST i R e R ?
| SR |

 HEEEH |

| @S |

kliscucy

Correct Answer :-

R-CULEY
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1

Ve 2R T o 2
| e |

 elifer: |

, it |

Correct Answer :-

_ ElleE: |

) rggmitan gl weThEE T & ?

-
L :l
2 !: :[
" ST |
| A |

Correct Answer :-

[ B T
T THATS BT
3.

4,
Correct Answer :-

| FEETES

9 3 AqS9TE AfeaH: ST9HT H: ?
CIER=CIE:)

1
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B IECEIRE

| HETETCETHT
" Erv ek

Correct Answer :-

TR ICEATHT

17)

qag=al’ ScOH UTg: F: ?
" M|

: «qq |

" g |

T |
4.

Correct Answer :-

. W

18) 'H@Tzﬂ?
20

1.

12
2.
, 18
10
4.

Correct Answer :-

18

19) = =~ fony
A HG I HldYU =t -
EIEGEIRERE

qTadd-HgIeq:
2 ™

b =
cletH Hglad:
3. =

4.
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Correct Answer :-

N .’

lAn-Hgled:

20) & w © ©

ARG Teldh: T ?

FUMG: |

1

| T |

Correct Answer :-

(3 * |
.

21) G
el leedd -Haar< Tiaariear e -

3CJ :

Correct Answer :-

1. 7
6
5
4. 9

Correct Answer :-

7

) FHy A % ?
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1 |
°

|
Q

i |

, T |

Correct Answer :-

%l |

) o
) £3veAT AT Wt T any -

® S-S e RaTaeT yaaT: ?

L

5 TA TR S ST

.
RIERIGEL- R
3

o TFTATCHER AR e

Correct Answer :-

+ —
. "atlnlcHnlAanHeA

26)

l‘m

, FETISATH
RSSEIRIL

3.

FErerr aTerehed I e /5hUT THTe: T8eh: STaia?
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, PISTEET

Correct Answer :-

| AEITIRE

7 STENEE FETH: S & ?

| AT |
| AT |

| BREETT |

= ™ |
4,

Correct Answer :-

Correct Answer :-

T |

29) ~

[T ed Ui % ?
§ qHE: |

2. RUST

3. '-'-l'l'lr'ﬁ'l'l%lzl

, AMRITEA: |

Correct Answer :-
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30) - a = ] a_l_q_ _
_ AfgersaT:
, CEIECIERINIRE

| TTERTTEATSAN:
ATATAEATSIT:

4.

Correct Answer :-

TSN

* et o e 3R ok e st i 2
_ THEH |

, T |

| AT |

, FERTEH |

Correct Answer :-

| ERTREH. |

3

2) © - - n ?

33)

TR[E, RAT9E et -
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-
, & |
n =
, O |
.
L T |
~
, B |
Correct Answer :-

@ |

[EEE: |
4.
Correct Answer :-

| EEE: |

35) = +
'ﬂ‘%llii'SUIFL HAlA e qlH e iﬁiﬂx?

1 T THERTST 3T

N FISTET ST

3. E :

‘ IELCIEEIEE N IBIE

Correct Answer :-

IECIECIERINIUE

i T STEEIE: |
&

1.

,
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T |
, I

Correct Answer :-

Correct Answer :-

[

S

g A R ?
S IR A |
, S TR
| ST P A |
‘Hﬂiﬁzgﬁ@‘éﬂﬁl

Correct Answer :-

4
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SR T A |

* eI 3 STEE -
1. |

)

| g |

. JETHH |

Correct Answer :-

g,

= 1 |
" QQ!aa-

Correct Answer :-

-

i |

42)

ARREAIY, 79, STIaH: -
EN: |
2. [
= .
| St |
, FE |
Correct Answer :-

han
.S |

43)
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‘e S T e ?
15 ml

ST |
2

, g |
, 2|

Correct Answer -

st

" G T T e ?
1. M|

, |

, |

4_?h_°|§1,[

Correct Answer :-

g |

45 [

) -
T BT, HeaTemadaia: SaaT A -

R REEIR:|

2 T TEHATLH,

A =
qTH9 o) e
| A AT AT
) Y fgayq

Correct Answer :=

hoe o - %
EERRRIGNUE RIESE R

* TN T S T -
1 t‘\l
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[ b O B ﬂ\ [
.8
e
JHHAR |
3
= ﬂ (et |
4.

Correct Answer :-

.w‘\\ﬂr\'\l

P rgreasty Toae wieale=ag: & ?
| il 1Y |
, = ST |

=

e |

~

4a:|?r=e-ml

Correct Answer :-

Correct Answer :-

49)

L Lad i
ATSETIHT <T2MAh: AAH -
i ﬂahz IGH

2
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* TR ST OTeAT: T el @ TAT ?
L ﬂpr?_
CAIES

2

, o7 i
EEEAGR:S

4.

Correct Answer :=

=
o

51) .~

arg a6, ?
1 BE: T T5Ad |
2 B TeY 95U |
3 BE: Te: TSI |
) BEN: T+Y oI |
Correct Answer :-

BB T T |

52)

DIhRATHU] e SR THET: A T39d ?
& |
1.
&2 |
2. e
e |

T |
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Correct Answer :-

gl

) 3¢ TRy SaH -
| it |

2. ST |

3. R I

| AT |

Correct Answer :-

| R |

55)

IGE

19

g

2

IERIER

3.

, 39

Correct Answer :-

ERERICE

Ty Ueh: SeRSTad<h: A -
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* fafrerdaer qEwer: T atta?

IR T2
. {IRSEC A LS |

| AT

" i Sore TR R 2
| R HI: |

2 THE T |

. T I |

¢ it |

Correct Answer :-

) qaﬂELWﬂEh |

) - -~ .
‘AFhSNH T (U2l [hH?

| T Fo N |

REECEC TSI |
| T TN |
4 T FSNH 3T |

Correct Answer :=

T3 59 FONA |

et 1A e v 5 SuETR FEg Igad ?
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| o |
, JosHId |
e |
. T

Correct Answer :-

it |

® it At ey T frfEmes: R et
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PROFESSIONAL
8 Pt EXAMINATION BOARD
Ebggoorpdmotion Middle School Teacher
Eligibility Test - 2018
17th Feb 2019 09:30 AM

Topic:- Child Development & Pedagogy (CDP)
is associated with retardation in various aspects of development /
ﬁwm%ﬁfwmaﬁﬂmﬁﬁ%l
1, Medium Intelligence / HEIH §ie
2. No Intelligence / ﬁ%@@ =ra°t
3. Higher Intelligence / 3T §@
4, Lower Intelligence / qﬂ'@@

Correct Answer :-

« Lower Intelligence / HG @ﬁa

2) In child centred education, what the child has to learn should be / ﬁ'ﬁf—%ﬁﬁ ﬁl&l’l’ ﬁ, G|

B 5 Wia=n 91T, 98 AgER sie-r aeu:
1. Judged through activities Afafafedr o wreH I
2. Judged by the scores of their test results/3-Tdh GRI&T URUTH] o 3fehl I

3. Judged according to the ability, interest, capacity and previous experience of the child /o] B

A, S, &var SR Usa SYa & $uR
4. Judged according to the previous experience of the child /A & fUsa Giﬂllﬁa? SR
Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child Kl

T, S, &mdr SR UBd SFYd & SuR

3) Child centred education typically involves: ) T fsa Rrem & mA IR W A= 2
glar g:

1. on the spot assessments/JRd W%WW
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2. no Assessments/®1g Hedieh Tl
3. more summative assessments/ 3P WH@H’FT

4, more formative assessments /3¢ TAATHD Jedih

Correct Answer :-

« more formative assessments /3{{%d TAATHD Jedih

4) Which of the following are features of progressive education? / ﬁ'ﬁﬁf@ﬂ' ﬁ'@r aﬁﬂ-@ﬂ

Wit fRren @1 faaans §2

1. Instructions based solely on prescribed text books /Acer waa M Ww R TR
g &l

2. Flexibility on the topics that the student would like to learn/3 [} TR =aT (Feifaafafereh)
i BT Hie 98 d 5 |

3, Emphasis on lifelong learning and social skills/Sifa= T FTH 3R ATHTRE BN 0 SR
Call

4, Emphasis on scoring good marks in examinations/TRI&T3T T 3w 3@ T TR SR &1

Correct Answer :-

« Emphasis on lifelong learning and social skills/STiae T ITTH 3R ITAISIE HIR TR SR
CEIl

5) Performance intelligence is measured by: / U §% &I 1 & gRT ATaT SITa %:
1. Verbal Ability/ FIRI® &fd

2. Comprehension / HHS]

3. Numerical Ability / TRATH® &HdT

4. Picture Arrangement / I3 a1

Cbri;éct Answe"r :-

« Picture Arrangement / ferst sgawan

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U Il I THIAT & U H 30D AT A UG o AHdT1 g 1" Tg
HY forw fRigror fRrgia w smutla &

1. Instrumental conditioning / E@Eﬁ GAARIEE
2. Insight Classical conditioning/ 3{def¥ RRUTART UG (FTHEC AR dHa =)
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3, Trial and Error/ 90e1-3f¢ fafe
4. Classical Conditioning/ FRRUATNT UG e (TR da =)

Correct Answer :-

« Classical Conditioning/ RRUIITRT UG (Flitida dHa =)

7) The word ‘consistency’ is associated with: / ¥Teq “HATHTE” E'Hﬁ Taftra 3:
1, Personality / Hfgda

2. Attitude / FHIGIRI

3. Intelligence / g@'
4, Motivation / URUTT

Correct Answer :-

« Personality / fdda

8) The prejudice against a person on the basis of sex of that person is s wwﬁr%

R & YR R, 39 =afed & faaTw gatug (vamm) gargl
1. Gender stereotype / AR Tgeigdl (S8 TIRGCZY)

2. Gender bias / iTds NEHTd (SIS STZ43)

3. Gender identity / W1 UgaH (SIS 3R Sfadh)

4. Gender issue / TiRTeP T (STex H&T)

Correct Answer ;-

« Gender bias / AT HeHTd (GSX STS3)

9) The smallest bone i.c. stapes in the human body is in the car. /A9 YRR # qad

AT TN RIAPIHEAP gl 8l
1. Inner / 33
2. Middle / g &

3. None of these / E:Iﬁ q aﬁs‘ :IE?T

4, External / dlgX

Correct Answer :-

« Middle/ S #
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10) The last stage of psychosocial development is / HATATfo faeT @1 Sifew TRUr g -
1. Identity v/s. Confusion / Ugdl- d4TH YUH
2. Trust v/s. Mistrust / 9%/ S99 Sffagy

3. Generativity v/s. Stagnation / SGRd[ d-TH &&[d
4. Integrity v/s. Despair / 3RESAT ST A==

Correct Answer :-

« Integrity v/s. Despair / SRgEdr g9 AR

11) The study of same children over a period of time is known as study. / Uh

ﬁﬂﬂ’%ﬁﬂmaﬁmﬁr%mﬂmﬂﬁﬁ%maﬁ A & Y H S
a1 B

1. Longitudinal / 3G (@=Tclga)
2. Cross-sectional / IR G (ﬁum @EWFIT'T)

3. Latitudinal / 3T&2iT (@ctegsa)
4. Experimental /m

Correct Answer :-

» Longitudinal / ‘}ﬁ%""ﬁ EIRIEEEN)

12) Which of the following is a limitation of Eclectic counselling approach? / Fafeifaa i

F- weurRite Wt e RHv GEifdes Sreafn v S A g?

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach /

0 IRIR] EDH I &1 TATHD =T ! FHaRa HA & o sraftie S=ra wmRierdrsdt
DI gDl Bt 8 |

2. more flexible approach of counselling / RTARf o1 3ifiE gﬁw BECaL
3. more cost effective & practical approach / TTIPH YU 3R HTTGIND DI

4. more objective & coordinated approach of counselling / TR & 3T 8T 3R THfad

Eicau

Correct Answer :~-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach /

S RIRS DD B TS AR &1 FEEd B & [T i HRa WRERiardrsi
B} TS B B |
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13) Which of the following is the best way the teacher can guide children with special needs

in school education? / FFETIET & A S9-T1 a8 2 ord f R faered fRren &
o=y smazasarsit ard a= ®1 AnfeRe R gPd 82

1. Give higher challenging tasks / 31fid cigol T T
2. Give more tests / 3{e/@ TRI&UT &1
3. Providing support and tips / TN 3R BSEUE] G4l

4, Provide more homework /3{f&/& ‘jécblqr Ul hIAl

Correct Answer :-

« Providing support and tips / TgUNT 3R gid o

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of

needs? / AT ® @ HI9 1 7R F Mg Earsi & USHHH § FEad $9 i
STARIH T FT UH IGTEIVT 82

1, Esteem needs / I &1 HIGhdd

2. Self-actualization needs / ATE-ITY P AT H AT

3. Safety needs / YX&I @I W

4. Love and belongingness needs / TR ud YU BT TG H A

Correct Answer :~

« Safety needs / GR&T &1 HTAIHANY

15) Which among the following types of intelligence would be most used when trying to

navigate through traffic? ;ﬁuﬁrliﬁaﬁﬁﬁﬂqwaﬁqﬁmmﬁﬂ, raraTd & HITH
W Afie B Bt BRI Hd T fFHar s

1. Naturalistic intelligence fﬂ@ﬁﬂﬁ@@
2. Spatial intelligence / EJIIBCY Ej@‘

3. Interpersonal intelligence / fddafaas Tg,’ffs‘“
4, Emotional intelligence / HTGHTHD Sl

Correct Answer :-

« Spatial intelligence / RJIIBE g@

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / T T=i! B & Tl IR & ¢ U R Brardr 71 5w gedieror s
P IUANT foham 5T T8 82
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1. Variable ratio reinforcement schedule / AR S{JUId L CACR| W
2. Intermittent reinforcement schedule / TR ﬁ%ﬁﬂm w

3, Partial reinforcement schedule / 3{TTRI& WUT W

4, Fixed ratio reinforcement schedule / 2T S{HUTd WUT &W

Correct Answer :-

« Fixed ratio reinforcement schedule / 2T 3UTd eIl 3g!

17) One of the characteristic features of a Constructivist unit of study is that: / AT DI

TS YTATHBATAIE SHTS B T fa=ivar a8 § fF:

1. It starts with what children know as an effective departure point for the lessons. [ZhDI R[> 3T
39 Bid § [ 7= ure & fore U gt v foig & &9 o o ]

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STTd (C¥€)

3R Frgd &Rt (3RTgHC) BT I Had MY Wi T DI o1 Mpa A1 8l g |

3. It is propagated solely through teacher instruction. /4% I];Uf&:l: e & P & Tream
TR fohar ST & |

4. Asking questions is discouraged in the learning process. / Y4 Y-l 3T B Ufchar o
gdidTied PHRal gl

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /3P R[>3ATd

39 B § o 7= UTs 3 e U i TR g & U o S

18) Reading skills can be best developed by: / Yo+ DI BT 39 UhaT GRT AT 33T
e fawfRye fovan o Jear &:

1, Writing answers / 3R for& 1

2, Playing word games /doing quizzes / g T W/ faet e

3. Focusing on the use of words in the text / UG T Weq! & IUINT R A dbiad BT
4, Doing vocabulary exercises / ecTaa ST HAT

Correct Answer :-

« Focusing on the use of words in the text / Ulo T g o SUANT R & digd BT

19) Irrespective of the kind of impairment, all children are capable of: / [ el TSR BT

udar & arace, it = Fe A gem ea §:
1. Movement / EW’ief
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2. Hearing / g1
3. Learning / BSRCE]
4, Seeing / GRCE

Correct Answer :-

» Learning / BSIRCE]

20) What are inborn patterns of behavior that are biologically determined also called? /

AER & THWTT Ue ot siia-faqie & SER iy gid ¢, 3¢ ag Wi e 9 &:
1. 1d / Ug9H

2. Drives / §15d

3. Instincts / HgSl I

4, Intelligence / @@ﬂﬂ'{

Correct Answer :-

« Instincts / He 9l I

21) What are the symptoms of Post- traumatic stress disorder in children? [a=dl # uy-

3TYTd 919 fAPR (TR emfee ©H feuaiie) & s« g2

1. Avoiding places or people associated with the event./ YcHI | @%F—TFH’JIT SEIEEES

2. Having to think about or say something over and over. / dIR-dR <3 Ghtia':i qI 39 IR H

T

3. Not have an interest in other people at all. / tg{-N\I' e f&cgm Sk 6\I'-Il

4, Becoming annoyed with others./ gﬂii RIS BT

Correct Answer :-

« Avoiding places or people associated with the event./ YcHl q G\],%?—I'F'htﬂ SIIEEES!

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / 59 UPR 31 ﬁlm g U d pdl % & RemITde )
AR wan & &Y oft9 & wmeny & 9= 82

1. A deterministic theory / Teb fafddre Rigid
2. A social theory / Teh TSI Rigid
3. A nature theoryf@%ﬁﬁv' Rgid
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4. A nurture theory / Uch Ure-uyor Rigid

Correct Answer :~

« A nature theory / Th ﬂ'@ﬁiﬁ Rigid

23) What type of thinking is associated with creativity? / g ypR @1 fRiaq ?FFI'&’ﬂ?IT‘IT 3

Hafira giar g7
1. Convergent thinking / 3THER] Hidl
2, Divergent thinking / 3{cTi1 qa

3, Insightful thinking /3{Te(Y T (STARCH AT
4, Transductive thinking / IRAT® T (c gfdea fRifdm)

Correct Answer :-

« Divergent thinking / 3{TRT 9Id

24) Who introduced the theory of Universal Grammar in language development?/ HTHT

e A gfasda aR & Rigia @1 feam 92 fean
1. Piaget / 0TS

2. Vygotsky / ATt

3. Skinner / PR

4, Chomsky / EIERical

Correct Answer :~-

« Chomsky / BIEEsCdl

25) Intelligence is a product of both and environment./ WT, 3R

TYTaRoT G4 &1 T IS ¢
L Cultureiﬂ'@ﬁ"f

2. Community / JH&Id
3. Heredity/ 3{TJdfRIemdl

4, Society / JHINS

Correct Answer :-

« Heredity/ 3{TdRrehdl
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26) The Minnesota Paper Form Board test is a test which measures one’s

_ . THEiter TiR B 91 RIS, U U g o [t et S WIgan gl
1. Verbal Reasoning/ A& db

2. Aptitude/ 1T

3. Personality/ e

4, English Skills / 3{USTt IR

Correct Answer :-

« Aptitude/ TGl

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / Th Eﬂﬁiﬁtﬁéﬂ'ﬁ" %mmqmﬁwmﬁ%
fere fafirs yomeht @) 10 B34 & fore FeTwaT 31 599 g1 v A Fufafea S #F
T STURRI RIS §H1?

1, Evaluation /H\Fqiav_"[

2. Convergent thinking / STURY fia
3. Divergent thinking / OYRT e

4. Learning / 3ffERTH

Correct Answer :~

« Divergent thinking / OUR] fdaH

28) Classical conditioning was developed by: / FATRIG A H-oIRI+1 (FeRufafa
WG o a1 WAt ey i & & frass g1 fawRya fora man :

1. Bandura /a?fv@w
2. Pavlov / UTddIg

3. Kohler / Ebﬂ??l?
4. Piaget /fET"JI'Iﬁ

Correct Answer :-

« Pavlov/ rgarg

29) Selecting specific stimuli through sensation is a characteristic of: / HagAT & HIHH A
ARy SEiua &1 aa7 &1 B1 sftraenr 2:

1. Attention / 3{d¥T+
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2. Critical thinking / T8+ fdd
3. Concept / SAYRTI

4, Perception / qry

Correct Answer :-

+ Perception / qry

30) Animism is the belief that everything that exists has some kind of consciousness. Which of
the following does not describe the idea of Animism in children at the pre-operational stage of

development?/mﬂgﬁm%ﬁ?\?ﬁw aﬂtﬁqg%a‘ﬂﬁﬁo—d’rwaﬁﬁam
%ﬁ?ﬁ?aﬁﬁwﬁmawﬁ-mmwwﬁﬁm%mmmh
BT 82

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./

gwﬁwﬁﬁmﬁaﬁﬁwﬁﬁwﬁw%@@wﬁﬁaﬁm
|

2. A child dresses up as ‘fireman’ for a fancy-dress competition / Tt 3? gfaaia & fow v
S BIRE & &0 H JOR g 8

3. A high mountain will be thought of as ‘old’/ U & Udd & YRTET HIET ST

4. A car which won'’t start will be described as being ‘tired’ or “ill’/ U SR oy = :I—bpf%*':ﬂ
SITUT Y YT §3HT T S HR' Sl Se|
Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / Tt ?‘;ﬁ ufcaifiidar & fou e
o1 BRIREH % B0 § TR BT 81

Topic:- General Sanskrit(L1GS)

" safd T sy e & ?
gFsafd |

 #af |
| #afd |

o7 |
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Correct Answer :-

? ToRfEAsT UeT Hfa aem: fea ?
1 U>dGRT |

zagéarl
_|ed |

\ 3CCIGRT |

Correct Answer :-

¥ v eeednt & faefad: e 2
lagraﬁl

ZZFI'W-I?fI:TI

WG

, T |

Correct Answer :-
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) . .
TN Crs WT%IE?T_:; 5T GA UG fhH ?

Tcall |

1.

Ucel: |

2.
3IE:ITFI
ald: |

4,

Correct Answer :-

N |

Y orvHE U F?

) HEHTOT: |
: AT |
, A |

, Goedn |

6) +
ATASITT ScTET TAATARIGTRT The ?
IS |

1, o
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 30TeSd |
31’ |
4-5""|

Correct Answer :-

.?m‘i%rl

" forg aman: T uead w9 e ?
| fer@fcar |

_ fei@car |

g |

, o @car |

Correct Answer :~-

- i gcar |

MK CIGIE S-S JE-qEIITw fohaf ?

387aH |
1.
3787 |

ol
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HAdod |
4. i,

Correct Answer :-

figrae scaed faagaey fohe ?
g sEEt |

faar gut 1

B.ﬁam:aﬂirl

 foteT et |

Correct Answer :-

fHeram: 3Ea |

* AgreaTAr i ueEy e fahe] 2

AGEI (A |

9)

1

HEIET A |
Z;
HerEaT#d: |

3.
| ATEAIAA |

Correct Answer :-
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HEIET A |

1

arefarfaecaceaTd |
) i i

TehiCdlGAH |
3.

aréehdiget# |

4,

Correct Answer :-

IR CIEICE el

SEN
3.

qa |
4,
Correct Answer :~-

BGEN
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3rscqer sfa ereg eedd |
1 3ICCGRT |

) 3ISCTGRT |

, GRITSC |

4 3{Sccem: |

Correct Answer :-

W HUTRY SeIEd quile] JUsh gud forad |
UYL |
1.

HAFTHTHT S T 3|
FLLALI LM |
3.

% LU YF I 3T
4,

15) e
STARSAAT T ?

| ST |
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ST |
3. | |
, STeTT |

Correct Answer :-

ST |

16

' gHS: 3EY USET 3T & ?
l%—aﬁvﬁ e |

TR |

2

TR TAE: |
3.
ST |

Correct Answer :~-
Ul TEHE: |

7 g¢32 3fa TEaT wse: formd |
_ carrACeITTSeTeererd s |
 afafrEfewTsegereras |
 GEITRIGTIISTERrerds |

Page- 17



caTTARIG Meehrsereras |
4,
Correct Answer :-

CATTRIGTEIRTSCIGRILAAH |

T |
el
caTear |

Correct Answer :-

o |

C
2

I |
3, ©

4,
Correct Answer :-

od |
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1. e
TacIe_: |
2. .

CEUICE I

3
[ECRIEIERN
4

Correct Answer :-

'l-ac\jllc»iqz I

21)
3&eToc T ST UcTT: F: ?

QT |
1.

Sl
2.
& |

oAy |
4. Yy

Correct Answer :-

Page- 19



 T{EAT A gal el a7 |
 USIEA A Gdl vall st |
3%13—*&331#@tr&1‘?m&r:|
4:mﬂlﬁaﬁq&ﬁ8ﬁﬁ: |

Correct Answer :-

 UR{EHA AIH gal uail ead: |

, T |

S HETH |

9707 |
1.-3
2ﬁ'\':l'cl‘rzl
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Sccd: |

3 2

dcd: |
. s

4

Correct Answer :-

4,
Correct Answer :-

 gied |

26)

JdGUcE erd: e ?
RCCE
3, |
2.
dre, |
3
ad |
S

Correct Answer :-
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7 o Qqnﬁ:dﬁﬂ'l\ FRT ﬁ'g‘UT: —

3 |
2.E:r:|
_3TTEd |
4I3Ti:@:fl

Correct Answer :-

 3TET |

® FIsgH ScUTT Al-ufaTog Hec |
1la$r+?.?=[l

P + 37 |

@+ |

\ o+ 3EH |

Correct Answer :-
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3.
SIEETIE]
4 2

Correct Answer :-

" ATy HeAe Fd T

1 gdodhdl |
farfererat |

2

) eHed-®adl |

, el |

Correct Answer :-

Topic:- General Hindi(L2GH)

1) Tt STl g5 STUGT BT HIGHT U1 G S PRI & ISR | &I TP YHTR BT AT Ual WYH-PRP
TSR gia1 8, S B YT Fed &1 HIY §F $ BRI TR WHTT ST & T AHd Hal 8 i Ug TPt
g9 | 18T 811 & U1 H1Y g8 & BRI & W@ uaiy & {51 781 giar1 afe g9 &1 FR1 39 g1 iR 98
|HN S b SR IH-gHER g& Ugar 7, aWft sy g1 R Wa % e s o1 fAfdse g s
Y, 3T R WIGH B AR b @ an w1ty uganh ) af e waifandt it ifar @ o2 b e greR g1Y-
Ufq ge S aY S HIY 7 TET; ¥4 BRI TR S A afe B g 3] $E [ he SB-IGH TR
FIY-IR A8 ST Al 98 gRa | Sgade Ho i i § §19-1R 2 3 "
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H &1 fawg g =ui & IrE= 41T § - ey WU § ok uren ¥ #)| srned fawg ag § Rrwer el wae
BRI FaRT 3rUT B a1 YT TuS US| 919 Ay 98 § o wae §RT g f3ar ar Yakan o1 Gaar g1l &
IS U U1l Td} & fhI 33 1 317G | aTaeid o aa off 78 41 5o & A 3R B 5e1s IS Ut
Tfg 3 S SoBX UM, f5T a1 Us W T 31T &1 vaeT B ) 99 Thd & | f9wg & e o eRmeg g1 3t
o RS &5t fataar & s dt gt €t § IR 9gd 30 a9 & wpfa wR Wt sradfaa wadl 81 R &
PRI BT I 511 W STt sifrardar &1 Fag sroht frazmar ar sigrmar ot sqyfa $ srRu glar 81 alk a8
IFYF PIETEET 3R STURIE} BT g8 B B SR TTHIEH b U S SR Eid 8, a9 A Widd g
STAT & 31X 39D grU-Uid 81 o A | W B f3e &1 a7 Argdt 3ngHt g ol Sied! S g} 3R sar oft
2 @ AU PR U TIE F I H A ST 1 HY ST WHTETE B S 2 qd SR g1 Hiwdr s 8
3R U S |1 ST €, faRva: gl ® | & 3 ofied ot S dven & HE 8 IR & w31
avg &1 B 1 goul @t vt @t gt e gt 81 3w 9 usan & o 959 R 9 @ geul A 9 51 &1 5@
A Yo 21 WIaT & WIS Sragal B IR e B Tazaehdl 3R U Wfdkt BT Sifa=ary wenH g1 =g &7
AT F A U P71 ARTg g€ giar € 76 wrmarar aive dier 7€) ag goar aht el wifda & gt
39 o1 ¥ Uil 38 71 fazar 7€) Taar| g8 o agd Wik °ret $) fvar g5 1 SftaT & 3R 3Me aargRy 7
oft oftwar femrs 3t 81 orderf & yg A 9ga A st wuli-w i fedt fasie sxavwma & g1y =18t sTad, v
T ¥ YT A 9ga A ufsa et wrard A de | B

SUad T P UgHT H1a I T WY HT I a1ga:
W=: UG 1 g fram i & e smen 82
1,9

2.3

3.U&

4,

Correct Answer :-

. @

2) Tt STt g SMTUST FT HIGHT A1 §E & HRUT & HIHTHR | o TP YHTR BT TGl 37al WH-FRE
TSR §ia1 3, 3! B W F5d &1 HIY G & PRI UR YHTT STa & T apa Heam § iR W SHS!
59 ¥ 91N 31 & W 91y g & R & Weualy & 3 =16 g ofe g &1 R 39w g ik 9w
TAT SN 6 WA IH-951h< & Ug g &, a*ft HiY 811 R ya & R sror o1 e gibr ot
TEY; FAT YR WIS §1AT AfeT b g a1 g1ty ug | afe w1 suifodt feft Faw & o8 % wa gon g1y-
uiq ge SR Y S B T ATE; W gR| IR IR | AT F G7RT MR Fg 15 Fa AH-3qF TR
BTY-TR 1S SA <t 98 R AN Tgas: Se 1% "HIF § B1Y-IR disaara? a@ ol

yg &1 fawy g1 Sl F [THA 31T § - 3T TU H R A U §| sRared [y 9 € e bt vas
R fFaRor sRiva 81 a1 SRiYT WY US| Wi fawy 98 § St wae gR1 g far a1 Yakar 5 awar g1l &t
T U YETS 1ol F [P 93 A7 3(1+ig | T a9 9138 41 3o & o 2R P 3818 AT US|
Tfe 3 S SoHR YA, T a1 U8 W e 3N &1 vaet &Y o) 99 Tobd & | fIwy & a1 a1 sy 811 3t
o oRIRITY B Rgaea & e df gt § @ IR 95d $© 79w 3! uepfa ) oft sradifed T 81 R &
PR BT F 811 W IS ! ffrardar &1 freey ro=t fa=rar a1 sierwar &1 srpyfa  sRuU gl 81 I a8
sﬁt@aﬂ%ﬂm’f Y SR B1 g HEH & 3VITH I g P UG & SRV gl €, il A wifdie g

3R IGP BIY-UTd el Re 9P| W B e &1 a7 Aed el ugd ol Siedl ST 78 MR g3ar ot
T W TS B AU TG & I H O ST 81 HT TG SGUTIA 81 Sl § o wravan a1 Hear dgarr g
SR YT gy JAT W 7, fasiva: gl §1 5t o ofiear 9 S99t aven & TEE 8 ST & AR Bt
a%g 38! €1 goul @t ofiwdr Bt g Her gt @ 1 A oI usan @ b agd R oA | goul A 9 599 &1 ST
o Yo ¢ | WIvaT & Walee Sragdl R HeA &1 azachdl 3R 3u-l xifad o1 Sifawary wur 81 g &1
AT A A WA 1 ifwma 7€t gar & 6 wrmearen IR dier 76t @ aear ol oo =S & g
I WST & U= &1 BT fIxaTe 781 T@a1| I8 | 9gd YR °1at 31 HHedr g5 1 Sita & SfiR 3® IRl |
it Wear fears T 81 arferf™ & g @ 9ga | smurd) it fbedt fasie saawma # g1y =18t s1en, W
TR & YT 9ga @ tlea sll-e i s A g R €
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IUYRT TR B Ugdhs A1d D T Y BT IR qa1g4:

T=: PTIRT B A9 =0 s g1 4Rt g 7 o 82
1. feai o

2. e H

3. N o

4, Ulet o

Correct Answer :-

3) Tt ot g€ snmueT &t W1 91 3@ F FRUT & WETHR A S U TSR BT ATITYU! YT WH-FRE
TSR g ¢, 3 P YT Fgd §1 HIY g F DR TR YHE STa F T 3gpa Ha1 § 3R wa I
T3 A 981 81 & R 1Y 59 & RO F vy & A T8 8 aft 3@ &1 sror 3= g ik 9
HAT e 6 TH TH-gFeR g9 Ugardn B, @ By g1 W WA F g wreor &1 ffde g s
TeY; SAT WR HIGH g11 A11¢ b g an g1f+y ugant ) afe 1 saifadt freht TR & &8 6 wa ger 714
UTq ge SR A S B T SATEM; W ERI| W IW | Al IE IR AR e b e AGD-AHD TR
T1Y-IR s 7 Al 98 qia ) Sqas? Fa fF i § B1U-IR disaTa? 3 |

ug o1 fawa g =ul & 9re STt § - oy ©0 7 ok Iren w0 #) oraren fwy g @ Rraer 5 waer
TR fFaRor sRivaE 8 a1 SRiYT WY US| Wi fawg a8 § S wae g1 o) fSar ar YeRar &7 wear 811 &t
T U UgTS! 1dt & PN 93 7 31+ig & araeid Hd 9 AT e A1 gad o T 2R i TgTs AT Ul
Tfg 3 3N IeHY UM, 5= a1 Us W e 3fe 1 yas &Y o 99 T 8| Fwg & arer a1 3 s 811 3t
Yo TRIRITY B fawar & SgaR o €t € 8 IR 95d 99 799 F) Upfa W oft sracifed W 81 W $
FRUI HT I G W SHDT Sfardar & FH=ea =it [T a1 siamer 1 3yfd & FRUIEIA 71 Ife 98
Syfa wfeTgal ok smuRRral &Y g FA & AW 1 WTe & AU S HRUT g1l 7, 9 I Tifa g
STAT ¢ 3R IS grY-uia 78] R Gpd1 R s 3w o1 a7 wrgdt sngdt ugd oY sied) et e ok gwar oft
2 @ FHa X AT FHUTE H IYNT I ST 1Y STF YT 8 el € a9 Bravar a1 Wiedr seerar 8
SR YT S WA e &, fasive: yul #1 i o ofivar 9 St doen & THH B DT & AR B
a5 T 81 goul @it ofiwar Bt gl e gt 81 T o usan @ % agd M oW | gel A 7 59 31 3@T
o T g1 e & Taiore Sfaudl B ool e @ STaRaddl SiY el Wi o1 sifazary ver 71 ;g 3
HIHAT 3 & WA BT IFUTg T8t gtar & 6 wrmaren IiRe dier 76t @ qear ash oo =iifda & gr
I WS Srusit X &7 e ) @ | Iz |t agd GRt aret 31 fedr g3 1 Sita & ofiR eM® Rl |
Wt Wiear fRars TR 1 erderf & g @ vga & s Hft-wft fref e soaama § g1y =18 sTen, W
T & 4T A 9ga § ifEa st e Irerd | ge W g

IRt TR BT UgHR A IS T WY BT IR qaisa:
ge: fawg & e a1 ST B 9 YRon fhae! fAgiver & SR ekt 82
1. uRRfRufa
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4) T3t 3Tt §3 STUGT HY UG T G B PRUT P AP | Sl Teb YPR DT ATl UGl Wi H-H RS
TIRPR 8T 2, S ®) 4T $d &1 1Y g& S PRI TR UHT STa & T TPl BT & 3R WY IHP!
TET A SR 811 & Y1 1Y g & SR & Wevery ¥ 31 76 gan) aft g &1 sRor A9 g iR ag
TAZT SN 5 ST TH-931% & Ug gl &, a*ft 1Y g1 R wa & e srur &1 fAfdse g st
To; ST WR AIGH §I41 A11o¢ b goa a1 31+ ugantt | afe 13 suifard} freht ffar & &g % oa gwer g1v-
Ui ge S @t S Wi T SHTE; W g1 W St 9§ afg @15 guRT SR o f$ od S@-ofe RN
FTY-IR 1S i dl 98 ga AN SgADR HR % "I § g14-IR aArgard? a i

ug &1 favg 3 =uf F [T 37T - o TU N R urem ¥ § | eRwren fywy 97 ? e el vaer
TRT FARUT SRIYT 1 A1 SRYT WU US| W1ed fIuy a8 & i wae gRT g¥ far a1 Yot o wahar g1l &
W U UBTSY 741 & fpaR 43 TT 31ig | araia $ea ad o 78 U1 a9 A 9T IR B G8TS GATE US|
Tfe 3 I IeHY U, 50 a1 U8 W e A1 BT Uae & ol 99 9P ¢ | [ATT & Tred a1 [ e g1 3t
o R Righaar & SR df gt € @ IR 989 $© 99 1 Upfa ) N seefia | g1 | $
SR BT 81 R IUPT Afrantar &1 ey aro=ht Rawrar a1 siamar ) syl & sRur a2 aft 9
S BiETEAT R MR B g FIA F VI T WIEH & 3UTT b BRUN Bl &, ° IS il gt
SITaT 8 3R IHF §1Y-UTd 1ol e gd | W FS e o7 a wreeht st v af St svar e ofiv Sven oft
B A T BT 3UA TUIG B IUNT A I ST § | 4 STd TG §1 STl & aF Sl a1 Wedr sedr &
SR YT W= e 7, fasiva: el #)1 &t o fiear @ S99t deen & TuE & D! & gk Bt
g TS 81 GFuT BT ofiar 1 gt e S €1 T 9 usan @ % agd W oW @ gl S T 5 1 3P0
A o 21 WIaT & OIeTe Sagd) B TR HeA ©1 Taxachdl 3R 31a- Xifet o1 Sifazary wur 81 g 1
HHAT S A HRH BT U T8 giar & 6 wrmarer aiRe et =8l w8 gear avft eroeit wifda & grr
I Wit F o+t T4 o fazare &) Taar| g ot aga gR are $t fedr g3 sitaq & SR sMe amRl |
ot sfear femrs R 1 erferf™ & wa @ wga & armurd) saft- el el Ry soaama § gy =€ Sren, wr
TR & 4T W 9gq § i Fuil- e Ierd A de W €

ST TR Y UgHR - I T U &7 IR ga13a:

W 9gd I fed e v 3 e 3 ot R 32
1. IMEASD

2. A gH &

3, foddt 9 =78t

4, WATHA D

Correct Answer :~-

« RRAEH B

5) 1T STt g STUGT H1 HIGHT U1 G & PRI & HIHTHR | Sl TP YD BT AT 32aT RY-FRS
TIPSR gidl 8, S P YT Fed &1 HIY §F P BRI TR WHTT ST & T ATHd Hal 8 3R U TP
g9 | 18T 811 & 001 F1Y §F & SR & WUy & {51 781 g1ar1 9ie g &1 HR1 39 g1 3R 98
ST ST {5 I -GG} §@ Ug AT 8, a¥ft By g1 W Wa & forg sror o1 fAfde g ot
Y, 3T HR AIGH g =R % g an w1l ugAh | af Y waifndt it 1far | 5 6 et gR B1Y-
w‘i’a'%:e{aﬁ’ﬁ"a’raﬁaﬁﬂqerr@rr; YT N1 TR S | T BIE g SR T 5 - H TR
FIY-UR A1 3" 1l 98 TR AR] TEADR HoT [ P14 ¢ §14-IR disara? 3@ qmi”

W B fwy 3 = A FIH 31T @ - 3 TU H 3R A 9 §| 3Rarey vy 9% § Ry et waer
R faRor sy §) a1 SRiHT TS US| 91ed fAuy 9% § S WaeT g1 g¥ f%ar a1 Yakar o Sear g1l &t
T U UBTS! A4} & f5R 4 TT 3Tig | aradid $ea 9ot o 78 &1 a4 A 99 IR Y G8TS §ATS Ut
Tfg 3 A FoBx UMM, f5T a1 TS WR Te 31T &1 vaeT B3 ) 99 T ¢ | v & aren o1 3Rmed e 9t
YTROT URTRYT 31 FIRivan & SR a1 81T 81 8 W) 980 $© 7% 31 Uoia R ot sadfad Wwdl 31 | &
PR BT I 811 W S9! ifvardar &1 fFrzag sraet faa=rem ar sigrar &t sryfa & srRu gl 21 afe a8

HdTEal AR ATURIG B g8 HA T AW U1 WET S AUTT $ SR gl 8, dt 7gea wifda g
WA @ 3R 3P BIY-UTT 781 R IPpd | R FS 37 &7 a1 are et ugd af STest 3 781 3nv g2 ot
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SR YT gy |rAT Siren 7, fasiva: g #) el o fiear @) 391 desn & 99 81 ISt & Ao ot
5 W& 81 gl @Y oftwar Y @t e S §1 ¥ o vt @ b agd R SWE | 0ol A 7 351 31 3T
A TRaT B | Mo & SUoT agal § 0 W P SMTIahT 3T ST ik B fewany v g1 g o
HIAT B3 A U 1 R 7t gtar & fb wrmaren IR fer =181 @ Toar avft sroeit wifea & grr
I W1 ¥ Uit I T farzar &) Taar| U o 9ga R Are @1 fear g5 1 Sfta & SR eMe Rl '
ot oftear fem &t 21 erfer™ & wa @ aga & saudt sl bl iy s g1y 1Y STe, W
BI1 P 4T A 95 4 Ufea sit-e i wrard 3 g 31vd 8

IT T TR Y UGHR -1 IS T U BT IR Ja153:
UEH: 98 $O A7 $I fFrafaiad 9w o off sradfad et &1
1, Uepid

2, ATATERUT
3, G{aRul

4. 7t

Correct Answer :-

6) bt ameli g% SMUQT B W1 A1 G F IR & WIATPR | Sl §F TSR BT ATRTYU! YT TWH-PRS
TSR giar 8, S & YT Fed €1 BIY §W F BRI TR WHIG ST & T 5 Har 8 iR 4y ISt
g9 9§ 918Y 811 & U1 $1Y 38U & BRI & W ualy & {91 981 glar] i g9 &1 HR1 a1 g 3R I8
AT ST % ST TH-G31HR g Ugardl &, aft HiY g R wa F R srur a1 e A st
T, 3T R WIGH B 11T i 3@ A B g | afE #YE wifndt feeht AR | 52 5 vwar TR T1Y-
w‘hgﬁr&"'ﬂ"a’raﬁaﬁﬂﬂewm WO G| TR S W ARG IS ORI MR Fg & et Sd-3d TR
FIYU-IR A1 3 Al 98 gia AR Iga@R Sl & "B § §14-IR digAara? 31 i

WY FT g 3 T § AR AT & - 3RIed =0 A 3R 91 v §| 3Ry vy 9% @ oy it waer
TRT (AT SRiva Y O1 SRIYT e US| ey faw a8 § S wae g gR fan a1 Yoan o waear g1 &
AW U UGSl -Tdl B =R 46 T 311+ig | aradid Hd ga o 78 &1 gad # 9 I B ¢8Ts TS Ut
Tfe 3 I ToT UFA, U= a1 U8 W T 31T BT UaeT ®Y o) 99 Tod © | vy & areg a1 ey g3
Yo oI 1 faivan & SER a1 81dT 81 8 W 980 $© 7w 31 uofa W ot sraeifad wwdl 81 | &
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W=: WiEar & YOS rqual § 1w 82
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. T GG P T H T 3R AT Wifed 1 3ifaarg

7 ﬁﬂﬂ&ﬂ?ﬂ%éamaﬁmmgaﬂ?m%m&mﬁﬂwmmaﬁmmm-w

3 B YT FEA &1 HIY G F PRI U YT STa & 1T TP HaT 8 iR W SHST
Ugd | 916Y 511 & [T | H1Y g8 & R & Waeualy & {51 781 gia11 afe g&@ &1 HROr Iq= 510 3R 95
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Uie ge S | IR Y 7 TN WY BRI W I @ U DIE GA TR B b "ol AYP-3HD BN
mﬁ??ﬂgﬁﬁ Al 98 T¥a @I Tga@R Fo 5 P § #1Y-IR Asgard? S e

yq &1 fawa gt wui A Jrae 3iTen § - sre TU A o A U #| s fawa a5 § o et wae
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o Ueh URTS! Te1 & fhTI oS 1 311Fic A araeid $a 9 o1 72 A1 34 # I IR B e1s G18 ULt
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a5 381 €1 goul @t +fiwar Bt g e et ¥ 1 ¥ i usar & b agd [ R | Goul A 9 S99 &7 3T
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TR: §8 ¥ b Igi ST HAY WA A 72

1. I Tt

2. Had A1

3. Had ¥Y

4, B SR
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4 &1 vy g =ui & IrE= 1T § - ey WU § ok uren U #)| srned fawy gz § Rraer el wae
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PRI BT 311 W ST@! sifrardar &1 Fag sroht fra=mar ar sigrmar ot sqyfa $ sRu glar 81 alk a8
P PiEATEal 3R Uizl B g HIA & GTH T WG & 3UTd b BRUT Biel ¢, df TS a8
STAT & 1Y 3D grY-Uid 181 o Apd| W B fda o1 a7 Argdt 3ngHt g ol Siedt S g 3 sar oft
2 @ AU P U TIE F I H A ST 21 HY S WHTETE B S 2 qd ST g1 Hiwdr sl 8
3R WY S |1 ST €, faRva: gl # | & 39 ofiean ot SFe dven & EE 8 IR & wAReE 31
g &1 B 1 goul @t vt @Y gt e gt 81 3w 9 usan & o 959 R S | 4ol A 9 5% &1 5@
A Y@ B 1 WIaT & WIS Sagal B IR e B azashdl 3R U it BT Sifa=ary werH §1 =g &7
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SUad T B UgHT 1A ID T WY HT I a1ga:
TS WO S WHTERT 81 ST ¢ a9 ol Pl o2
1, YT 3R 3MTdd

2. BT T Hred

3. feva SR Faffear

4, &1 3R FHO
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TSR §1a1 3, 3! B W F5d 81 B G & HRUI UR YHTT STa & 1T pa Heam § iR W SHS!
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HAT S 5 3T IH-95hY g% Ug g ©, a2l HiY 8 R ya & R sror a1 e g ot
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2. BIYUTITE

3. 989

4, S
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It T B UgHR A UD T WY BT IR qaisa:
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2.9 &

3, T
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3R TE THHT S {F I IH-g3FR & Ugar g, a2t By g W w1 & RIe e &1 fAfdwe g
SN AT SO YR AIGH BT AT o g an g1+ ugerit| afg $is Sifadt {6t ar § 7 5 e
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5 W& 81 goul @Y oftear Y @t Fier S 81 A o vt @ o agd R e | ge) A 7 351 31 39T
A IR & | Ned1 & G Aqual § R Ge B AMTLqPHar AR 30 Wi &1 ifawarsy v g1 g T
HHAT A A WA 1 g 78t 8tar & 6 wnearen IR dier 78t @ aear ol oo wifda & g
I W1 | Uit T T fazar &) Taar| U o aga R A @1 fear g5 1 ofta & SR eMe Rl '
it ofiiwar fewrE & 21 erderf &+ @ gga A arurdt seft-we et Ry srawma | g1y e sTe, W
B & YT W 954 9§ fsd seft-wft mrard @ Je e €

IUYE TR B UGHR HH IS T UY HT IR Ja153:

uz: fpdl R # 9gd ¥ AR} e wa 9 g1y e sraa?
1. refRTi
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13) =it ot g2 SMueT F e A1 GO S RO & WETHR A Wl TF TSR BT AT AT Y-
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3R UE T WG % I TH-g516R g Ugarl g, aft Y g W v & e R &1 [Afdwe g
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T 2 3R SUP B1Y-UTd A8 Re Ipd | WR $3 o o1 ar gt sneft uga af siedt Sar 78} ofik s=ar ot
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FrEN BIY-UTG g¢ SR dl S/ HIY = TEM; ¥ ghm| uX It A afe B8 gy 3w Fe 1 "ot -
S TFEIR TTY-IR dI$ ST A 98 qRa TR| TqapT ol P "HI 8 gTY-IR digiara? G&F o™
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o Yot ¢ | WiaT & Walee Jagdl  a0R1 HeA @1 Azl Y 31U Xfad B Sfa=ary wuT 81 2g &1
HIHAT B A WA &1 ifwmg 78t ghar & 6 wrmaren IR der et @ aoar asl e wifea & g
I UST I MU=t 34T BT [IRaT &1 Taar1| I8 i 9gd W °1at 31 i edr g5 1 Sita1 & SR 3Md Rl |
ot Wiwar fears TR 1 arferf™ & v @ 9gd | arurd St h fpedt fakiy saawama @ g1y =18t S1e, W
T & YT § 9ga ¥ ufed sl-w it wreard @ e R €

SR TR B TS A Y T U b1 I 9d15a:

g?ﬁﬂm@maﬁmmw%wﬁm&m%ﬁagmaﬁw

1,99
2.4
3. 98
4. 99

Correct Answer :-

15) T aroft SR A P s w |
3R ) <t Y, ug Haa gy |

wa & o7 79 g AT, 9ra & 3 H AR
w9 S fire war, Sue 3ar A |

ST TR P UgH A1 IR 7T WY BT 37 qa1sd:
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TH- 3R P 2faad H BT ARG ?
1, SRI BT ot e T

2. 3IRI &1 oft wify vt

3. 3R Y oft g

4, 3RT 1 off o7 o

.COrrec.t Ahswer e
o 3RY @Y oft wrife iy

16) it amoft ifere 79 @1 smuT @ |
3 o) aa &, g Maa g |

a H T a9 g e, 3 T W AR |
e S fire o, Sue S A |

Iu T TR B Ugh A1 IR 7Y U BT I7R aaIsd:
WS- O BT STUT ERP & TET aTeud 8 -

1. 30T Y T

2. H BT HSR Bl ST

3, {41 §1 Sl

4, faaferd g1 ST

Correct Answer :-

. A4 gl S

17) Ot aroft Sifere w1 o Smur Wi |
3RA ) 2faa F, Mg Maa g |

a # U1 99 g3t ATeY, ord g9 & 7 A |
e SRR fire war, Sus Tar | |

ST TR Bl Ughy A1 U 7T U BT SR qa1sd:
W - WRgd Ufokal o 82

1. Sfdd

2.Uq

3.318

4. qlch

Correct Answer :-
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18) Ut aTuft Sifere |7 T STuT Wi |
3R B Dfide $Y, 3Tug Maa gig |

E H YT 99 g1 AT, 314 g4l ¢ H e |
Ta 3iftramer fire man, Sue @ are |

ST TR P UgH A1 IR 7Y WY T IR qa15d:
R - Ugd T A Hfa T Fr e g

1. Bad I

2. $ad fa=gar

3. dad UH

4, IR Tt

Correct Answer :~-

. JWIad gt

19) T aroft SifRre A7 1 3T W |
3T &) =fiae v, 3Mug Maa g |

wa & o1 a9 g3 et 3@ 79 § W AW |
g 3iferame fire man, S @ ared |

ST TR B UgdHR 11 U T WY HT IR Ia1gd:
WL - Serd 9T A & HieR &1 g =Enfew?
1, fa=rgran

2, gl

3. IEHR

4, HFRT

Correct Answer :-

20) Rt aroft Sifer w & ST Wi |
3T ) aa &, g Maa g |

wq § o1 a9 g3 e, 3@ 79 & WA |
Ta T fire o, §uw S ardh ||

I TR B UG A1 U 7T U BT S7R aaIsd:
U - TaRYr A W BT AL G ?

1. favfaa

2. UbTI
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3, 3[PR
4, e

Correct Answer :-

21) Ot aroft Sifere 7= & SmuT WY |
3R ) fda #v, g Maa gy |

oa & U1 99 g9 AT, ora 59 B & e
g RrawT fire mar, Stuw ST arEdh ||

ST TR H Ughs A4 I 7T WY BT 37 qa13d:
TR - IEHR BT @ HIA A T BT 82

1, Had I BI TR

2. $ad TS B UIfed

3. Pare] 4R I U

4, IWRrad it

Correct Answer ;-

. SORad It

22) U qToft SATRIT W HT STUT W |
3N &) 2faa &, g Maa gig |

W H YT 99 g1 ATEY, 3@ g & W e} |
Ta 3iferam fire wan, diue AT urdt |

ST TR P USHY A1 T 7Y U BT IR qa1sd:

TR - 9 S U1 U $fd & Wi feaa g faar 2
1. i

2.5

3. WA

4.9 4

Correct Answer :-

23) W aroft ifere W= T SmuT W |
3R P! e Y, MU M ag |
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e # T a9 g8t AT, ora g9 @ F e |
Tq SRy fire man, due @ aeh |

IU e TR B UgH A1 U 7T WY BT IR darsd:
WA - I U1 EUe sie A RTS8 2

1. &9 YR B ST B

2. 31 ST B |

3. 3y R e ST 81

4, G S WA B

Correct Answer :-
. 3fyPR W Sarel

24) Tt aroft ifere #= @1 smuT @ |
3R B 2iiaa #, 3ug Maa g ||

e & o1 79 g3t AT, 3ra g9 3 A |
g siferamer fre wan, S @ urel |

S Ui B UgeR e U T UY $T IR 915

U - 5 Bid & HdR SIPR T df IS U T 8] AT?
1. 90 9 PIS TG

2. TR

3. HIH-THTH

4, SR PIIN

Correct Answer :-
. SR BTINT

25) Tt qroft Sifere 7= &1 3T iy |
3R &) Maa &, g Maa g |

e § U1 a9 g8 1Y, er@ g & H e |
Ha AfarT fire wan, due @ Al |

ST TR B UG A1 I 7T WY BT SR qa1sd:
TR - Ui & SR, $4R &1 U1f 4 gt 32
1. faqgar g

2, UHTRI Y

3. AEPRIATA I A

4, dlus 4
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Correct Answer :-

. IEPRIATAY

26) U IOl Sifere A & ST Wi |
3R ) 2faa &, g Maa gy |

W # 4T 99 g3 ATeY, 3rd g8 8 # e |
e SferarT fre wan, Sue @ Al |

It URITRI B Ugeh A1 U 7T U BT 37 aaisd:
T — “3FUPTY BT UaTgard] g € ?

1. d899

2. W8

3, SREAT
4, Rgdr

Correct Answer :-

27) T aroft Sifee A= &1 3T w |
3R 1 2iiaa v, 3ug Maa g ||

oIg & o1 79 g3 ATEY, 3@ 5 & H AR |
e AR fire war, Siue S| A |

SRR LT Bt UgH 1 IS 7T WY HT IuR qaTsd:
TR - Wit deft Fiaa T are?

1, $ad Pedl e Skl gl

2. Had IRl & g e g

3. IR Tt

4, Haq ge, &I G2 Hedi g1
CorrectAnswer:-

o QURIE Al

28) Uit arolt Sifere w1 @1 ST @Y |
3 &) tae B, 3Tug Maar g |

a # YT 99 g3t ATEY, 3rd g4 & H e |
Ta Siftram fire war, S @ urdh |

I URITRI P USH? A" I 7Y WY BT IR qa15d:
T - <3MTug e Sw &1 af Far @2
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1. 30 DI &Y @
2. AT BRI AN

3. 30 P rifey oyt
4. TR BT ARM Y

Correct Answer :-

o U P Wi foret

29) Tt aroft |Sifere |+ &1 ST @ |
3R @Y Lfiaa Y, Mg Faa i | |

Wa T a9 g9 ATEY, o g & & A |
e 3R fire war, $us 3@ AR | |

SUd LR P UgHT 1Y TR T UY T ST qaq1g3:
- i Pt ot Siem B Fa E 2

1, Tfiaad

2. St

3, fey

4, Hidt

Correct Answer :-

30) fasdt el g2 SMUET B UIGHT AT g S FRUI & VISR A S TP YHR BT SHTRTY0T HUTT TH-
PR AIPR Sl 8, U B! YT FEd &1 HIY $T S BRUT R YU ST & [O¢ 3MHd BT & 3R ¥a
IAP! UET | 98T B & U1 H1Y g8 & SR & WEyay & far 7€ gani ufe g@ &1 HRor 39w
BRI 3R g FAS S & A SH-gga} g@ ugaral g, Wt iy R W W & g s 1 fAfde
T ST e SO 4R AT g1 Aoy 6 g an s vgah | aft #iE waifadt fredt o @ oo e
"ol GERIY BTY-UTd ge ST d) SR HIY T JTYT; WA BN R U A af} B gERT 3rhT b b P
HYF-AHF TR GTY-IR A1 " A 98 T TN 9gadH Ha {6 "H1F § g19-WR AsAard? 3@ "

UG BT Iy Gt = # W AT § - 3T TU A R q1en T A | ey vy 98 € e i was
R FFERor 3RiYe §) a1 eRive THg U8 | I fawy 9% € W wae g1 g¥ fvan ar veat i waan gt @
T U UBTS! 4] & PR 3 91 3(ig A aradid Ha 9 off 38 A1 3o § 99 I &) q8TS A
TSt fg 3 SN Somk UrH, e a1 U W Ten onfe 7 waeT &% O 99 OFd o | fivw e ar
T B FT YROm URFRAT 31 fA=ivar ¥ AR d gl €1 @ R 950 $9 AW By ) o
Jraafad TEdl 81 AW S BRI BT J1H 611 W IS srfvrardar &1 fgaa st faaran ar sremen &t
YT T PRV G 71 4TS a5 SAYyfr oTgal 3R STURMET B g2 P F F1ITH U1 AIEH P TG
F BT Il &, df IS TWifid g1 ofrar @ 3R Sud g1y-uld el fed 9 | R o3 fea &1 a1 aredt
3TeHT Ugd o Sied! ST ) 3R Sar i & @Y WU PR AU T91d F I H A 1T 81 Y &
YT 8 ST & 99 SRl a1 Widr dearar 8 3R U S 9 Sirar 8, fakie: goul &) & a6t
fiear o ST ol & T € IS B TR B 9w I 21 gIel Bt iwar &t off e g 71t
W USdT @ 7 980 R oM | T301 A 7.3 ST 351 o W1 21 Wiwa1 & Saere raadl § o Jed
P raza®ar 3T U ARt BT ATIRaTT T {1 2T BT AT 1 F YNH &7 iftwma ag) gar ¢
HrHaTar IR WsT1 98t U adar avl U=l e & gRT 39 WeT § 31Ut v& &1 Az 81 @il
g & 95 W =1 B +iear g5 SheT & SR oM Ry | off ofear fomrE &t R srfe F vm
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agd | ARl HW-wrft [ R cawm § g1y 81 ST, Wik 819 & Y9 | 9gd 9 ufsd sl
TRaTd & g ]a §

ST Y B TgHT A ID T UY BT IuR qd15a:
US: HT & T SR BT 71 81 9} Tel 82
1. Uds

2. Uy

3. WY
4, fAfése

Correct Answer :-

Topic:- Sanskrit (SAN)

1)

R -
1z 2 ‘
i |

hed: |

3,
™.
TR1ET |
4,
Correct Answer :-

~ HH |

2

) ™™, . [
IO ST 2Tq¥ AT (% ?

1 QA FRATHAH_ |

ARG |
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| AT |

Correct Answer :-

_ TR
T |
| S|
4.W|

Correct Answer :-

4)

Al
|

5 K R A e

JiHTERH |

NN |
| ATSAMTIEH |

4 e AR |
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Correct Answer :-

.

_ TIAHTATEERH |

5) -~ .
SR = T ST+aH: -
o rf-.z |
1.
: CARZIEG I
3. Q: ‘

;|
6) u-il'a.:l .Qn_
L\?IEIII

st |

" e T T S A e 9 —
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) HelgdH. |

y f[ﬂi%ﬂ?ﬂ?l H: |
et

4 A IS |

Correct Answer :-

9

) N ~
‘e S % TEE: ?
1 ferRIUTgETE;: |
0
| SFIROTYE: |

Page- 43



o
SYHTEIEYG: |
4,

Correct Answer :-

[
, TR |

Correct Answer :-

11) ~ - ~
“HAT AT €39 |7 S dTRMANT: &6t ?

T
, Y |
O
_ TRHIT |
N .
<hd¥ |
3.
|
4,
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Correct Answer :-

o
A |

2) . . [ o [
el T i faRfaH AR R ?

) o3 hCHH |
y HRWETEH |
| TEEa |

, TUTEET |

Correct Answer :-

13

) ~ . -~
‘AR Zd 2eaE Y [HF: &t ?

| e |

Correct Answer :-

LN
& |
.
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1

? NGRS TR T ®: ?
R
T |

, HEd: |

R |

UE: |

4,

Correct Answer :-

15) 1 3
TTUIATAATAI: o AT Tl T ?

1.

BERERCIE

o e
T T TS e
3.

[ N
, AT

Correct Answer :-

s
SAAHTIh

19 o AT Alea : e @t ?
1. I
2. QT:
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[ [
HelAleqlHI
3.

, TR

Correct Answer :-

i [
A lalstalHl

17)

TR T ST % ?
BUUEEE
, =9

g 8
4?ﬁ|

Correct Answer :-

T g w2
20

1.
12

2.

10

4,

Correct Answer :-
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19)
T T T JTauT<h: -

-

B
Al -Hgls4!

1

SICEERFETE

2

. =
STAH Hgled:

3

=4
, B-HEIed:

Correct Answer :-

BN =
ATAT-Hg <
20) = o~ e

< N
| [ Teldeh: s ?

21)

gil- Thivsde] -par<l Tiauriadr fatd: -
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}
40
-‘{j + b

AL IR

3;
Troeer<r fater
4,

Correct Answer :-

4.

Correct Answer :-

23)

Ty, T Tt ?
| wTH |

T |
, BH

N
3I5h_clT|
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, GTET |

Correct Answer :-

AN

%l |

24)
TTeAT WaRT WeRTTRT TohaT aad -

[
LSS R

2.
SOl
Feozsgar

Correct Answer :-

[ —
e llicH=n|

25) A~ [

Sta-TaaTsHged: wed ogaey Teaas: ?

o

RIEZASE RIS, Bl

= N
, AP cHRHATTA S [ A

-
NERIGER-ES!

= =
BAEIRINGEIEEI A

4

Correct Answer :-

B EICICEAEEARE=

Page- 50



26)

T=Te sy ITerene ST e /oo THTE: ATe: Taia?

HEATI DT

1.

: [ -
. Agrilonl

| TER

g

4,

Correct Answer :-

| ALATTHE

SEENAIETG |

3
b S Y
FEQIUIRTTG, |
4.

Correct Answer :-

CEATUDEARIC B
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1.E|'|§|
zlElTF[-_-ll

.
[ |
3. =~

4Il%|133\1|

Correct Answer :-

30)

= e = R
DISIAT AL NI AU AdlH -

AT

1.

CEEIECIEEIFCIRE

2

| TEATETeATsaT:
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) ITATTEATSIIT:

Correct Answer :-

YA TSTT:

B;rm'l'érﬂ'%lﬁ TR e, il feh hTea Herhed TRTeH ?
. THEH |

T |

| ¥R |

, FEMRGH |

Correct Answer :~-

| HEMNGH |

32)

TREEE TUTdl F: ?
. T |

N é"&@wz |

|

, STeRE: |

Correct Answer :-
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33)

LG TR I -
, & |
, Td |
| O |
, B |

Correct Answer :-

-,

B |

34)

p; ﬁ), [ . Ty
AdA! T AlERIET: HUAT e ?

4 [amEed: |

Correct Answer !~

) . +
TSI AT RTET ATHIRL [hH?

1 HTET THER TSI
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™ [ .

ESTRNIRC IR R

s =
| ‘ :
| HEpATSAT

) EEIEBIERIFIRE

Correct Answer :-

ERIEEIECINCIUE

3.W|
4.W|

Correct Answer :~-

qq |

7 e e T SRR 2
| AN |

i |

_ |

, FERTR |
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Correct Answer :-

| T O AR |
| STeTR: AT AT |
ST PR A |
ST I AT |

Correct Answer :-

STeich: AT Al |

Page- 56



Ry
, |
_ Ul |

) JETEH. |

Correct Answer :-

* AR S STE: -
_ AR |
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3.
, At |

Correct Answer :-

43

)

TI<HA: A U e ?
3 |

ST |
2.

e |
, 2

Correct Answer :-

3L

e 5aeT T F: ?
Bt

R

Rad

.?h_CITj,l
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Correct Answer :-

45)

i3 ¥ [ [
T BTAH eATe el d: ST Aa(d -
R EEIRE
2 T THATLH

=5 s =
U .
. AN A HA Y Hed | omnn

4@@“‘%3‘@

Correct Answer :-

A THATOT HeA TS

46

| R Fl AR AU -
Reczicaicl
| STHAR |

-‘\\ﬂ rj\'-\l
4,

Correct Answer :-

B -
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¥ east soae gieafa=ee: & ?
| 9 Y |

T ST |
3@1-—;1{&‘”

e M |

4,

Correct Answer :-

= ~

3T Y |

)
AN IT9(eeh: HIH -

§1ﬁi€|61:
1.
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50)

R STEATSI O T: il 9 oh: AT 2
BLIEIET

2. é_‘-ﬁ_{:

At efae:

s

(deenlrrgl

4.

Correct Answer ;-

o i
IEEE 75 B

. arg A e ?
1 Bl T G5 |
2 Bl U= 95U |

3@|%“r=u:?1:uar—€r|
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" =
\ SEN: Yo G&I |
Correct Answer :-

.@I%:H"rﬂ:ﬂﬁﬁl

52)

A hBATEHW] HE SRS THNT: A 239d ?
& |
1. T
o |
| &g
7z |
3.
5 |
, O%

Correct Answer :-
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™ 28 g S -

) i< |

| e

| ISR |
, TR |

Correct Answer :~-

 FHNERTE

55)

N k5. [
U Ueh: SPHSITaYLoh: AT -
1.

2
“JHId:

3.

= &)

Correct Answer :~-

‘ “qHIq:

56)
fafereTsaes e &: diea?
AT
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CIEE P RICELR
N SR

HTHATSIH

3.
=TET10
| SR

Correct Answer :-

58)

"ATES I T g aT R ?
| T craresy
| A T RS |

3 TTH TSN |
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4 99 FoNH 39 |

Correct Answer :-

I 39 SN |

7 rargedEt v et wa 3fd SufgTTR FEATg SgaH.?
1, RSl

U |

iR |

HIUSH. |
4, 2

Correct Answer :-

Aferiand |

Ffeag a9 Feraderh: Te Mermes: e wafa?

| TERTEET
RENEER]

Correct Answer :-
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